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General Guide

B  Turning on or off

To turn the calculator on, press [ ON/ac ] ; To turn the calculator off,
press [ OFF ].

B Battery replacement

The calculator is powered by two alkaline batteries (G13 or LR44).
When the display dims, replace the batteries. Be careful not to be
injured when you replace the battery.

1. Unscrew the screws on the back of the calculator.

2. Insert a flat bladed screwdriver into the slot between the
upper and lower case then carefully twist it to separate the
case.

3. Remove both batteries and dispose of them properly. Never
allow children to play with batteries.

4. Wipe off the new batteries with a dry cloth to maintain good

contact.

5. Insert the two new batteries with their flat sides (plus termi-
nals) up.

6. Align the upper and lower cases then snap them to close
together.

7. Tighten the screws.

B Auto power-off function

This calculator automatically turns it off when not operated for
approximately 9~15 minutes. It can be reactivated by pressing
[ ON/ac ] key and the display, memory, settings are retained.

B Reset operation

If the calculator is on but you get unexpected results, press [ ON/ac ]
and then [ MODE ] four times to display the below menu. A message
appears on the display to confirm whether you want to reset the cal-
culator and clear memory contents after pressing [ 2 ].

To clear all variables, pending operations, statistical data, answers,
all previous entries, and memory, please press [ 2 ]. To abort the
reset operation without clearing the calculator, please press [ 1].

If the calculator is lock and further key operations becomes impos-
sible, please use a pointed object to press the reset hole to release
the condition. It will return all settings to default settings.
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B Contrast adjustment

Pressing the [« ] or [+ ] following [ MODE ] key can make the con-
trast of the screen lighter or darker. Holding either key down will
make the display become respectively lighter or darker.

B Display readout

The display comprises the entry line, the result line, and indicators.

Indicator —{ DEG

- 74-8/7

72.85714286— Resultline

Entry line The calculator displays an entry of up to 79 digits.
Entries begin on the left ; those with more than 11 digits
scroll to the left.

Press [ » ] or [ < ] to move the cursor through an entry.
However, whenever you input the 73rd digit of any
calculation, the cursor changes from “ _” to “®” to

let you know memory is running low. If you still need to
input more, you should divide your calculation into two
or more parts.

Result line It displays a result of up to 10 digits, as well as a deci-
mal, a negative sign, a “ x10 ” indicator, and a 2-digits
positive or negative exponent.

Indicators The following indicators appear on the display to indi-
cate you the current status of the calculator.

Indicator Meaning

Indicator

Entry line

M Independent memory

- Result is negative

2nd 2nd set of function keys is active.

Alphabetic Keys ([A] ~[F], M], [X] ~ [Y])
are active.

STORCL STO : Storing variable mode is active
RCL : Recalling variable mode is active

SD Statistics mode is active
REG Regression mode is active
DEGRAD Angle mode : DEGrees, GRADs, or RADs
ENG Engineering notation.
SCl Scientific notation.
FIX Number of decimal places displayed is fixed
HYP Hyperbolic-trig function will be calculated
BUSY  While an operation is executing
€ > There are digits to the left or right of
the display
There are earlier or later results that can be
displayed
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Before starting calculation

B Mode Selection
Each time [ MODE ] is pressed, various functions menus and all
argument values corresponding to the desired mode is shown on
the screen. It includes three calculation modes (COMP, SD, REG),
three angle units (DEG, RAD, GRAD), four display notations (FIX,
SCI, NORM, ENG) and reset function (RESET).
Entering an argument value can set up this calculator to operate as
you want it to. Give “ SD ” as an example :
1. Press [ MODE ] once to display the calculation mode menu.
2. Enter[2]to let this calculator being operated under stan-
dard deviation mode.

COMP SD REG . 0 ok
1 2 3 ' 0.

B Using “ 2nd ” keys

When you press [ 2nd ], the “ 2nd ” indicator shown in the display is
to tell you that you will be selecting the second function of the next
key you press. If you press [ 2nd ] by mistake, simply press [ 2nd ]
again to remove the “ 2nd ” indicator.

B Cursor

Pressing [» ] or [4] key can move the cursor to the left or the right.
Hold down any of those keys to move the cursor at high speed.

Pressing[2nd ][] or[2nd ] [¥] can scroll the display up or down
while there are previous entries hidden the display. You can reuse
or edit a previous entry when it is on the entry line.

B Making corrections during input

To delete a character at the cursor, make the character underlined
by using [» ] or [¢] to move the cursor, and then press [ DEL ] to
delete the character.

To replace a character, make the character underlined by using [ » ]
or [ 4 ] to move the cursor, and then enter a new entry to replace the
character.

To insert a character, move the cursor to the position of the char-
acter where you want to insert, it will be inserted in the front of the
character after pressing [ 2nd ] [ INS ] and entering a new character.
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(Note) : The blinking cursor “ [ ” means the calculator is in insert
mode On the contrary, the blinking cursor is displayed as
“_" and it means the calculator is in overwrite mode.

To clear all characters, clear all input character by [ ON/ac ] key.

B Replay function

This function stores the latest operation executed. After execution
is completed, pressing [ 2nd ] [« ] or [ 2nd ] [~ ] key will display the
operation from the beginning or the end. You can continue moving
the cursor by [ » ] or [« ] to edit it. To delete a digit, press [ DEL ]. (
or, in overwrite mode, just type over the digit). See Example 1.

The replay function can keep input digits up to 256 characters for
The calculator. After execution is completed or during entering,
you can press either [2nd ] [a] or [2nd ] [+] to display previous
input steps and edit values or commands for subsequent execu-
tion. See Example 2.

(Note) : The replay function isn’t cleared even when [ ON/ac ] is
pressed or power is turned off, so contents can be re
called even after [ ON/ac ] is pressed.

B Error position display function

* When a mathematically illegal calculation is performed, error posi-
tion display function will tell you with the cursor where the error
is. Press [» ] or [¢] to move the cursor and then give it a correct
entry. You can also clear an error by pressing [ ©N/ac ] and then
re-entered the values and expression from the beginning. See
Example 3.

B Memory calculation

Independent memory

« Press [ M+ ] to add a result to running memory. Press [ 2nd ] [ M—
] to subtract the value from running memory. To recall the value
in running memory, press [ 2nd ] [ RCL ] [ ]. To clear running
memory, press [0] [ STO ] [@]. See Example 4.

(Note) : Besides pressing [ STO ] key to store a value, you can
also assign values to memory variable M by [ M+ ] or [ M—].
Memory variable

« The calculator has nine memory variables for repeated use : A, B,
C,D,E, F, M, X, Y. You can store a real number in any of the nine
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memory variables. See Example 5.
* [STO]+ ,[M], or[X] lets you store values to

variables.

* [2nd][RCL]or[ALPHA]+[A]~[F],[M], or[X]~[Y]

recalls the value of variable.

* [0]1[STO]+[A]~[F],[M], or[X]~[Y]clears the content
to a specified memory variable.
[2nd ][ Mcl ][ =] clears all variables.

m Stack

*

This calculator uses memory areas, called “ stacks “, to temporarily
store values (numeric stack) and commands (command stack ) ac-
cording to their precedence during calculations. The numeric stack
has 10 levels and command stack has 24 levels. A stack error (Stk
ERROR) occurs whenever you try to perform a calculation that is so
complex that the capacity of a stack is exceeded.

B Order of operations

Each calculation is performed in the following order of precedence :
1) Coordinates transformation.
2) Type A functions which are required entering values before

pressing the function key, for example, x 2 o, x!,x".

3) x4

4) Fractions.

5) Abbreviated multiplication format in front of variables, x.

6) Type B functions which are required pressing the function
key before entering, for example, sin, cos, tan, sin ', cos ~,
tan ™', sinh, cosh, tanh, sinh ', cosh ', tanh ™", log, In, 10 %,
exy ".'71 zflk! (_ )

7) Abbreviated multiplication format in front of Type B functions
2.3, Alog2, etc.

8) nPr,nCr

9) x,+

10) +, —

« When functions with the same priority are used in series,

execution is performed from right to left.

e*In120— e*{In(120)}

otherwise, execution is from left to right.

Compound functions are executed from right to left.

Anything contained within parentheses receives the highest

priority.

B Accuracy and Capacity
Output digits : Up to 10 digits.

Calculating digits : Up to 15 digits
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In general, every reasonable calculation is displayed up to 10 digits
mantissa, or 10-digits mantissa plus 2-digits exponent up to 10 *%.
Numbers used as input must be within the range of the given func-

tion as follow :
Functions Input range
sin x, tan x Deg : 0=| x | =4.499999999 x 10 "
Rad : 0=| x| =785398163.3
Grad : 0=| x| =4.499999999 x 10 "
however, for tan x
Deg : | x| #90 (2n-1)
Rad : | x| # 3 (2n-1)
Grad : | x| #100 (2n—1) ( nis an integer)
Cos X Deg : 0= | x |=4.500000008 x 10

Rad : 0= | x |=785398164.9
Grad : 0=| x | £5.000000009 x 10

sin ' x, cos " x

0=|x|

sinh x, cosh x

0=|x| =230.2585092

tan " x

0=| x| =9.999999999 x 10 *

tanh x, tanh ™ x

0=| x| =9.999999999 x 10 ™"

sinh " x, cosh " x

0=| x| =4.499999999 x 10 *

log X, In x x >0
10* —9.999999999 x 10 *° = x = 99.99999999
e —9.999999999 x 10 *° = x = 230.2585092
Jx 0=x<1x10"
x? |x]<1x10%
x |x]<1x10 ' x+0
Yx |x]<1x10'
x! 0=x=69, x is an integer.
Pol (x,y) | x|, ]y | =9.999999999 x 10
x 2 +y2=9.999999999 x 10 ¥
Rec (1, 0) 9.999999999 x 10
x | =4.499999999 x 10 °
Rad : 0=|x | =785398163.3
Grad : 0=| x | =4.499999999 x 10
however, for tan x
Deg : || #90 (2n-1)
Rad 0] # 3 (2n-1)
Grad : | 6| #100 (2n—1) (n is an integer)
019 lal,b,c<1x10',0=b,c
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|x]< 1x10'®

o Sexagesimal «» Decimal transformation
07070"=|x| 999999 " 59 ©

x” x>0:-1x10"°<ylog x < 100
x=0:y>0

x <0 :y=n, 1/(2n+1), nis an integer.
but—1x10'< ylog | x | <100

y> 0:x#0,-1x10 < L log y <100
{(/? y=0: x>0

y <0 :x=2n+1, I/n, nis an integer.(n#0)
but—1x10® <X log | y | <100

nPr, nCr 0=n=99, r=n, n,r are integers.
SD [ x[<1x10%| y [<1x10%, | n |<1x10"®
(REG) XGn, Yon, XY , A, B, r:n#0

XOn-1, yon-1: n # 0,1

m  Error conditions

Error message will appear on the display and further calculation be-
comes impossible when any of the following conditions occur.
Ma ERROR (1) When result of function calculations exceeds
the range specified.
(2) You attempted to divide by 0.
(3) When your input values exceeds the allowable
input range of function calculations
Stk ERROR Capacity of the numeric stack or operator stack is
exceeded.
Syn ERROR You attempted to perform an illegal mathematical
operation.

To release the above errors, please press [ ON/ac ] key.

Basic Calculation

Use the COMP mode for basic calculations.

B Arithmetic calculation

« For negative values, press [ (—) ] before entering the value; You
can enter a number in mantissa and exponent form by [ EXP ] key.
See Example 6.

« Arithmetic operations are performed by pressing the keys in the
same sequence as in the expression. See Example 7.
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B Parentheses calculations

« Operation inside parentheses are always executed first. The cal-
culator can use up to 15 levels of consecutive parentheses in a
single calculation. See Example 8.

B Percentage calculation

* [2nd ][ % ] divides the number in the display by 100. You can use
this key sequence to calculate percentages, add-ons, discounts,
and percentages ratios. See Example 9~10.

B Display formats

This calculator has the following four display notation mode for the
display value.
Norm Notation :
This calculator can display up to 10 digits. However, values that
exceed this limit are automatically displayed in exponential format.
There are two types of exponential display formats :

Norm 1 mode : 10 2> | x|, x| =10"°

Norm 2 mode : 10 °>|x|,[x]| = 10"

(Note) :All of the examples in this manual show calculation results
using the Norm 1 mode.

Engineering Notation : (ENG )

Calculation result is displayed using engineering notation, where the

mantissa of the value is displayed with the number of decimal

places specified and the exponent is set to a multiple of 3 for display.

Fixed Notation : ( FIX')

Calculation result is displayed with the number of decimal places

specified.

Scientific Notation : ( SCI)

Calculation result is displayed using scientific notation, where the

mantissa of the value is displayed with the number of decimal places

specified.

« For FIX, SCI notation, the number of decimal places can be set
to any value between 0~9. After specifying the number of decimal
places, the display value will be rounded to the corresponding
number of digits and displayed. When no specification has been
made for the number of decimal places or significant digits, Norm
1 and Norm 2 mode can be carried. See Example 11.

Pressing [ENG Jor [2nd ] [ ET“G ] will cause the exponent dis-
play for the number being displayed to change in multiples of 3.

See Example 12.
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« Even if the number of decimal places is specified, internal calcu-
lation for a mantissa is performed up to 15 digits for The calcula-
tor, and the display value is stored in 10 digits. To round off those
values to the specified number of decimal places, press [ 2nd ] [
RND ]. See Example 13.

B Continuous calculation function

« The calculator enables you to repeat the last operation executed
by pressing [ = ] key for further calculation. See Example 14.

« Even if calculations are concluded with the [ = ] key, the result ob-
tained can be used for further calculation. See Example 15.
B Answer function

« Answer function stores the most recently calculated result. It is
retained even after the power is turned off. Once a numeric value
or numeric expression is entered and [ = ] is pressed, the result is
stored by this function. See Example 16.

(Note) : Even if execution of a calculation results in an error, how-
ever, Answer memory retains its current value.

Scientific Calculation

Use the COMP mode for scientific calculations.

B Logarithms and Antilogarithms

« The calculator can calculate common and natural logarithms and
anti-logarithms using [log ], [In], [2nd ][10*],and [2nd ] [e *].
See Example 17~19.

B Fraction calculation

Fraction value display is as follow :

: 5
512 Display of 12
. 5
56 4 5 , 12 |Display of Seﬁ

(Note) :Values are automatically displayed in decimal forma
whenever the total number of digits of a fractional values
(integer + numerator + denominator + separator marks)
exceeds 10.
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- To enter a mixed number, enter the integer part, press [ a b/c ],
enter the numerator, press [ a b/c ], and enter the denominator ; To
enter an improper fraction, enter the numerator, press [ a /¢ ], and
enter the denominator. See Example 20.

By pressing [ 2nd ] [ 9/c ], the displayed value will be converted to
the improper fraction and vice versa. To convert between a deci-
mal and fractional result, press [ a P/c ] .See Example 21.

.

Calculations containing both fractions and decimals are calculated
in decimal format. See Example 22.

B Angle units conversion

The angle units (DEG, RAD, GRAD) is set by pressing [ MODE ] to
display the angle menu. The relation among the three angle units
is:
180 ° = wrad = 200 grad
Angle conversions ( See Example 23.) :

1. Change the default angle settings to the units you
want to convert to.

2. Enter the value of the unit to convert.

3. Press [ DRG— ] to display the menu.

The units you can select are D (degrees),
R (radians), G (Gradians).
4. Choose the units you are converting from.
5. Press[=].

B Trigonometric / Inverse-Tri. functions

« The calculator provides standard trigonometric functions and
inverse trigonometric functions - sin, cos, tan, sin ', cos ' and

tan ~'. See Example 24~26.

(Note) :When using those keys, make sure the calculator is set for
the angle unit you want.

B Hyperbolic / Inverse-Hyp. functions

* The calculator uses [ 2nd ] [ HYP ] to calculate the hyperbolic
functions and inverse- hyperbolic functions - sinh, cosh, tanh, sinh
- cosh ™" and tanh ~'. See Example 27~28.

(Note) :When using those keys, make sure the calculator is set for
the angle unit you want.
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B Sexagesimal <> Decimal transformation
Sexagesimal notation is as follow

12759 © 45,6 ° | Represent 12 Degree, 59 Minutes, 45.6 Seconds

« The calculator can preform the conversion between decimal and

sexagesimal numbers by [ 0333 Jand [ 2nd ] [ 67” ]. See Example
29~30.

B Coordinates transformation

Rectangular Coordinates Polar Coordinates

X+ yi=r(cos 0 +isin 0)
« The calculator can perform the conversion between rectangular co-
ordinates and polar coordinates by [ALPHA] [ Pol (]1and [ ALPHA]
[ Rec ( ]. Calculation results are automatically stored in memory
variables E and F. See Example 31~32.

(Note) :When using those key, make sure the calculator is set for
the angle unit you want.

B Probability
« This calculator provides the following probability functions : ( See

Example 33~36.

[nPr] Calculates the number of possible permutations
of n item taken r at a time.

[nCr] Calculates the number of possible combinations
of nitems taken r at a time.

[x!] Calculates the factorial of a specified positive

integer x , where x=69.
[ RANDOM ] Generates a random number between 0.000 and
0.999
B Other functions (x™,y ", ¢ ,5, %%, x*x’)
« The calculator also provides reciprocal ([ x '] ), square root ( 471

), cubic root ([ 1), universal root [ & ], square ([ x ?]), cubic ( [
x*])and exponentiation ([ x*]) functions. See Example 37~40.
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Standard Deviation Calculation

Use the SD mode for standard deviation calculations.

Always make sure you clear statistical memory by [ 2nd ] [ Scl ]
before preforming standard deviation calculation.

Individual data can be input using [ DT ] ; To delete data you just
input, please press [ 2nd ] [ CL ]. Multiple data of the same value
can be input using [2nd ][ ; ]. For example, to input the data 15
seven times, press 15[2nd ][ ; ] 7[DT].

The values of the statistical variables depend on the data you in-
put. You can recall them by the key operations shown in the below
table. See Example 41.

Tx2 [RCL1+[ [A]] x [2nd]+[x]
X [RCL]+[[B] ] XGn [2nd ]+ [XOn]
n [RCL]+[[C]] XOn-1 [2nd ]+ [XOni]

Regression Calculation

Use the REG mode for regression calculations.

Press [ MODE ] 3 to enter the REG menu and then choose one of
the six regression types by pressing the corresponding argument
value, as follow :

Lin Log Exp® —Ll e Pwr Inv Quad
1.2 3 [«] 1 2 3
Lin Linear Regression y=A+Bx
Log Logarithmic Regression y=A+BInx
Exp Exponential Regression y=A+e®™
Pwr Power Regression y=A+x®
Inv Inverse Regression y=A+ E
Quad Quadratic Regression y=A+Bx+Cx?

« Always make sure you clear statistical memory by [ 2nd ] [ Scl ]
before preforming regression calculation.

« Individual data can be input using [ DT ] ; To delete data you just
input, please press [ 2nd ] [ CL ]. Multiple data of the same value
can be input using [2nd ][ ; ]. For example, to input the data 40
and 55 ten times, press 40 [ > ]55[2nd ][ ; ]10[DT].
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« The values of the statistical variables depend on the data you in-
put. You can recall them by the key operations shown in the below
table. To predict a value for x (o/l\' y) given a vaIHe fory (or x), enter
the given value, press [2nd ][y ] (or[2nd ][ X ]), and press [ =]
again. See Example 42~43.

Ix® | [RCLI+[[A]] | Xon | [2nd]+[X0On]

Sx | [RCLI+[[B]] | Xont | [20d]+[XGna]

n | [RCLI+[[C]] y [2nd]+[y]

Ty’ | [RCL]+[[D]] yon | [2nd]+[yonl

Xy | [RCLI+[[ENl | yon | [2nd]+[YGn1]

Yxy | [RCL]+[[F]] A [2nd]+[A]

x® | [RCL]+[M]] B [2nd]+[B]
x| [RCL]+[[X]] c [2nd]+[C]
x* | [RCL]+[[Y]] r [2nd]+[r]
X | [2nd]+[X] x [2nd ]+ [X]

v [2nd]+[¥]

ote) : variable X °, X "y are only available in Quaaratic
Note) : Variable ¥x*, ¥ x> I ilable in Quadrati
regression.
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Guia General

B Encendiendo o apagando
Para encender la calculadora, presionar [ ON/ac ] ; para apagar la

calculadora, presionar [ OFF ].
B Reemplazo de bateria
La calculadora es alimentada por duas baterias alcalinas G13(LR44).
Cuando la visualizacion se torna borrosa, sustituya las baterias.
Tenga cuidado al reemplazar la bateria para no ser herido.
1. Soltar los tornillos en la parte trasera de la calculadora.
2. Inserir un destornillador en la ranura entre la caja superior y
inferior y torcerla cuidadosamente para separarlas.
3. Quitar ambas las baterias y descartarlas. No permita nunca
que los nifios toquen las baterias.
4. Limpiar las baterias nuevas con un pafo seco para mantener
un bueno contacto.
5. Insertar las dos baterias nuevas con las faces llanas (termi-
nales positivos) hasta arriba.
6. Alinear las cajas superiores y inferiores y aprietarlas para
cerrarlas juntamente.
7. Atornillar los tornillos.

B Funcion auto desactivadora

Esta calculadora se apaga automaticamente cuando no operada
por aproximadamente 9~15 minutos.Puede reactivarse presionando
la tecla [ ON/ac ] y la visualizacion, memoria y configuracion son
conservadas.

B Operacion Restablecer

Si la calculadora esta encendida pero usted consigue resultados
inesperados, apriete [ ON/ac ]y después [ MODE ] cuatro veces
para desplegar el menu abajo. Un mensaje aparece en el des-
pliegue para confirmar si usted quiere restablecer la calculadora y
apagar los contenidos de memoria después de apretar [ 2 ].

[2] * |:|

Para apagar todas las variables, programas, operaciones pendi-
entes, datos estadisticos, respuestas, todas las entradas anteriores,
y memoria, por favor apriete [ 2 ]. Para abortar la operacion restab-
lecida sin apagar la calculadora, por favor apriete [ 1].

Si la calculadora esta bloqueada y el accionamiento de cualquier
tecla se vuelve imposible, por favor use un objeto con punta para
presionar en el hueco el botédn de restaurado y al mismo tiempo
solucionar el problema. Esto retornara todas las configuraciones a
aquellas por defecto.
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B Ajuste del contraste

Presionando la tecla [«] o [v] seguida de [ MODE ] puede hacer
el contraste de la pantalla mas clara o mas oscura. Dominando
cualquier tecla abajo hara la visualizacién volverse respectivamente
mas clara 0 mas oscura.

B Lectura de la visualizaciéon

La visualizacion comprende la linea de entrada, la linea del resul-

tado, e indicadores.
Indicador —{
Linea de la entrada

Linea de entrada

Linea de resultado

Indicadores

EG
—74-8/7
72.85714286—
La calculadora muestra una entrada de hasta
79 digitos. Las entradas empiezan en la izqui
erda; aquéllas con mas de 11digitos desplazan
para la izquierda. Presionar[»]o[«]

para mover el cursor a través de una entrada.
Sin embargo, siempre que usted entrar el

73° digito de cualquier célculo, el cur sor
cambia de “ _ " a “ m” para permitirle saber
que la memoria esta funcionando gastada
mente. Si usted todavia necesita entrar mas,
usted debe dividir su calculo en dos 0 mas
partes.

Muestra un resultado de hasta 10 digitos,

asi como un decimal, una sefial negativa, un
indicador “ x10 ” y un exponente positivo o
negativo de 2 digitos.

Los indicadores siguientes aparecen en la
visualizacién para Indicarte el estado ac tual
de la calculadora.

Indicador

Linea del resultado

Indicador_Significado

2nd

(Al

Memoria independiente
Resultado es negativo
2° juego de teclas de funcién esta activo

Llaves Alfabéticas (A] M1, [X]~ Y]

estan activas.

STORCL STO : Modo de almacenamiento devariable

sD
REG

esta activo

RCL : Modo revocador de variable esta
activo

Modo de estadistica esta activo

Modo de regresion estéa activo

DEGRAD Modo de angulo : DEGrees,GRADs,0RADs

-S3-



ENG Notacién para Ingenieria (ENGineering)

SCI Notacién para Cientifica (SClentific)

FIX Numero de posiciones decimales mostrado
esta fijo

HYP Funcion hiperbdlica-trig. sera calculada

BUSY Mientras una operacion esta ejecutando

< 3 Hay digitos a la izquierda o derecha de la
visualizacion

T~ ¥ Hay resultados anteriores o posteriores que
pueden ser mostrados

Antes de empezar los calculos

B Seleccién de Modo
Cada vez que se aprieta [ MODE ], varios menus de funciones y
todos los valores de argumento correspondiendo al modo deseado
se muestra en la pantalla. Incluye tres modos de célculo (COMP,
SD, REG), tres unidades de angulo (DEG, RAD, GRAD), cuatro
notaciones del despliegue (FIX, SCI, NORM, ENG) y funcién
restablecer (RESET).
Entrando un valor de argumento puede ajustar esta calculadora
para operar como usted lo quiere. Déle “ SD ” como un ejemplo :
como un ejemplo :
1. Apretar [ MODE ] una vez para desplegar el menu del modo
de calculo.
2. Entre [ 2] para permitir esta calculadora de operar bajo el
modo de derivacién normal.

COMP SD REG (2) s oe
1 2 3 ' 0.

B Usando teclas “ 2nd ”

Cuando usted presiona [ 2nd ], el indicador “ 2nd ” mostrado en
la visualizacion es para decirle que usted estara seleccionando la
segunda funcién de la préxima tecla que usted presiona. Si usted
presionar [ 2nd ] por equivocacion, simplemente presionar [ 2nd ] de
nuevo para quitar el indicador “ 2nd ” .

m  Cursor

Presionando la tecla [»] o [«] puede mover el cursor a la izqui-
erda o la derecha. Sujete cualquiera de esas teclas para abajo para
mover el cursor a alta velocidad.

Presionando [ 2nd ] [a] o [ 2nd ] [v] puede desplazar la visual-
izacion arriba y abajo mientras hay entradas anteriores escondidas
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en la visualizacion. Usted puede reusar o editar una entrada ante-
rior cuando esta en la linea de entrada.

B Haciendo correcciones durante la entrada
Para anular un caracter con el cursor, vaya al caracter subrayado
usando [»] o [«] para mover el cursor, y luego presionar [ DEL ]
para anular el caracter.

Para reemplazar un caracter, vaya al caracter subrayado usando [ » ]
o [« ] para mover el cursor, y luego entrar una nueva entrada para
reemplazar el caracter.

Para insertar un caracter, mueva el cursor a la posicién del caracter
donde usted quiere insertar. El se Insertara en frente del caracter
después de presionar [ 2nd ] [ INS ] y entrando un nuevo caracter.

(Nota) : El cursor intermitente “ I} ” significa que la calculadora
estd en el modo de insercién. Al contrario, el cursor in
termitente es mostrado como “_" 'y él significa que la
calculadora esta en el modo sobrescribir.

Para borrar todos los caracteres, borra todas las entradas de
caracter con la tecla [ ON/ac ] .

B Funcion de respuesta

Esta funcién almacena la tltima operacién ejecutada. Después
que la ejecucion esta completa, presiona latecla[2nd][«]0
[ 2nd ] [~ ] mostrara la operacién desde el principio al fin. Usted
puede continuar moviendo el cursor a través del [ » ] o [« ] para
editarlo. Para anular un digito, presionar [ DEL ]. ( o, en modo
sobrescribir, simplemente teclee encima del digito ).
Vea Ejemplo 1.
La funcién de repeticién puede mantener los digitos de la
entrada hasta 256 caracteres para La calculadora. Después que
la ejecucion esta completa o durante la entrada, usted puede
presionar cualquiera [« ] [+v] para mostrar los pasos anteriores
de entrada y editar valores o comandos para la ejecucion
subsecuente. Vea Ejemplo 2.
(Nota) : La funcién de repeticiéon no esta borrada incluso cuando
[ ON/ac ] es presionado o corriente esta apagada, por
eso los contenidos pueden ser revocados después de
presionar [ ON/ac ].
B Funcién de visualizacion de la posicién de error
« Cuando un calculo matematicamente ilegal es ejecutado, la
funcién de visualizacién de la posicion de error le indicara con
el cursor donde el error esta. Presionar [»] o [« ] para mover el
cursor y luego para darle una entrada correcta. Usted también
puede borrar un error presionando [ ON/ac ]y luego re-entrando
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los valores y la expresion desde el principio. Vea Ejemplo 3.

B Funcién de memoria

Memoria Independiente

Presionar [ M+ ] para adicionar un resultado a la memoria

corriente. Presiona [ 2nd ] [ M—] para restar el valor de la memoria

corriente. Para revocar el valor en la memoria corriente, presionar

[2nd ][RCL] ]. Para apagar la memoria corriente, presiona

[0][STO][[M]]. Vea Ejemplo 4.

(Nota) : Ademas de presionar tecla [ STO ] para almacenar un

valor, usted también puede asignar valores a la
variable de memoria M con[M+]o [ M-].

Variable de memoria

La calculadora tiene nueve variables de memoria para uso

repetido : A, B, C, D, E, F, M, X, Y. Usted puede guardar un

numero real en cualquiera una de las nueve variables de

memoria. Vea Ejemplo 5.

* [STO]+[A]~[F],
a las variables.

* [2nd][RCL]o[ALPHA]+[A]~[F],[M], o[X]~[Y]revoca el
valor de variable.

* [0][STO]+[A]~[F],[M], o[X]~[Y]apaga el contenido a
una variable de memoria especificada.

* [2nd][Mcl][=1]apaga todas las variables.

B Pila

Esta calculadora usa areas de memoria, llamadas “pilas” para al-

macenar valores temporalmente (pila numérica) y comandos (pila

de comando) segun su precedencia durante los célculos. La pila

numérica tiene 10 niveles y la pila de comando tiene 24 niveles. Un

error de pila (Stk ERROR) ocurre siempre que usted intente realizar

un calculo que es tan complejo que excede la capacidad de una

pila.

B Orden de operaciones

Cada calculo es ejecutado en el orden siguiente de prioridad :

1) Transformacion de las coordenadas.

2) Funciones tipo A que son requeridas entrando valores antes de
presionar la tecla de funcién, por ejemplo, x 2 o, x!,x".

3) w, y

4) Fracciones.

5) Formato de multiplicaciéon abreviada delante de las
variables, m.

6) Funciones Tipo B que se requieren presionando la tecla de
funcién antes de entrar, por ejemplo, sin, cos, tan, sin ™', cos™,
tan =, sinh, cosh, tanh, sinh ~', cosh ~', tanh ', log, In,10 *,

o[X]~ le permite almacenar valores
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ex’ \c" , ?{." ,(—)-
7) Formato de multiplicacion abreviada delante de funciones Tipo
B2y 3, Alog2, etc.
8) nPr, nCr
9) x,+
10) +, —
« Cuando funciones con la misma prioridad son usadas en
series,la ejecucion es realizada de la derecha a la izquierda.
eX In120— e X{In(120)}
si no, la ejecucion es de la izquierda para derecha.
« Se ejecutan funciones compuestas de la derecha para la
izquierda.
« Cualquier cosa contenida dentro de los paréntesis recibe la
prioridad mas alta.
B Exactitud y Capacidad
Exactitud del rendimiento : Hasta 10 digitos.
Calculando digitos : Hasta 15 digitos.
En general, cada célculo razonable es mostrado con mantisa de
hasta 10 digitos,0 mantisa de 10-digitos mas exponente de 2-digitos
hasta 10 *%°.
Numeros usados como entrada deben estar dentro del intervalo de
la funcién dada como sigue :

Funciones Intervalo de entrada
sin x, tan x Deg : 0=| x| £4.499999999 x 10
Rad : 0=| x| =785398163.3

Grad : 0=| x| £4.499999999 x 10 "

No obstante, para tan x

Deg : | x| #90 (2n-1)

Rad : | x| # 7 (2n-1)

Grad : | x| #100 (2n—1) ( n es un entero)
oS X Deg : 0= | x | =4.500000008 x 10 "

Rad : 0= | x | =785398164.9

Grad : 0=| x | =5.000000009 x 10
0=|x|
x| =230.2585092

0=| x| =9.999999999 x 10 *

tanh x, tanh ' x 0=| x| =9.999999999 x 10 ~'

sinh " x, cosh " x  |0=| x| =4.499999999 x 10 *

log x, In x x >0

10* —9.999999999 x 10 * = x = 99.99999999

/
\

sin "' x, cos ' x
sinh x, cosh x
tan " x
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e —9.999999999 x 10 * = x = 230.2585092
Jx 0=x<1x10"
x? [x|<1x10%
x [x]<1x10", x#0
Yx [x|<1x10™®
x! =69, x es un entero.
Pol (x,y) 9.999999999 x 10 *
9.999999999 x 10 *°
Rec (r,6) £9.999999999 x 10 ¥
Deg : 0=| x | =4.499999999 x 10 °
Rad : 0=| x| =785398163.3
Grad : 0=| x| £4.499999999 x 10 "
No obstante, para tan x
Deg : |6 #90 (2n—1)
Rad:|0] # 3 (2n-1)
Grad : |9 #100 (2n—1) (n es un entero)
019 lal,b,c<1x10', 0=b,c
[x|<1x10™
57,, Sexagesimal «» Transformacion Decimal
070707=|x| 999999 " 59 ©
x” x>0:-1x10""<ylog x <100

x=0:y>0
x<0:y=n, 1/(2n+1), n es un entero.
mais — 1x 10 "< ylog | x | <100

{y

y> 0:x#0,-1x10 < < logy <100
y=0: x>0

y <0 :x=2n+1, I/n, n es un entero.(n#0)
mais —1x 10 ™ <~ log | y | <100

nPr, nCr 0=n=99, r=n, n,r son enteros.
SD [ x[<1x10%,] y [<1x10%, | n [<1x10™"
(REG) XGn, Yon, X,y , A, B, r:n#0

XGn-1, yon-1: N # 0,1

H Condiciones de error

El mensaje de error aparecera en la visualizacién y el calculo adi-
cional se vuelve imposible cuando cualquiera de las condiciones

siguientes ocurre.

Ma ERROR (1) Cuando el resultado de calculos funcién excede el

intervalo especificado.
(2) Usted intentd dividir por 0.

-S8-



(3) cuando el campo de entrada aceptable de cjlculos
de la funcion excede el campo especificado.

Stk ERROR Capacidad de la pila numérica o pila del operador se
excede.

Syn ERROR Usted intent6 realizar un funcionamiento matematico
ilegal.

Para liberar los errores anteriores, por favor presiona la tecla

[ON/ac].

Calculo Basico

Use el modo COMP para calculos basicos.
B Calculo aritmético

« Para valores negativos, presionar [ (=) ] antes de entrar el valor;
Usted puede entrar un nimero en el mantisa y forma exponencial
a través de la tecla [ EXP ] . Vea Ejemplo 6.

« Operaciones aritméticas son realizadas presionando las teclas en
la misma secuencia como en la expresion. Vea Ejemplo 7.

B Calculos de paréntesis

« Operacion dentro de paréntesis siempre son ejecutadas primero.
La calculadora puede usar hasta 15 niveles de paréntesis con-
secutivos en un solo céalculo. Vea Ejemplo 8.

B Calculo de porcentaje

*[2nd ][ % ] divide el nimero en la visualizacién por 100.
Usted puede usar esta secuencia llave para calcular porcen-
tajes, adiciones, descuentos, y proporciones de porcentajes.
Vea Ejemplo 9~10.

B Formatos de visualizacion

Esta calculadora tiene los cuatro modos siguientes de notacion de

despliegue para el valor del despliegue.

Notacién de Norma(Norm) :

Esta calculadora puede desplegar hasta 10 digitos. Sin em-
bargo, se despliegan automaticamente valores que exceden
este limite en el formato exponencial. Hay dos tipos de
formatos de despliegue exponenciales :
Modo “Norm 1”: 10 ?> | x|, |x| =10 ™
Modo “Norm 2”: 10 °> | x|, |[x| = 10"

(Nota) : Todos los ejemplos en este manual muestran resultados de
célculo usando el modo de “Norm 1”.

Notacién de Ingenieria : (ENG )
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Resultado de calculo es exhibido usando notacién de ingeriadénde
mantisa del valor se despliega con el nimero de lugares
decimales especificados y el exponente es fijado a un multi-
plo de 3 para despliegue.

Notacion Fija : ( FIX)

El resultado del célculo se despliega con el niUmero de
lugares decimales especificado.

Notacién Cientifica : ( SCI )

Resultado del célculo es exhibido usando notacion cientifica
dénde mantisa del valor se despliega con el nimero de
lugares decimales especificado.

Para notacién FIX, SCI, el nimero de lugares decimales puede
ponerse a cualquier valor entre 0~9. Después de especificar el
numero de posiciones decimales, el valor del despliegue se re-
dondeara al numero correspondiente de digitos y se desplegara.
Cuando ninguna especificacion ha sido hecha para el nimero
de lugares decimales o digitos significantes, el modo “Norm 1” y
“Norm 2” puede ser ejecutados. Vea Ejemplo 11.

Apretando [ ENG Jo [2nd ] [ ET\IG ] causara el despliegue del ex-
ponente para el nimero desplegado de cambiar en mdltiplos de 3.

Vea Ejemplo 12.

Aun cuando el nimero de lugares decimales se especifica, el
célculo interior para un mantisa es ejecutado en 15 digitos para
La calculadora, y el valor de la visualizacion es almacenado en 10
digitos. Para concluir esos valores para el nimero especificado
de posiciones decimales, presionar [ 2nd ] [ RND ].

Vea Ejemplo 13.

.

B Funcion del calculo continuo

« La calculadora le permite de repetir la Gltima operacién ejecutada
presionando tecla [ = ] para célculo adicional. Vea Ejemplo 14.

« Incluso si los célculos se concluyen con la tecla [ =], el resultado
obtenido puede ser usado para célculo adicional. Vea Ejemplo 15.
B Funcion de respuesta
« Funcién de respuesta almacena el resultado calculado mas re-
ciente. Es retenido aun que la corriente sea apagada. Una vez
que un valor numérico 0 una expresion numérica es entrada y
[ =] es presionado, el resultado es almacenado por esta funcién.
Vea Ejemplo 16.
(Nota) : Incluso si la ejecucion de un calculo produce un error, no
obstante, Memoria de respuesta retiene su valor actual.
-S10-



Calculo Cientifica

Use el modo COMP para calculos cientificos.
B Logaritmos y Antilogaritmos

« La calculadora puede calcular logaritmos y antilogaritmos co-
munes y naturales usando [log ], [In],[2nd ][ 10 *], and [ 2nd ]
[e*]. Vea Ejemplo 17~19.

m  Calculo de fraccion

Visualizacién del valor de fraccion es como sigue :

Visualizacio’n de%
A 5
56 4 5 , 12 |Visualizacion de56ﬁ

(Nota) : Valores son automaticamente exhibidos en formato deci
mal siempre que el nimero total de digitos de un valor
fraccionario (entero + numerador + denominador + mar-
cas separadoras) excede 10.

Para entrar un nimero mixto, entre la parte entera, presionar
[ a P/c ], entre el numerador, presionar [ a b/c ], y entra el denomi-
nador; Para entrar una fraccién impropia, entre el numerador,
presionar [ a b/c ], y entra el denominador. Vea Ejemplo 20.

Presionando [ 2nd ] [ 9/¢ ], el valor mostrado sera convertido a la
fraccion impropia y viceversa. Para convertir resultado decimal y
fraccionario, presionar [ a b/c ]. Vea Ejemplo 21.

Célculos conteniendo ambos fracciones y decimales son calcula-
dos en formato decimal. Vea Ejemplo 22.

B Conversion de unidades de angulo

Las unidades de angulo (DEG, RAD, GRAD) son establecidas
presionando [ MODE ] para mostrar el menu de angulo. La relacion
entre las tres unidades de angulo es :

180 ° = wrad = 200 grad

Conversiones de angulo (Vea Ejemplo 23.) :

1. Cambia las configuraciones de angulo predefinidas
para las unidades que usted quiere convertir.

2. Entre el valor de la unidad para convertir.

3. Presionar [ DRG— ] para mostrar el menu.

Las unidades que usted puede seleccionar son
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D(grados), R (radianos), G (gradianos).
4. Escoja las unidades de que usted esta convirtiendo.
5. Presionar [ =].
B Funciones trigonométricas / Tri. Inversas

 La calculadora proporciona funciones trigonométricas normales
y trigonométricas inversas - sin, cos, tan, sin ' cos "etan".
Vea Ejemplo 24~26.
(Nota) : Al usar esas teclas, asegurese que la calculadora
esta establecida para la unidad del angulo que
usted quiere.

B Funciones Hiperbdlicas / Hip. Inversas
« La calculadora usa [ 2nd ] [ HYP ] para calcular las funciones hip-
erbolicas y hiperbélicas inversas - sinh, cosh, tanh, sinh ~', cosh ™'
and tanh™. Vea Ejemplo 27~28.
(Nota) : Al usar esas teclas, asegurese que la calculadora esta
establecida para la unidad de angulo que usted quiere.

B Sexagesimal <> Transformacién Decimal

Notacién sexagesimal es como sigue

12759 7 45.6 ° | Representa 12 Grados, 59 Minutos, 45.6 Segun-

dos,

« La calculadora puede ejecutar la conversién entre nimeros deci-
males y sexagesimales a través de [ 039 1y [2nd ][ 5y ]
Vea Ejemplo 29~30.

B Transformacion de las coordenadas

Coordenadas Rectangulares Coordenadas Polares

X+ yi=r(cos 0 +isin 6 )

« La calculadora puede ejecutar la conversion entre las coordena-
das rectangulares y coordenadas polares a través de [ ALPHA |
[Pol (]y [ALPHA][ Rec ( ]. Resultados del célculo son automati-
camente almacenadas en las variables de memoria Ey F.

Vea Ejemplo 31~32.

(Nota) : Cuando usando aquéllas teclas, asegurese que la calcu
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ladora esta establecida para la unidad del angulo que
usted quiere.

B Probabilidad
« Esta calculadora proporciona las siguientes funciones de proba
bilidad : ( Vea Ejemplo 33~36.)

[nPr] Calcula el nimero de posibles permutaciones
del elemento n tomando r a cada vez.

[nCr] Calcula el nimero de posibles combinaciones de
elementos n tomando r a cada vez.

[x!] Calcula el factorial de un n entero positivo espe-

cificado x , donde x=69
[ RANDOM] Genera un numero al azar entre 0.000 y 0.999

m Otras funciones (x',/,¥ ,5, %, x*x’)

« La calculadora también proporciona funciones reciproca ([ x '] ),
raiz cuadrada ( [/ 1), raiz cubica ( [/ 1), raiz universal [ ’,3"_ 1,
cuadrado ([ x *]), cabico ([x °] )y exponenciacién ([ x*])

Vea Ejemplo 37~40

Calculo de Derivacion Standard

Use el modo SD para calculos de derivacion standard.
« Siempre asegurese de apagar la memoria estadistica a través de
[2nd ][ Scl ] antes de ejecutar el calculo de derivacién standard.

.

Pueden entrarse los datos individuales usando [ DT ] ; para anular
los datos que acabaron de ser entrados, por favor apriete [ 2nd ]
[ CL ]. Pueden entrarse datos mdltiplos del mismo valor usando [
2nd ][ 5 ]. Por ejemplo, para entrar el dato 15 siete veces, apri-
ete15[2nd][ ; ]7[DT].

Los valores de las variables estadisticas dependen de los datos
que usted acabo de entrar. Usted puede revocarlos con las
operaciones llaves mostrados en la tabla abajo. Vea Ejemplo 41.

Tx2 [RCL]+[[A]] X [2nd]+[x]
X [RCL]+[ [B]] XOn [2nd ]+ [XCn]
n [RCLI+[[C]] XOn-1 [2nd ]+ [XOn1]

Calculo de Regresion

Use el modo REG para calculos de regresion.

Apriete [ MODE ] 3 para entrar el ment REG y entonces escoja uno
de los seis tipos de regresién apretando el valor de argumento cor-
respondiente, como sigue:
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Lin Log Exp> —Lls Tepur v Quad
1 2 3 [«] 1 2 3
Lin Regresion Lineal y=A+Bx
Log Regresion Logaritmica y=A+BInx
Exp Regresion Exponencial y=A+e™
Pwr Regresién de Potencia y=A+x?
Inv Regresion de Inverso y=A+ E

Quad Regresién Quadratica y=A+Bx+Cx?

Siempre asegurese de apagar la memoria estadistica a través de
[2nd ][ Scl] antes de ejecutar el calculo de regresion.

Pueden entrarse los datos individuales usando [ DT ] ; para anu-
lar los datos que usted acabd de entrar, por favor apriete [ 2nd ]
[ CL ]. Pueden entrarse datos multiplos del mismo valor usando [
2nd ][ ; ]. Por ejemplo, para entrar los datos 40 y 55 diez veces,
apriete 40[ > ]55[2nd ][ ; ]10[DT].

Los valor de las variables estadisticas dependen de los datos
que usted entr6. Usted puede revocarlos a través de operaciones
llaves mostrados en la tabla abajo. Para predecir un valor para x
(o y) dado un valor para y (o x), entre el valor dado, apriete [ 2nd ]

[9] (o[2nd] [)Q] ), y apriete [ = ] de nuevo. Vea Ejemplo 42~43.
Ex? | [RCLI+[[A]] XGn [2nd]+[XGn ]
x| [RCLI+[[B]] XOn1 | [2nd ]+ [XOn1]

n | [RCLI+([[C]] y [2nd]+[y]
Ty? | [RCLI+[[D]] yon | [2nd]+[yGnl
Iy | [RCLI+[[E]l | yom | [2nd]+[yGni]
Xxy [RCL]+[] A [2nd ]+ [A]
vx? [RCL]+[] B [2nd]+[B]
szy [RCL]+[] C [2nd]+[C]
ex* [RCL]+[] r [2nd]+[r]
X [2nd]+[X] X [2nd]+[X]
y | [2nd]+(§]

(Nota) : Variable ¥x *, ¥ x y son disponibles solamente en
Regresion Cuadratica.
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B Ligando ou desligando
Para ligar a calculadora, pressione [ ON/ac ] ; Para desligar a calcu-
ladora, pressione [ OFF ].

B Substituigao de pilha

A calculadora é alimentada por duas baterias alcalinas G13(LR44).

Quando o visor ficar fraco, substitua as baterias.

Tenha cuidado para ndo se ferir ao trocar a bateria.

. Solte os parafusos na traseira da calculadora.

2. Insira uma chave de fenda na fenda entre a tampa e a caixa e
cuidadosamente torga-a para separa-las .

. Remova ambas as baterias e descarte-as. Jamais permita que
criangas brinquem com baterias.

. Limpe as novas baterias com pano seco para manter bom
contato.

. Insira as duas baterias com as faces lisas (positivo) para cima.

. Alinhe a tampa com a caixa e aperte-as para fecha-las junto.

. Aperte de volta os parafusos.

B Fungéo auto desligante

Esta calculadora se desliga automaticamente quando ndo operada
por aproximadamente 9~15 minutos. Ela pode ser reativada pres-
sionando tecla [ ON/ac ] e os ajustes de mostrador, meméria seréo
retidas.

B Operagao de reajuste

Se a calculadora esta ligada mas vocé obtém resultados inespera-
dos, pressione [ ON/ac ] e depois [ MODE ] quatro vezes para exibir
o menu abaixo. Uma mensagem se aparece no mostrador para
confirmar se vocé quer reajustar a calculadora e apagar o contetido
da memodria depois de pressionar [ 2 ].

Para apagar todas as variaveis, programas, operagdes pen-
dentes, dados estatisticos, respostas, todas as entradas prévias, e
memoria, por favor pressione [ 2 ]. Para abortar a operagéo reajuste
sem apagar a calculadora, por favor pressione [ 1].

Se a calculadora esta bloqueada e sem possibilidades de executar
as demais operagdes de tecla, use um objeto pontudo para pressio-
nar o buraco de reajuste ao mesmo tempo para liberar a condigéo.
Ela retornara todas as configuragdes para as configuragdes
padrdes.

N

o » w

~N O
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B Ajuste de Contraste

Pressionando a tecla [« ] ou [+] seguindo [ MODE ] fazera o con-
traste da tela ficar mais claro ou mais escuro. Segurando qualquer
tecla para baixo fard o mostrador ficar respectivamente mais claro
ou mais escuro.

B Leitura do mostrador
O mostrador inclui a linha de entrada, a linha de resultado, e indica-

dores.

Indicador —
Linha de Entrada

DEG

T~ 74-8/7
72.85714286—

Indicador

Linha de Resultado

Linha de entrada A calculadora mostra uma entrada de até 79

digitos. Entradas comegam na esquerda;
aquelas com mais de 11 digitos escorrem para
a esquerda. Pressione [ » ] ou [« ] para mover
o cursor por uma entrada. Porém, Linha de
resultado sempre que vocé digitar o 73° digito
de qualquer célculo, o cursor muda de “ _ "
para “ B ” para deixar vocé saber que memodria
esta operando em baixa Se vocé ainda precisar
digitar mais, vocé devera dividir seu calculo em
dois ou mais partes.

Linha de resultado Mostra um resultado de até 10 digitos, como

Indicadores

também um decimal, um sinal negativo, um

indicador “ x10 ", e um exponente de 2-digitos

positivo ou negativo.

Os indicadores seguintes aparecem no mostra

dor para indicar o estado atual da calculadora.
Indicador Significado

M Memodria independente
- Resultado é negativo
2nd 2nd conjunto de teclas esta ativo.

(Al Chaves alfabéticas ([A] ~[F], [M], [X]~[Y])

estao ativadas.
STORCL STO : Modo de armazenamento de variavel
estd ativado
RCL : Modo de revocagao de variavel esta

ativado
SD Modo de estatisticas esta ativo
REG Modo de regressao esta ativado
DEGRAD Modo de angulo : DEGrees, GRADs, ou

RADs
ENG Notagéo de Engenharia.
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SCI Notagao de Cientifica.

FIX Numero de casas decimais mostrado esta
fixo

HYP Funcéo hiperbolica-trig. sera calculada

BUSY  Enquanto uma operagao estiver executan-
do

£ 2 Hadigitos a esquerda ou direita do
mostrador

T~ ¥ Ha resultados breves ou posteriores que
podem ser mostrados

Antes de comegar calculos

B Selegido de modo
Cada vez que [ MODE ] é apertado, varios menus de fungdes e
todos os valores de argumento correspondendo ao modo desejado
é mostrado na tela. Inclui trés modos de célculo (COMP, SD, REG),
trés unidades de angulo (DEG, RAD, GRAD), quatro notagdes de
exibigao (FIX, SCI, NORM, ENG) e fungéo de reajuste (RESET).
Entrando um valor de argumento pode ajustar esta calculadora para
operar como vocé quiser. Dé “ SD ” como um exemplo :
1. Pressione [ MODE ] uma vez para exibir o menu do modo
de calculo.
2. Entre [ 2] para deixar esta calculadora sendo operada sob o
modo de derivagao standard.
COMP SD REG 2] S0 oS

» —

1 2 3 0.

B Usando teclas “ 2nd ”

Quando vocé pressiona [ 2nd ], o indicador “ 2nd ” exibido no
mostrador é para lhe indicar que vocé estara selecionando a segun-
da fungéo da préxima tecla que vocé pressionar. Se vocé pressiona
[ 2nd ] por engano, simplesmente pressione [ 2nd | novamente para
remover o indicador “ 2nd .

m  Cursor

Pressionando a tecla [»] ou [« ] pode mover o cursor a esquerda
ou a direita. Segure para baixo quaisquer dessas teclas para mover
o cursor a alta velocidade.

Pressionando [ 2nd ][] ou[2nd ] [¥] pode escorrer o mostrador
para cima e para baixo se houver entradas anteriores escondidas
no mostrador. Vocé pode usar de novo ou editar uma entrada ante-
rior quando ela estiver na linha de entrada.
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B Fazendo corregoes durante entrada de dados
Para apagar um caracter no cursor, faga o caracter sublinhado
usando [ » ] ou [« ] para mover o cursor, e depois pressione [ DEL ]
para apagar o caracter.

Para substituir um caracter, faga o caracter sublinhado usando [ » ]
ou [« ] para mover o cursor, e depois entre uma entrada nova para
substituir o caracter.

Para inserir um caracter, mova o cursor a posi¢do do caracter onde
vocé quer inserir. Ele sera inserido na frente do caracter depois de
pressionar [ 2nd ] [ INS ] e entrar um caracter novo.

(Nota) : O cursor piscante “[i1” significa que a calculadora esta
em modo de entrada. Ao contrario, o cursor piscante é
exibido como “_" e significa que a calculadora estd em
modo reescrevedor.

Para apagar todos os caracteres, apague todos os caracteres de
entrada de dado com a tecla [ ON/ac ].

B Funcao de Repeticao

« Esta fungédo armazena a mais recente operagdo executada. Depois
que execugdo esta completa, pressionando a tecla [ 2nd ] [« ] ou
[ 2nd ] [~ ] exibira a operagdo desde o inicio ou o fim. Vocé pode
continuar movendo o cursor comexibird a operagao desde o
inicio ou o fim. Vocé pode continuar movendo o cursor com [ » ]
ou [« ] para edita-lo. Para apagar um digito, pressione [ DEL ].
(ou, em modo reescrever, simplesmente digite sobre o digito).
Veja Exemplo 1.

A fungéo de repeticdo pode manter digitos de entrada de dados
até 256 caracteres para a calculadora. Depois que execugdo esta
completa ou durante entrada, vocé pode apertar quaisquer [« ]
[+] para exibir passos de entradas anteriores e editar valores ou
comandos para execugao subsequente. Veja Exemplo 2.

(Nota) : A fungdo de repeticdo ndo é apagada nem mesmo quando
[ ON/ac ] é pressionado ou energia € desligada, assim os
conteudos podem ser rechamados até mesmo depois que
[ ON/ac ] & pressionado.
B Funcgao de exibicdo da posigao de erro
* Quando um célculo matematicamente ilegal é executado,a fungéo
de exibicdo da posigdo de erro lhe indicara com o cursor onde
o erro esta. Pressione [»] ou [¢] para mover o cursor e depois
dé-lhe uma entrada correta. Vocé também pode apagar um erro
pressionando [ ON/ac ] e depois re-entrar os valores e expressao
desde o inicio. Veja Exemplo 3.
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B  Fungao de memoéria

Memoéria independente

Pressione [ M+ ] para adicionar um resultado @ meméria corrente.

Pressione [ 2nd ] [ M- ] para subtrair o valor da memadria corrente.

Para rechamar o valor na meméria corrente, pressione [ 2nd ]

[RCL] [ ]. Para apagar a memoéria corrente, pressione [ 0 ]

[STO][ [M] ]. Veja Exemplo 4.

(Note) : Além de pressionar tecla [ STO ] para armazenar um
valor, vocé também pode atribuir valores a variavel de
memoaria M por [ M+]ou [ M-1].

Variavel de memoéria
A calculadora tem nove variaveis de meméria para uso repetido : A,
B, C, D, E, F, M, X, Y. Vocé pode armazenar um numero real em
quaisquer das nove variaveis de memoria. Veja Exemplo 5.
*  [STO]+ 08122900101, ou [X]~[Y]deixa vocé armazenar
valores as variaveis.
* [2nd][RCL]ou[ALPHA]+ [F],M], ou[X]
revoca o valor da variavel.
* [0][STO]+ [A]l~[F],[M], ou[X]~[Y] para apagar o
contetido a uma variavel de meméria especificada.
[2nd ][ Mcl ][ =] apaga todas las variables.

m  Pilha

Esta calculadora usa areas de memoéria, chamadas “pilhas” para
armazenar valores temporariamente (pilha numérica) e comandos
(pilha de comando) de acordo com a precedéncia deles durante
célculos. A pilha numérica tem 10 niveis e pilha de comando tem 24
niveis. Um erro de pilha (Stk ERROR) acontece sempre que vocé
tenta executar um célculo que é tdo complexo que a capacidade de
uma pilha é excedida.

*

B  Ordem de operagodes
Cada calculo é executado na seguinte ordem de precedéncia :

1) Coordena transformagéo.

2) Fungdes Tipo A que requerem entrada de valores antes de
pressionar a tecla de fungéo, por exemplo, x 2, 039, x |, x.

3) x, ¥

4) Fragdes.

5) Formato de multiplicagdo abreviada em frente das variaveis,
.

6) Fungdes Tipo B que s&o requeridos pressionando a tecla de
fungdo antes de entrar, por exemplo, sin, cos, tan, sin -
cos ™', tan 7, sinh, cosh, tanh, sinh ', cosh ', tanh 7, log, In,
0%, e* 4, ¥, (-)

7) Formato de multiplicagdo abreviada em frente das fungdes
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Tipo B,2+/ 3 Alog2, etc.
8) nPr,nCr
9) x,*
10) +, -
* Quando fungdes com a mesma prioridade sdo usadas em
séries, execugao é feita da direita a esquerda.
e* In120— e *{In(120)}
de outra maneira, execugéo é da esquerda para direita.
« Fungdes compostas sdo executadas da direita a esquerda.
* Qualquer coisa contida dentro de parénteses recebe a priori
dade mais alta.
B Precisdo e Capacidade
Precisdo de saida de dados : Até 10 digitos.
Calculando digitos : Até 15 digitos
Em geral, todo calculo razoavel é exibido em mantissa de até 10
digitos ou mantissa de 10-digitos mais exponente com 2-digitos de
até 10 *%.
Numeros usados como entrada de dados devem estar dentro da
variagao da dada fungdo como se segue :

Fungoes Variagdo de Entrada de Dados
sin x, tan x Deg : 0=| x| =4.499999999 x 10 "
Rad : 0=|x | =785398163.3
Grad : 0=| x| =4.499999999 x 10 "
Contudo, para tan x
Deg : | x| #90 (2n—1)

Rad : | x| # 3 (2n-1)

Grad ® | x| #100 (2n—1) ('n é um inteiro)
€os X Deg : 0= | x |=4.500000008 x 10 "
Rad : 0= | x |=785398164.9

Grad : 0=| x | =5.000000009 x 10 "

sin " x, cos " x 0=|x| =1
sinh x, cosh x 0=|x| =230.2585092
tan ' x 0=| x| £9.999999999 x 10 *

tanhx,tanh 'x  |0=| x| =9.999999999 x 10 -’
sinh " x, cosh ' x  |0<| x | 4.499999999 x 10 *

log x, In x x >0

10* —9.999999999 x 10 ®° = x = 99.99999999
e —9.999999999 x 10 ¥ = x = 230.2585092
Jx 0=x<1x10"

x? |x]<1x10%
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x |x]<1x10 ' x+0
¥x |x]<1x10'
x! 0=x=69, x é um inteiro.
Pol (x,y) | x|, ]y | =9.999999999 x 10 *
x 2 +y2<9.999999999 x 10 *
Rec (1, 0) 0: 999999999 x 10
Deg : 0=| x | =4.499999999 x 10 "
: x | £785398163.3
Grad : 0=| x | £4.499999999 x 10
Contudo, para tan x
Deg : | 6] #90 (2n—1)
Rad: 0] # 3 (2n-1)
Grad : | 6| #100 (2n—1) (n € um inteiro)
01 lal,b,c<1x10',0=b,c
|x]< 1x10'®
571’ Sexagesimal <> Transformagao decimal
070°0"=| x| 999999 " 59 -
x” x>0:-1x10"<ylog x < 100

x=0:y>0
x<0:y=n, 1/(2n+1), n é um inteiro.
mas — 1x 10 "< ylog | x | <100

y

y> 0:x#0,-1x10 < L logy <100
y=0: x>0
y<0:x=2n+1,1/n,né um inteiro.(n#0)

100 o 1
mas —1x 10 ™ < - log |y | <100

nPr, nCr 0=n=99, r=n, n, r sdo inteiros.
SD [ x [<1x10%,] y [<1x10%, | n [<1x10"
(REG) XGn, Yon, XY , A, B, r:n#0

XOn-1, yon-1: n# 0,1

B Condigoes de Erro

Mensagem de erro aparecera no mostrador e célculo adicional
se tornara impossivel quando quaisquer das condigdes seguintes

acontecer.

Ma ERROR (1) Quando resultado de calculos de fungéo excede a

variagdo especificada.

(2) Vocé tentou dividir por 0.

(3) Quando a faixa de entrada permisskvel de cjlculos
de funéco excede a faixa especificada.

Stk ERROR Capacidade da pilha numérica ou pilha do operador é
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excedida.

Syn ERROR Vocé tentou executar uma operagdo matematica ile
gal.
Para liberar os erros acima, por favor pressione tecla [ ON/ac 1.

Calculo basico

Use o modo COMP para calculos basicos.
B Calculo aritmético

« Para valores negativos, pressione [ (-) ] antes de entrar o valor; Vocé
pode entrar um nimero em forma de mantissa e exponente com a tecla
[EXP]. Veja Exemplo 6.

« Operagdes aritméticas sdo executadas pressionando as teclas na
mesma sequéncia como na expressao. Veja Exemplo 7.

B Calculos de parénteses

« Operagéo dentro de parénteses sdo sempre executadas primeiro.
A calculadora pode usar até 15 niveis de parénteses consecutivos
em um Unico calculo. Veja Exemplo 8.

B Calculos de porcentagem

* [2nd ][ % ] divide o nimero no mostrador por 100. Vocé pode
usar esta sequéncia para calcular porcentagens, somas, descon-
tos, e relagdes de porcentagens. Veja Exemplo 9~10.

B Formatos de exibigao
Esta calculadora tem o seguinte modo de exibigdo de quatro nota-
¢Oes para o valor de exibig&o.
Notagdo Norma(Norm) :
Esta calculadora pode exibir até 10 digitos. Porém, valores que
excedem este limite sdo exibidos automaticamente em formato
exponencial. Ha dois tipos de formatos de exibigdo exponenciais :
Modo “Norm 1”7 : 10 > | x|, | x| =10 "
Modo “Norm 2” : 10 °> | x|, |x| = 10"

IV 1

(Nota) : Todos os exemplos neste manual mostram resultados de
célculo usando o modo “Norm 1”.

Notag&o para Engenharia : (ENG )
Resultado de calculo é mostrado usando notagéo de engenharia
onde a mantissa do valor é exibido com o nimero de casas deci-
mais especificado e o exponencial é fixado a um multiplo de 3 para
exibigao.
Notagao Fixa : ( FIX)
Resultado de calculo é exibido com o nimero de casas decimai
especificado.
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Notacéo Cientifica: ( SCI)

Resultado de calculo é mostrado usando notagéo cientifica onde a
mantissa do valor é exibido com o nimero de casas decimais espe-
cificado.

.

Para FIX, SCI, o nimero de casas decimais pode ser fixado a
qualquer valor entre 0~9. Depois de especificar o nimero de
casas decimais, o valor exibido sera arredondado ao numero
correspondente de digitos e sera exibido. Quando nenhuma
especificagdo foi feita 0 nimero de casas decimais ou digitos sig-
nificantes, modo “Norm 1” e “Norm 2" pode ser executado. Veja
Exemplo 11.

Pressionando [ ENG Jou [2nd ] [ ET\!G ] causara a exibigdo do
exponencial para o nimero exibido mudar em multiplos de 3.
Veja Exemplo 12.

Mesmo se o nimero de casas decimais é especificado, céalculo
interno para uma mantissa é executado em 15 digitos para a cal-
culadora, e o valor de exibigdo é armazenado em 10 digitos. Para
arredondar esses valores para o nimero especificado de casas
decimais, pressione [ 2nd ] [ RND ]. Veja Exemplo 13.

.

B Funcgao de calculo continuo

« A calculadora lhe permite repetir a Ultima operagdo executada
pressionando tecla [ =] para célculo adicional. Veja Exemplo 14.

+ Mesmo se os célculos sdo concluidos com a tecla [ =], o resul-
tado obtido pode ser usado para célculo adicional. Veja Exemplo
15.

B Funcgao de resposta

« Funcéo de resposta armazena o resultado calculado mais re-
centemente. E retido até mesmo depois que a energia esta desli-
gada. Uma vez que um valor numérico ou express@o numérica é
entrada e [ = ] é pressionado, o resultado é armazenado através
desta fungdo . Veja Exemplo 16.

(Nota) : Mesmo se execugéo de um calculo resulta em um erro,
porém, memoria de resposta retém seu valor atual.

Calculadora cientifica
Use o modo COMP para calculos cientificos.
B Logaritmos e Antilogaritmos

« A calculadora pode calcular logaritmos comuns e naturais e
antilogaritmos usando [log ], [In],[2nd ] [10*],e[2nd][e*].
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Veja Exemplo 17~19.
B Calculo de fragdao

Exibigdo de valor de fragdo é como segue :

_— 5

512 Exlbl(;aodef12
L 5
56 5 5 12 |Exibicdo de 56712

(Nota) : Valores sdo automaticamente exibidos em formato deci
mal sempre que o numero total de digitos de um valor
fracionario (inteiro + numerator + denominator + smas
separadoras) excede 10.

.

Para entrar um nimero misturado, entre a parte inteira, pressione
[ a b/c ], entre o numerador, pressione [ a P/c ], e entre o denomi-
nador ; Para entrar uma fragdo improépria, entre o numerador,
pressionee entre o denominador ; Para entrar uma fragédo im-
prépria, entre o numerador, pressione [ a b/c ], e entre o denomi-
nador. Veja Exemplo 20.

Pressionando [ 2nd ] [ d/c ], o valor exibido sera convertido a
fragdo impropria e vice-versa , Para converter entre um resultado
decimal e fracionario, pressione [ a b/c ] .Veja Exemplo 21.
Célculos contendo ambas fragdes e decimais séo calculados em
formato decimal. Veja Exemplo 22.

B Conversao de unidades de angulo

As unidades de angulo (DEG, RAD, GRAD) s&o ajustadas pres-
sionando [ MODE ] para exibir o menu de angulo. A relagéo entre as
trés unidades de angulo é :

180 ° = rad = 200 grad

Conversdes de angulo (Veja Exemplo 23.) :
1. Mude os ajustes pré-programados de angulo para as
unidades que vocé quer converter.
2. Entre o valor da unidade a ser convertida.
3. Pressione [ DRG— ] tpara exibir o menu.

As unidades que vocé pode selecionar séo D (graus),
R (radianos), G (Gradianos).
4. Escolha as unidades das quais vocé esta convetendo.
5. Pressione [=1].
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B Fungodes Trigonométricas / Trig. Inversas

« A calculadora prové fungdes trigonométricas padrdes e trigo-
nométricas inversas - sin, cos, tan, sin ~', cos ' and tan . Veja
Exemplo 24~26.

(Nota) : Ao usar essas teclas, assegure-se de que a calculadora
esta ajustada para a unidade de angulo que vocé quer.

B Funcgoes Hiperbolicas / Hip. Inversas

« A calculadora usa [ 2nd ] [ HYP ] para calcular as fungdes hiper-
bdlicas e as fungdes hiperbolicas Inversas - sinh, cosh, tanh, sinh
', cosh ™" e tanh ™. Veja Exemplo 27~28.

(Nota) : Ao usar essas teclas, assegure-se de que a calculadora
esta ajustada para a unidade de angulo que vocé quer.

B Sexagesimal < Transformagao Decimal

Notacéo Sexagesimal € como se segue

12759 © 45.6 ° | Representa 12 Graus, 59 Minutos, 45.6 Segundos

« A calculadora pode executar a conversdo entre nimeros

decimais e sexagesimais através de [ osp 1 e [2nd [ [ Q3w |
Veja Exemplo 29~30.

B Transformagao de coordenadas

Coordenadas retangulares Coordenadas polares

x+ yi=r(cos 0 +isin 6 )
« A calculadora pode executar a conversao entre coordenadas
retangulares e coordenadas polares através de [ 2nd ] [ Pol (] e
[ 2nd ] [ Rec ( ]. Resultados de calculo sdo armazenados au-
tomaticamente em variaveis de meméria E e F. Veja Exemplo
31~32.
(Nota) : Quando usar essas teclas, assegure-se de que a calcula
dora esta ajustada para a unidade de angulo que vocé
quer.
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B Probabilidade
» Esta calculadora prové as seguintes fungdes de probabilidade:
(Veja Exemplo 33~36.)
[nPr] Calcula o numero de permutagdes possiveis de
n items tomando r a cada vez.
[nCr] Calcula o niumero de combinagdes possiveis de
n items tomando r a cada vez.
[x!] Calcula o fatorial de um x inteiro positivo especi
ficado onde x =69.

[ RANDOM] Gera um numero randomico entre 0.000 e 0.999

~ -1 — 2 3
®  Outras fungdes (x ™, /,3 ¥, x, x°x")
+ A calculadora também prové fungées de reciproca ([ x 1),

raiz quadrada ( [/ 1), raiz cubica ( [% 1), raiz universal [¥1
quadrado ([ x*]), ctbico ([ x*]) e exponenciagéo ([ x”]).
Veja Exemplo 37~40.

Calculo de Derivagdo Standard

Use o modo SD para calculos de derivagao standards.

» Sempre se assegure de apagar a memoria estatistica através de
[2nd ] [ Scl ] antes de executar célculo de derivagéo standard.

Dados individuais podem ser entrados usando [ DT ] ; Para dele-
tar dados que vocé acabou de entrar, por favor pressione [ 2nd ]
[ CL ]. Dados multiplos do mesmo valor podem ser entrados
usando [ 2nd ] [ ; ]. Por exemplo, para entrar o dado 15 sete
vezes, pressione 15[2nd ][ ; ]7[DT].

Os valores das variaveis estatisticas dependem dos dados que
vocé entrou. Vocé pode revocar los através das operagdes funda-
mentais mostradas na tabela abaixo. Veja Exemplo 41.

Yx2 [RCLI+[[A]] X [2nd]+[X]
X [RCL]+[[B]] XGn [2nd ]+ [XOn]
n [RCLI+[[C]] XOn-t [2nd ]+ [XOnt ]

Calculo de regressao

Use o modo de REG para calculos de regressao.
Pressione [ MODE ] 3 para entrar no menu REG e depois escolha
um dos seis tipos de regressdo apertando o valor de argumento
correspondente, como se segue :
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« Sempre se assegure de apagar a memoria estatistica através de

« Dados individuais podem ser entrados usando [ DT ] ; Para apa-
gar dados que vocé acabou de entrar, por favor pressione [ 2nd ]
[ CL ]. Dados multiplos do mesmo valor podem ser entrados
usando [ 2nd ] [ ; ]. Por exemplo, para entrar os dados 40 e 55

.

1

Lin Log Exp>

3 ]

Lin

Log
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Pwr

Inv
Quad

Regresséo Linear

Regresséo Logaritimica

Regressao Exponencial

Regressao de Poténcia

Regressao de Inverso

Regressao Quadratica

€Pwr Inv Quad
1 2 3

y=A+Bx
y=A+BInx
y=A-e®™
y=A+x?
y=A+3
y=A+Bx+Cx?

[2nd ][ Scl] antes de executar célculo de regresséo.

dez vezes, pressione 40[ > 155[2nd ][ ; 110 [DT].

Os valores das variaveis estatisticas dependem dos dados que
vocé entrou. Vocé pode revoca-las através de operagdes funda-
mentais mostradas na tabela abaixo. Para predizer um valor para
X (ou y) dado um valor para y (ou x), entre o valor dado, pressione
[2nd][y](ou[2nd ][ x]), e pressione [ =] novamente.

Veja Exemplo 42~43.

Ix? | [RCL]+[[A]] XGn [2nd]+[XGn]
£x | [RCLI+[[B]] XOnt | [2nd]+[XGn-1]
n | [RCLI+[[C]] y [2nd]+[y]
Iy* | [RCL]+([[D]] yon | [2nd]+[yGn]
Xy | [RCLI+I[EN] | yowm | [2nd]+[yGn1]
Yxy | [RCL]+[[F]] A [2nd]+[A]
Ex® | [RCL]+[[M]] B [2nd]+[B]
x| [RCL]+[[X]] c [2nd]+[C]
¥x* | [RCL]+[[Y]] r [2nd]+[r]
X [2nd]+[X] X [2nd]+[X]

y | t2nd1+ 09

(Nota) : Variavel ©x*, Xx % son disponiveis somente em
regressao Quadratica.
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Allgemeine Hinweise

B Ein- und Ausschalten

Driicken Sie die Taste [ ON/ac ]1; , um den Taschenrechner ein-
zuschalten.Driicken Sie die Tasten [ OFF ], um den Taschenrechner
auszuschalten.

B Auswechseln der Batterien

Der Rechner wird mit zwei G13(LR44) Alkali-Batterien versorgt.
Falls der Bildschirm schwéacher wird, wechseln Sie die Batterien
aus. Seien Sie vorsichtig, damit Sie sich beim Wechseln der Bat-
terien nicht verletzen.

1. Losen Sie die Schrauben an der Riickseite des Rechners.

2. Filhren Sie einen flachen Schraubenzieher in den Schlitz
zwischen der oberen und unteren Kante, drehen Sie ihn, um
die Abdeckung zu vorsichtig zu 6ffnen.

3. Entnehmen Sie beide Batterien und entsorgen Sie sie auf
korrekte Weise. Achten Sie darauf, dass Kinder nicht mit den
Batterien spielen.

4. Wischen Sie mit einem trockenen Tuch Uber die neuen Bat-
terien, um die Kontaktfahigkeit zu erhéhen.

5. Legen Sie die zwei neuen Batterien mit der flachen Seite
aufrecht (Plus Pole) ein.

6. Bringen Sie beide Kanten in Ubereinstimmung und lassen
Sie sie zusammenschnappen.

7. Ziehen Sie die Schrauben an.

B Automatisches Ausschalten

Der Taschenrechner schaltet sich automatisch aus, nachdem er ca.
9~15 Minuten lang nicht mehr bedient wurde. Driicken Sie die Taste
[ ON/ac 1, um den Taschenrechner wieder zu aktivieren. Vorherige
Angaben, Einstellungen des Bildschirms sowie der Speicher bleiben
erhalten.

B Neueinstellung

Falls der Rechner eingeschaltet ist, aber unerwartete Resultate
erbringt, [ ON/ac ] und dann [ MODE ] viermal driicken, um das
untenstehende Meni zur Anzeige zu bringen. Auf der Anzeige wird
nachgefragt, ob der Rechner riickgestellt und der Speicherinhalt
geldscht werden soll, nachdem [ 2 ] gedriickt wurde.




Zum Léschen aller Variabeln, laufenden Vorgange, statistischen
Daten, Antworten, aller friiheren Eingaben sowie des Speichers ist
[ 2 ] zu driicken. Zum Abbrechen der Riickstellung ohne Léschen
des Rechners ist [ 1] zu driicken.

Ist der Rechner gesperrt und weitere Tastaturbetatigen sind un-
moglich, dann driicken Sie gleichzeitig mit einem spitzen Gegen-
stand auf das Riickstellloch, um diesen Zustand aufzuheben. Alle
Einstellungen werden zur Standardeinstellung riickgestellt.

B Einstellung des Kontrats

Driicken Sie [« ] oder [v] und dann [ MODE ], um den Kontrast
des Bildschirms heller oder dunkler einzustellen. Das anhaltende
Driicken eines der beiden Tasten 14t den Bildschirm schrittweise
heller oder dunkler werden.

B Bildschirmanzeige

Auf dem Bildschirm sind die Eingabewerte, die Ergebnisse und die
Anzeigen ablesbar.

Anzeigefeld |

Eingabefeld

DEG

T 74-817
72.85714286—

Anzeigefeld

Eingabefeld

Eingabefeld Beim Der Taschenrechner kdnnen bis zu 79 Stellen
eingegeben werden. Die Eingaben beginnen auf
der linken Seite. Eingaben mit mehr als 11 Stellen
rollen nach links. Driicken Sie [ » ] oder [« ], um den
Positionsanzeiger zum Eingabefeld zu verschieben.
Wenn die 73ste Stelle einer Rechnung eingegeben
wird, wechselt der Cursor jedoch von “ _” auf “

B ", um anzuzeigen, dass der Speicherraum zu
klein wird. Falls jecoh mehr eingegeben werden
muf, sollte die Berechnung in zwei oder mehr Teile
aufgeteilt werden.

Ergebnisfeld Es werden sowohl Ergebnisse bis zu 10 Stellen, als
auch Dezimalzahlen, das Negativzeichen, die An
zeige “ x10 ” und zweiziffriger positiver oder nega-
tiver Exponenten angezeigt.

Anzeigefeld Die folgenden Anzeigen erscheinen auf dem
Bildschirm, um die gegenwartige Einstellung des
Taschenrechners anzuzeigen.

Anzeige Bedeutung

M Unabhéngiger Speicher

- Negatives Ergebnis

2nd Die zweite Funktion der Tasten ist einge-
schaltet.
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[A] Alphabetische Tasten ([A]~[F], [M],
~[Y]) sind aktiviert.

STORCL STO : Variabel-Speichermodus ist aktiviert
RCL : Variabel-Abrufmodus ist aktiviert

SD Der statistische Mode ist eingeschaltet
REG Regressionsmodus (Rickwartsmodus) ist
aktiviert

DEGRAD Der Mode Winkeleinheiten ist einge-
schaltet : DEG (Grad), GRAD (Grad),
RAD (Radius)

ENG Bildschirmanzeige im wissenschaftlichen
Stil

ScCI Bildschirmanzeige im Ingenieurstil Stil

FIX Fixierung der Anzahl der angezeigten
Dezimalstellen

HYP Berechnung von hyperbolischen unk
tionen

BUSY erscheint wahrend der Ausflihrung einer
Rechenoperation

€« > Anzeige von Ziffern nach rechts oder
links

] Anzeige von friiheren oder spateren

Ergebnissen mdglich

Vor dem Rechnen

B  Moduswahl

Jedesmal wenn [ MODE ] gedriickt wird, werden verschiedene
Funktionsmeniis und alle Argumentwerte in Verbindung mit dem
gewiinschten Modus angezeigt. Dies schlieBt drei Rechnungsmodi
(COMP, SD, REG), drei Winkeleinheiten (DEG, RAD, GRAD),
vier Anzeigezeichen (FIX, SCI, NORM, ENG) sowie die
Ruckstellfunktion (RESET) ein.
Das Eingeben eines Argumentwerts stellt den Rechner auf die
gewiinschte Funktionsweise ein.
1. [ MODE ] einmal driicken, um das Ment fir den
Rechenmodus zur Anzeige zu bringen.
2. [2]eingeben, damit der Rechner im
Standardderivationsmodus arbeitet.

COMP SD REG (2] w0 0%
1 2 3 ' .

B Die “ 2nd ” Funktion

Beim Driicken der Taste [ 2nd ] wird auf dem Bildschirm die Anzeige
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“ 2nd ” erscheinen. Dies zeigt lhnen an, dass Sie die zweite Funk-
tion fir die nachste Taste ausgewahlt haben. Sollten Sie die Taste
[2nd] falschlicherweise gedriickt haben, so driicken Sie einfach
noch einmal die gleiche Taste [ 2nd ]. Die Anzeige “ 2nd ” wird dann
verschwinden.

B Die Positionsanzeiger

Driicken Sie die Tasten [»] oder [« ], um den Positionsanzeiger
nach rechts oder links zu verschieben. Das anhaltende Driicken
einer dieser Tasten bewirkt ein schnelles Verschieben des Position-
sanzeigers. Driicken Sie [ 2nd ] [«] oder [ 2nd ] [+ ], um den Posi-
tionsanzeiger nach oben oder unten zu bewegen, um so ehemalige
versteckte Einstellungen auf dem Bildschirm erscheinen zu lassen.
Dabei kénnen Sie ehemalige Einstellungen wieder benutzen, sobald
diese auf dem Bildschirm erscheinen.

B Fehlerkorrektur wahrend der Eingabe

Um einen Wert, bei dem sich der Positionsanzeiger gerade befindet,
zu léschen, unterstreichen Sie diesen, indem Sie den Positionsan-
zeiger [ » ] oder [« ] entsprechend verschieben und driicken Sie
dann [ DEL ], um die gewiinschten Ziffern zu I6schen.
Um einen Wert zu ersetzen, unterstreichen Sie diesen durch Her-
anziehen des Positionsanzeiger [ » ] oder [« ]. Geben Sie dann den
neuen Wert ein, um den alten zu ersetzen.
Um einen Wert einzufligen, bewegen Sie den Positionsanzeiger
an die gewiinschte Stelle. Die Einfligung erfolgt vor der gewahlten
Stelle, nachdem Sie [ 2nd ] [ INS ] und den neuen Wert eingegeben
haben.
(Hinweis) : Blinkt der Positionsanzeiger “ [ auf, so befindet
sich der Taschenrechner im Eingabe-Mode. Blinkt
der Positionsanzeiger dagegen in Form von “_" auf,
so befindet sich der Taschenrechner im Uberschreibe-
Mode.
Wollen Sie alle eingegebenen Ziffern I6schen, so driicken Sie die
Taste [ ON/ac 1.

m Die Wiedergabefunktion

« Diese Funktion speichert die zuletzt ausgefiihrte Rechenopera-
tion. Driicken Sie nach der Berechnung [2nd | [« ] oder [2nd ][~ ],
um die Berechnung von Anfang an wieder aufzurufen. Sie kénnen
die Positionsanzeigen [ » ] oder [ « ] fortlaufend driicken. Um Stel-
len zu léschen, driicken Sie [ DEL J(oder schreiben Sie einfach
{iber die Ziffern, wenn Sie sich im Uberschreibe-Mode befinden.)
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Val. Beispiel 1
Die Wiedergabefunktion kann beim Der Taschenrechner bis zu
256 Stellen wiedergeben. Nach der Beendigung einer Rechenop-
eration oder wahrend einer Eingabe kénnen Sie [ 2nd ] [« ] oder [
2nd ] [ ]driicken, um friihere Eingabeschritte hervorzurufen und
Variablen oder Befehle fiir weitere Berechnungen heranzuziehen.
Vagl. Beispiel 2
(Hinweis) : Die Wiedergabefunktion wird nicht geldscht,
selbst wenn die Taste [ ON/ac ] gedriickt oder die
Stromversorgung abgeschaltet wird. Somit kdnnen
ehemalige Eingaben auch nach Driicken von [ ON/ac ]
wiedergegeben werden.

B Die Funktionsanzeige Fehlerposition

« Soll eine mathematisch unmégliche Rechenoperation durch-
gefiihrt werden, so zeigt lhnen die Funktionsanzeige Fehlerposi-
tion durch den Positionsanzeiger an, wo sich der Fehler befindet.
Dricken Sie [ » ] oder [« ], um den Positionsanzeiger an die
entsprechende Fehlerstelle zu bewegen und verbessern Sie dann
den Fehler. Sie kdnnen den Fehler auch durch Driicken der Taste [
ON/AC ] I6schen und dann wieder erneut andere Werte und Aus-
driicke eingeben. Vgl. Beispiel 3.

B Rechnen mit dem Speicher

Unabhangiger Speicher
« Driicken Sie [ M+ ], um einen Wert zum bestehenden Speicher zu
addieren. Driicken Sie[ 2nd ] [ M—], um einen Wert vom bestehen-
den Speicher zu subtrahieren.Driicken Sie [ 2nd ] [RCL] [@ ], um
den Wert des bestehenden Speichers aufzurufen.Zum Léschen
des laufenden Speichers ist [0] [ STO ] [@ ] zu driicken.
Vgl. Beispiel 4.
(Hinweis): Durch Driicken auf [ STO ] kann ein Wert gespeichert
werden und man kann Werte zur Speichervariablen M
zugewiesen werden [ M+ ] oder [ M—1].
Speichervariabel
« Der Rechner hat neun Speichervariabeln fiir wiederholten
Gebrauch : A, B, C, D, E, F, M, X, Y. Eine wirkliche Zahl kann
unter jeder der neun Speichervariabeln gespeichert werden.
Val. Beispiel 5.
*  [STO]+[A]~[F], [M] oder [X]~[Y]laRt Sie Werte von
Variablen speichern.
* [2nd][RCL]oder [ALPHA]+[A]~[F],[M], oder [X]~[Y]
ruft den Wert der Variabeln ab.
* [0][STO]+ oder [X] 16scht den Inhalt

einer spezifizierte Speichervariabeln.
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* [2nd][Mcl][=]l6scht alle Variabeln.
B Stapel (Stack)

Dieser Rechner benutzt Speicherstellen, sogenannte “Stapel”,

um Werte (numerischer Stapel) und Befehle (Befehlsstapel)

ihrer Reihenfolge bei der Berechnung gemaR zu speichern. Der
numerische Stapel hat 10 Stufen und der Befehlsstapel 24. Ein
Stapelfehler (Stk ERROR) tritt auf, wenn versucht wird eine Rech-
nung durchzufiihren, die so komplex ist, dass die Stapelkapazitat
Uiberfordert wird.

B Reihenfolge der Rechenoperationen

Jede Rechenoperation wird in der folgenden Reihenfolge ausgefihrt:

1) Umwandlung von Koordinaten

2) Funktionen des Typs A, die das Driicken der entsprechenden
Funktionstaste vor der jeweiligen Eingabe erfordern. Zum
Beispie : x 2, 0399, x !, x .

3) x, ¥

4) Briche.

5) Abgekirzte mathematische Formeln vor Variablen :1r.

6) Funktionen des Typs B, die das Driicken der entsprechen-
den Funktionstaste vor der jeweiligen Eingabe erfordern.
Zum Beispiel: sin, cos, tan, sin”', cos™, tan™, sinh, cosh,
tanh, sinh™", cosh™, tanh™, log, In, 10 X, e X, «/ , ¥ ,(-).

7) Abgekiirzte mathematische Formeln vor Funktionen des
Typs B: 24/ 3, Alog2, etc.

8) nPr,nCr

9) x,*

10) +, —

«  Werden Funktionen mit der gleichen Prioritatsstufe hinterein-
ander durchgefiihrt, so erfolgt die Berechnung von rechts
nach links:

e X In120—»e X{In(120)}
Ansonsten erfolgt eine Berechnung von links nach rechts.

»  Bei zusammengesetzte Funktionen erfolgt die Berechnung
von rechts nach links.

*  Ausdriicke innerhalb einer Klammer erhalten die héchste
Prioritat.

B Korrektheit und Kapazitat

Korrektheit der Ergebnisse : Bis zu 10 Stellen.

Bei der Berechnung von Zahlen : Bis zu 15 Stellen
Normalerweise sind fiir Rechenoperationen bis zu 10 Stellenin
general, oder 10-ziffrige Grundwerte plus einen 2-ziffriger
Exponenten bis zu 10 ** ausreichend.
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Eingegebene Zahlen missen wie folgt innerhalb der Grenzen der
jeweiligen Funktion liegen.

Funktionen

Grenzen bei der Eingabe

sin x, tan x

Deg : 0=| x| =4.499999999 x 10 "
Rad : 0=|x | =785398163.3

Grad : 0=| x | =4.499999999 x 10
fur tan x

Deg : | x| #90 (2n—1)

Rad | x| # g (2n-1)

Grad : | x| #100 (2n-1)

( nist eine ganze Zahl.)

COS X

sin "' x, cos ' x

sinh x, cosh x

0=|x| =230.2585092

tan "' x

0=| x| =9.999999999 x 10 *

tanh x, tanh ' x

0=| x| £9.999999999 x 10 "'

sinh " x, cosh "' x

0=| x| =4.499999999 x 10 *

log x, In x x>0

10~ —9.999999999 x 10 ¥ = x = 99.99999999

e —9.999999999 x 10 ¥ = x = 230.2585092

Jx 0=x<1x10™

x? |x]<1x10%

x' | x|<1x10", x#0

¥x |x|<1x10'®

x! 0=x=69, x ist eine ganze Zahl.

Pol (x,y) | x], |y | =9.999999999 x 10 *°
9.999999999 x 10 *°

Rec (r,6) .999999999 x 10 *

X | =4.499999999 x 10 °
Rad : 0=|x | =785398163.3

Grad : 0=| x | =4.499999999 x 10

fiir tan x

Deg : |6 #90 (2n-1)

Rad: 0] # 3 (2n-1)

Grad : | 0] #100 (2n-1) (n ist eine ganze
Zahl.)
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o1 lal,b,c<1x10', 0=b,c

|x]< 1x10'®

o Umwandlung Sexagesimal «> Dezimal
07070"=| x| 999999 “ 59 7

x” x>0:-1x10"°<ylog x < 100
x=0:y>0

x <0 :y=n, 1/(2n+1), n ist eine ganze Zahl.
Der—1x10 "< ylog | x | <100

y> 0:x#0,-1x10 ®< L logy <100

{/; y=0: x>0
y <0 : x=2n+1, I/n, nist eine ganze Zahl.
(n#0)
Der—1x10™ < log |y | <100
nPr, nCr 0=n=99, r=n, nund r sind ganze
Zahlen
SD | x |<1x10%,| y [<1x10%, | n |<1x10"*
(REG) XGn, Yon, X,y , A, B, r:n#0

XOn-1, Yon-1: N # 0,1

B Fehlerbedingungen

Die Fehleranzeige erscheint auf dem Bildschirm und weitere

Berechnungen werden unmdéglich, wenn eine der folgenden

Bedingungen zutrifft.

Ma ERROR (1) Das Ergebnis einer Rechenoperation mit
einerFunktion Ubersteigt die bestehenden Grenzen.
(2) Bei einer beabsichtigten Division durch Null.
(3) Wenn der zulaRige Eingabebereich von
Funktionsberechnungen den spezifierten Bereich
(iberschreitet.

Stk ERROR Kapazitat des numerischen oder Befehlsstapels

Uberschritten.
Syn ERROR Eine regelwidrige mathematische Rechnung wurde
versucht
Wollen Sie alle eingegebenen Ziffern I6schen, so driicken Sie die
Taste [ ON/ac ].

Grundrechnungen

Fiir Grundrechnungen den COMP Modus be-
nutzen.

B Arithmetische Berechnungen
« Zur Berechnung eines negativen Werts, driicken Sie [ (-) ], bevor
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Sie den Wert eingeben.Sie kdnnen eine Zahl in Form einer Potenz
mit Hochzahl durch Driicken von [ EXP ] eingeben. Vgl. Beispiel 6.

« Arithmetische Berechnungen werden durch Driicken der Tasten in
der entsprechenden Reihenfolge berechnet. Vgl. Beispiel 7.

B Rechnen mit Klammern

« Rechenoperationen in Klammern werden immer zuerst durch-
gefiihrt. Der Rechner kann bis zu 15 Klammeroperationen innerh-
alb einer einfachen Berechnung benutzen. Vgl. Beispiel 8.

B Rechnen mit Prozentsitzen

« Driicken Sie [ 2nd ] [ % ], um den gespeicherten Wert durch 100
zu teilen. Sie kénnen diese Taste zur Berechnung von Prozenten,
Zuschlagen, Abziigen usw. benutzen. Vgl. Beispiel 9~10.

B Bildschirmformate

Dieser Rechner hat die folgenden vier Anzeigemodi zur Anzeige von

Werten.

Normalmodus:

Der Rechner kann bis zu 10 Stellen anzeigen. Werte die diese

Grenze Uberschreiten werden automatisch im Exponentialformat

angezeigt. Die andern zeit Arten der Exponentialanzeige sind:
Normalmodus 1: 10 2> | x|, |x|>10"

Normalmodus 2: 10 °>| x|, |x|>10"

(Hinweis) : Alle Beispiele in dieser Anleitung zeigen
Rechnungsresultate unter Verwendung des
Normalmodus 1.

Technischer Modus : (ENG )

Das Rechnungsresultat wird mit technischen Notationen angezeigt,

mit der vorbestimmten Anzahl von Dezimalstellen und dem

Exponent auf ein Mehrfaches von 3 eingestellt.

Festmodus : ( FIX)

Das Rechnungsresultat wird mit der vorbestimmten Anzahl von

Dezimalstellen angezeigt.

Wissenschaftlicher Modus : ( SCI)

Das Rechnungsresultat wird mit wissenschaftlichen Notationen

angezeigt, wobei die Mantissa des Werts mit der vorbestimmten

Anzahl von Dezimalstellen angezeigt wird.

« For FIX, SCI Notation kann die Anzahl der Dezimalstellen auf
einen Wert zwischen 0 und 9 eingestellt werden. Nachdem die
Dezimalstellen bestimmt worden sind, wird der Anzeigewert zur
entsprechenden Stellenzahl abgerundet und angezeigt. Wenn
keine Stellenzahl oder bedeutende Stellen spezifiziert wurden,
kann der Normalmodus 1 oder 2 verwendet werden.

Vgl. Beispiel 11.
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« Das Driicken von [ ENG ] oder [2nd ][ ET\,G ] bewirkt, dass der
Exponent der angezeigten Zahl als Mehrfaches von 3 angegeben
wird. Vgl. Beispiel 12.

* Wurde die Anzahl der Dezimalstellen besonders festgelegt und
Uberschreitet eine interne Berechnung beim Der Rechner 15 Stel-
len bzw. Zur Rundung des Wertes auf die festgelegte Anzahl an
Dezimalstellen, driicken Sie [ 2nd ] [ RND ]. Vgl. Beispiel 13.

B Kontinuierliche Rechenfunktionen

« Mit dem Taschenrechner konnen Sie die letzte Berechnung durch
Driicken der Taste [ = ] fiir weitere Berechnungen wiederholen.
Val. Beispiel 14.

« Selbst wenn Berechnungen durch das Gleichheitszeichen [ =]
bereits abgeschlossen wurden, kann das Ergebnis fir weitere
Berechnungen herangezogen werden. Vgl. Beispiel 15.

B Antwortfunktionen

« Eine Antwortfunktion speichert das zuletzt berechnete Ergeb-
nis. Es bleibt selbst dann noch erhalten, wenn die Stromzufuhr
abgeschaltet wurde. Jedesmal wenn ein Zahlenwert oder ein
zahlenmaRiger Ausdruck eingegeben werden und die Taste [ =]
gedriickt wird, speichert der Taschenrechner das Ergebnis in der
Antwortfunktion. Vgl. Beispiel 16.

(Hinweis) : Selbst wenn das Ergebnis einer Berechnung fehlerhaft
ist, behalt die Antwortfunktion ihren gegenwartigen
Wert.

Wissenschaftlicher Rechne

Den COMP Modus fiir wissenschaftliche Berech-
nungen benutzen.
B Logarithms and Antilogarithms

« Der Taschenrechner kann allgemeine und naturliche Logarithmen
und Antilogarithmen wie [log ], [In ], [2nd ] [ 10 *], und [ 2nd ]
[ e *] berechnen. Vgl. Beispiel 17~19.

B Berechnung von Briichen

Briiche werden wie folgt dargestellt:

5 1 12 | Berechnung von%

56 1 5 1 12| Berechnung von 56%

(Hinweis) : Werte werden automatisch in Dezimal
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formangezeigt, wenn jeweils die Gesamtzahl der
Stellen von Bruchwerten (ganze Zahl + Nenner +
Separatorzeichen) 10 Uberschreitet.
Zur Eingabe einer gemischten Zahl, gehen Sie in den Integralteil,
riicken Sie [ a b/c ], geben Sie den Zahler ein, driicken Sie [ a b/c ]
und geben Sie dann den Nenner ein. Zur Eingabe eines unechten
Bruchs, geben Sie den Zahler ein, driicken Sie [ a b/c ] und geben
Sie den Nenner ein. Vgl. Beispiel 20.

Das Driicken der Tasten [ 2nd ] [ 9/c ] verwandelt den angezeigten
Wert in einen unechten Bruch.Zur Umwandlung einer Dezimalzahl
in einen Bruch oder umgekehrt, driicken Sie [a P/c] .

Val. Beispiel 21.

Enthalten Rechenoperationen sowohl Briiche, als auch Dezimal-
stellen, werden diese im Dezimalformat berechnet.

Vagl. Beispiel 22.

B Umrechnung von Winkeleinheiten

Sie kénnen die Winkeleinheiten (DEG, RAD und GRAD) einstellen,
indem Sie [MODE] driicken, um den Mode fiir Winkeleinheiten
aufzurufen. Zwischen den drei Winkeleinheiten besteht folgende
Beziehung:

.

180 ° = rad = 200 grad

Umrechnung von Winkeleinheiten(Vgl. Beispiel 23.) :
1. Geben Sie die gewlinschte Winkeleinheit ein.
2. Geben Sie den gewiinschten Wert ein.
3. Driicken Sie [ DRG— ] um den Mode aufzurufen.

Sie kdnnen zwischen den Einheiten D (Stunden),
R (Radiant), G(Gradiant) auswahlen.

4. Geben Sie die Winkeleinheit ein, in die Sie den Wert
umwandel wollen.
5. Driicken Sie [ =].

B Trigonometrische und invers
trigonometrische Funktionen

« Der Rechner ermdglicht lhnen eine Berechnung von standard-
maRigen trigonometrischen und invers-trigonometrischen Funk-
tionen wie - sin, cos, tan, sin ', cos ' and tan .

Val. Beispiel 24~26.

(Hinweis) : Stellen Sie bei der Benutzung dieser Funktionen si
cher, dass der Taschenrechner auf die gewlinschte
Winkeieinheit eingestellt wurde.
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B Hyperbolische und invers-hyperbolische
Funktionen
« Der Rechner erméglicht lhnen eine Berechnung von hyperbolis-
chen und invers-hyperbolischen Funktionen wie - sinh, cosh, tanh,
sinh ™', cosh ' und tanh ~ durch Driicken der Tasten [ 2nd ] [ HYP ].
Vagl. Beispiel 27~28.
(Hinweis) : Stellen Sie bei der Benutzung dieser Funktionen sich
er, dass der Taschenrechner auf die gewiinschte
Winkeieinheit eingestellt wurde.

B  Umwandlung Sexagesimal <> Dezimal

Sexagesimalnotation ist wie folgt :

12759 © 45.6 ° | Reprasentiert 12 Grad, 59 Minuten, 45,6 Sekunden
« Der Rechner fiihrt die Umwandlung zwischen Dezimal- und

Sexagesimalnummern mit [ 09 Jund [ 2nd ] [ 5?,, ] durch. Val.
Beispiel 29~30.

B  Umwandlung in andere Koordinaten

rechteckige Koordinaten polare Koordinaten

X+ yi=r(cos 6 +isin &)
« Der Rehner kann die Umwaqgndlung zwischen Rechteckskoordi-
naten und Polarkordinaten [ ALPHA ] [ Pol (] und [ALPHA]
[ Rec (] durchfiihren. Die Resultate werden automatisch als
Speichervariabeln E und F gespeichert. Vgl. Beispiel 31~32.
(Hinweis) : Stellen Sie bei der Benutzung dieser Funktionen
sicher, dass der Taschenrechner auf die gewlinschte
Winkeieinheit eingestellt wurde.

B Wahrscheinlichkeiten

« Dier Rechner bietet die folgenden Wahrscheinlichkeitsfunktionen :

( Vgl. Beispiel 33~36.

[nPr] Berechnung der Anzahl méglicher Permut tionen
von n Dingen, von denen jeweils r Stlick entnom-
men werden.

[nCr] Berechnung der Anzahl méglicher Kombina-

tionen von n Dingen, von denen jeweils r Stlick
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entnommen werden.

[x!] Berechnung des Faktors eines bestimmten
positiven Integrals x,mit x = 69.

[ RANDOM] Produktion einer Zufallszahl zwischen 0.000 und
0.999

B Andere Funktionen (x, v ,v ,¥ , x4 x*x’)
« Der Rechner bietet ebenfalls Reziproke ( [ x ~'] ), Quadratwurzeln

([ 1) Kubikwurzeln ( [-gl-" 1), Universalwurzeln [ ¥ ], uad-
rat- ([x2]), Kubik- ([ x ®]) und Exponentialfunktionen ([ x”1).
Vgl. Beispiel 37~40.

Standardderivationsrechnung

Den SD-Modus fiir Standardderivationsrechnungen
benutzen.

« Immer den Statistikspeicher I6schen indem [ 2nd ] [ Scl ] gedriickt
wird, bevor Standardderivationen berechnet werden.

Individuelle Daten kdnnen mit [ DT ] eingegeben werden. Zum
Ldschen von soeben eingegebenen Daten ist [ 2nd ] [ CL] zu
driicken. Mehrfachdaten desselben Werts kénnen mit [ 2nd] [ ; ]
eingegeben werden. Zum Beispiel, um Daten 15mal einzugeben
ist15[2nd ][;]7 [ DT ] zu driicken.

Die Werte der statistischen Variabeln sind von den eingegebenen
Daten abhangig. Diese kénnen durch die in untenstehender
Tabelle angegebenen Tastenbetatigungen eingegeben werden.
Val. Beispiel 41.

.

Tx2 [RCL]+[[A]] X [2nd]+[x]
£x [RCL]+[[B] ] XGn [2nd ]+ [XOn]
n [RCL1+[[C]] XGn1 [2nd]+[XOn1]

Regressionsrechnung

Fiir Regressionsrechnungen den REG Modus verwenden.

[ MODE ] 3 driicken, um auf das REG Menii zu schalten und eine
der sechs Regressionsarten wahlen, indem der entsprechende Ar-
gumentwert gedriickt wird, wie folgt:

) =]
Lin Log Exp” > | €Pwr Inv Quad
1 2 3 [«] 1 2 3
Lin Lineare Regression y=A+Bx
Log Logarithmische Regression y=A+BInx
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Exp Exponentielle Regression y=A+e™

Pwr Leistungsregression y=Aex®
B
Inv Inversionsregression y=A+
Quad Quadratische Regression y=A+Bx+Cx?

« Vor der Durchfiihrung von Regressionsrechnungen ist der Statis-
tikspeicher immer mit [ 2nd ] [ Scl ] zu I&schen.

Individuelle Daten kénnen mit [ DT ] eingegeben werden. Zum
Léschen von gerade eingegebenen Daten ist [ 2nd ] [ CL ] zu
driicken. Mehrfache Daten desselben Werts kdnnen mittels
[2nd ] [; ] eingegeben werden. Um zum Beispiel die Daten 40
und 55 zehnmal einzugeben ist folgendes zu driicken: 40 [ »] 55 [
2nd][;]110[DT].

Die Werte der statistischen Variabeln sind von den eingegebenen
Daten abhangig. Sie kénnen durch Tastenbedienungen abgerufen
werden, die in der untenstehenden Tabelle gezeigt sind. Um
einen Wert fiir x voranzugeben (oder y) wenn ein Wert for y (oder
x) bekannt ist, (Ajen gegebenen Wert eingeben und [ 2nd ] [ 9 ]
(oder [ 2nd ] [ X ] ) drlicken, und dann [ = ] nochmals driicken.
Val. Beispiel 42~43.

Ix* | [RCL]+[[A]] XGn [2nd]+[XGn]
x| [RCL]+[[B]] X0t | [2nd ]+ [XOn1]

n | [RCLI+([[C]] y [2nd]+[y]
Ty* | [RCL]+[[D]] Yon | [2nd]+[yGnl
Xy | [RCLI+[[E]] Yor1 | [2nd]+[yGna]
Ixy | [RCL]+[[F]] A [2nd]+[A]
rx? [RCL]+[] B [2nd]+[B]
Exzy [RCL]+[] C [2nd]+[C]
Ex* | [RCL]+[[Y]] r [2nd]+[r]
X | [2nd]+[X] X [2nd]+[X]
y | [2nd1+(§]

(Hinweis) : Die Variablen £x*, £x?y sind nur bei Quadratischer
Regression verfugbar.
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Guide Général

B Mettre en Marche ou Eteindre

Pour mettre la calculatrice en marche, pressez [ ON/ac ] et presses
[ OFF ] pour I'éteindre.

B Changement des Piles

Cette calculatrice est alimentée par 2 piles alcalines G13 (LR44).
Lorsque I'affichage perd de sa netteté, veuillez remplacer les plies.
Faites attention de ne pas vous blesser lors du remplacement des
piles.

1. Dévissez les vis situées au dos de la calculatrice.

2. Introduisez la lame plate d'un tournevis dans la fente entre le
haut et le bas du boitier puis tourner doucement dessus pour
I'enlever.

3. Enlevez les deux plies et jetez-les aussitot. Ne jamais laisser
les enfants jouer avec.

4. Essuyez les nouvelles piles avec untissus sec pour obtenir
un bon contact.

5. Insérer les deux nouvelles piles le cot é plat (pble plus) en
haut.

6. Alignez le haut et le bas du boitier puis appuyez dessus pour
fermer.

7. Resserez les vis.

®  Fonction Arrét Automatique

Cette calculatrice s’éteint automatiquement lorsqu’elle n’est pas
opérée pendant environs 9~15 minutes. Elle peut étre réactivée en
pressant la touche [ ON/ac ] et I'affichage avec la mémoire revien-
nent a leur état d’avant l'arrét.

B Opération de Réinitialisation

Si la calculatrice est en marche mais que vous obtenez des resul-
tants indésirables, presses quatre fois [ ON/ac ] et [ MODE ] pour
afficher le menu ci-dessous. Un message apparait alors sur I'écran
pour confirmer si vous souhaitez ou non reprogrammer la calcula-
trice et clarifier le contenu de la mémoire aprés avoir pressé [ 2 ].

[2] * |:|

Pour clarifier toutes les variables, toutes les opérations en attente,
les données statistiques, les réponses, les entrées précédentes et
la mémoire, veuillez presser [ 2 ]. Pour arréter 'opération de repro-
grammation sans clarifier la calculatrice, veuillez presser [1 ].

Si la calculatrice est verrouillée et que d’autres opérations devien-
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nent impossibles, veuillez utiliser un objet pointu pour presser le trou
de réinitialisation en méme temps pour débloquer cette condition.
Tous les réglages par défaut seront restitués.

B Ajustement de Contraste

Pressez [a] ou [v] aprés avoir pressé la touche [ MODE ] pour ren-
dre le contraste de I'écran plus clair ou plus sombre. Maintenez ces
touches pressées pour rendre I'affichage encore plus clair ou plus
sombre.

B Lecture d’Affichage

L’affichage comprend la ligne d’entrée, la ligne de résultats et les
indicateurs.

Indicateur — |

Ligne d’entrée

BEG
- 74-8/7
72.85714286—]

Ligne d’Entrée La calculatrice affiche une entrée jusqu’a 79 chif-
fres. Ces entrées commencent sur la gauche;
celles avec plus de 11 chiffres défilent vers la
gauche. Pressez [ » ] ou [« ] pour bouger le cur-
seur au travers d’une entrée. Cependant, lorsque
vous entrez le 73¢ chiffre de tout calcul, le curseur
change de “ _ ” en “W” pour vous indiquer que la
mémoire fonctionne a I'état faible. Si vous avez
besoin d’encore plus d’entrées, veuillez diviser
votre calcul en deux parties ou plus.

Ligne de Résultat La calculatrice affiche un résultat jusqu’a 10 chif
fres, y compris une décimale, un signe
négatif, un indicateur “ x10 ” et deux exponentiels
positifs ou négatifs.

Indicateurs Les indicateurs ci-dessous apparaissent sur
I'écran pour indiquer I'état actuel de la calculatrice.
Indicateur Sens

Indicateur

Ligne de résultat

M Mémoire indépendente
- Résultat négatif
2nd 2é& ensemble de fonctions activé
[A] Les Touches Alphabétiques (
s ~ ) sont actives.
STORCL STO : Le Mode Stockage de Variable
est actif.
RCL : Recalling variable mode is active
SD Mode statistique activé

REG Le Mode Régression est actif.
DEGRADMode angulaire: DEGrés, GRADians ou
RADians
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ENG Anotation ingénieur

SCI Anotation scientifique

FIX Nombre fixé de décimales affichées

HYP Fonction hyperbole-trig en cours de
calcul

BUSY Lorsqu’une opération est en cours

€ = |llyades chiffres sur la gauche et la
droite de I'écran

A ¥ Des résultats précédents ou suivants
peuvent étre affichés

Avant de Commencer le Calcul

B Sélection de Mode

Chaque fois que vous pressez [ MODE ], un menu aux fonctions
variées ainsi que leurs valeurs-arguments correspondant au mode
désiré est indiqué sur I'écran. Il inclut trois modes de calcul (COMP,
SD, REG), trois unités d’angle (DEG, RAD, GRAD), quatre notations
d’affichage (FIX, SCI, NORM, ENG) et la fonction de redéfinition
(RESET).
Entrer une valeur-argument peut programmer cette calculatrice pour
qu’elle puisse opérer comme vous le souhaitez. Voici un exemple :
1. Presse une fois [ MODE ] pour afficher le menu du mode de
calcul.
2. Entrez [ 2] pour permettre a cette calculatrice d’étre opérée
sous le mode de dérivation standard.

COMP SD REG (21 o0 oee
, |-

1 2 3 0.

m Utiliser les Touches “ 2nd ”

Lorsque vous pressez [ 2nd ], l'indicateur “ 2nd” sur I'écran vous
rappelle que vous allez sélectionner la seconde fonction de la tou-
che suivante que vous devez ensuite presser. Si vous pressez [ 2nd
] par erreur, pressez-la de nouveau pour annuler I'indicateur.

B Curseur

Pressez la touche [ » ] ou [« ] pour déplacer le curseur sur la
gauche ou la droite. Maintenez-la pressée pour bouger le curseur
plus rapidement. Pressez [ 2nd ] [«] ou [ 2nd ] [+ ] pour faire défiler
I'écran vers le haut ou le bas lorsque les entrées précédentes sont
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dissimulées par I'écran. Vous pouvez ré-utiliser ou ré-éditer une en-
trée précédente lorsqu’elle se trouve sur la ligne d’entrée.

B Effectuer des Corrections durant une Entrée

Pour effacer un caractére sur le curseur, sous-lignez ce caractére
avec [ »] ou [« ] pour bouger le curseur, puis pressez [ DEL ] pour
I'effacer.

Pour changer de caractére, sous-lignez ce caractére en utilisant [ » ]
ou [« ] pour bouger le curseur, puis effectuez une nouvelle entrée
pour terminer le changement.

Pour insérer un caractere, bougez le curseur sur la position ou le
caractére est a insérer; ce caractére sera inséré devant aprés avoir
pressé [ 2nd ] [ INS ] et avoir entré un nouveau caractére.

(Note) : Le curseur clignotant “ £1 ” signifie que la calculatrice est
en mode d’insertion. Si le curseur clignote avec “_", cela
signifie que la calculatrice est en mode d’écriture.

Pour clarifier tous les caractéres, il suffit de presser la touche
[ON/ac].

B Fonction de Répétition

Cette fonction stocke I'opération la plus récente. Aprés avoir ef-

fectué I'exécution, pressez [ 2nd ][] ou [ 2nd ][+ ] pour afficher

I'opération depuis le début ou la fin. Vous pouvez continuer a

déplacer le curseur avec [ » ] ou [« ] pour I'éditer. Pour effacer un

chiffre, pressez [ DEL ] (ou en mode d'écriture, réécrivez juste sur

le chiffre). Voir 'Exemple 1.

La fonction de répétition peut conserver des chiffres jusqu’a

256 caractéres pour La calculatrice. Une fois que 'opération est

terminée ou durant une entrée, vous pouvez presser [ 2nd ] [ ]

ou [ 2nd ] [¥] pour afficher les étapes d’entrée précédentes et
éditer des valeurs ou commandes pour pour une exécution sub-

séquente. Voir 'Exemple 2.

(Note) : La fonction de répétition n’est pas clarifiée méme lorsque
[ ON/ac ] est pressé ou que I'alimentation est coupée. Son
contenu peut donc étre rappelé méme aprés avoir pressé
[ ON/ac ].Cependant, la fonction de répétition est annulée
lorsque le mode est changé.

B Fonction d’Affichage de Position d’Erreur

« Lorsque vous effectuez un calcul mathématique illégal, la fonc-
tion d’affichage de position d’erreur vous indiquera avec l'aide du
curseur ou se trouve I'erreur. Pressez [ » ] ou [« ] pour déplacer
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le curseur et corriger cette erreur. Vous pouvez aussi clarifier une
erreur en pressant [ ON/ac ], puis ré-entrer les valeurs et expres-
sions depuis le début. Voir 'Exemple 3.

m Calcul avec Mémoire

Mémoire Indépendante

.

Pressez [M+] pour ajouter un résultat a la mémoire en cours.

Pressez [ 2nd] [ M—] pour soustraire la valeur depuis la mémoire en

cours. Pour rappeler la valeur dans la mémoire en cours, pressez

[2nd ][RCL] [ [M]].Pour clarifier la mémoire en cours, pressez

[0]1[STO][[M]].Voir lExemple 4.

(Note) : En plus de presser la touche [ STO ] pour stocker uealeur,
vous pouvez également assigner des valeurs sur la vari-
able de mémoire M par [ M+ ] ou [ M—].

Variable de Mémoire

La calculatrice posseéde neuf variables de mémoire pour une uti-
lization répétée: A, B, C,D, E, F, M, X, Y. Vous pouvez stocker
un nombre réel dans n'importe quelle des neufs variables de mé-
moire. Voir Exemple 5.
* [STO]+ [F1,[M], ou [X]~[Y] vous permet de sau-
vegarder les valeurs des variables.
* [2nd][RCL]ou[ALPHA]+ [F],[M], ou
rappelle les valeur de la variable.
* [0][STO]+ [M], ou [X]~[Y] clarifie le con-
tenu d’une variable de mémoire spécifique.
* [2nd ][ Mcl][ =] clarifie toutes les variables.

m  Pile

Cette calculatrice utilise des zones de mémoire appelées “piles”
pour stocker temporairement les valeurs (pile numérique) et les
commands (pile des commandes) selon leur ordre dans les calculs.
La pile numérique posséde 10 niveaux et la pile des commandes
24. Une erreur de pile se produit (Stk ERROR) lorsque vous es-
sayez d’effectuer un calcul trop complexe et que la capacité de la
pile est dépassée.

B Ordre des Opérations

Caque calcul est effectué dans I'ordre séquentiel suivant :
1) Transformation de coordonnées .
2) Fonctions de Type A, qui qui sont requises en pressant une
touche fonction avant d’entrer, par exemple,x 2, 0393, x |, x".

3) x V.
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4) Fractions.

5) Format de multiplication abbrégée devant les variables,
variables, .

6) Fonctions de Type B, qui sont requises en pressant une tou-
che fonction avant d’entrer, par exemple, sin, cos, tan, sin -,
cos ', tan 7', sinh, cosh, tanh, sinh ', cosh ', tanh ', log, In,
10%, e X,V (=),

7) Format de multiplication abbrégée devant les fonctions de
Type B, 23, Alog2, etc.

8) nPr,nCr

9) x,=

10) +, —

Lorsque des fonctions avec la méme priorité sont utilisées

en série, I'exécution s’effectue alors de droite a gauche.
e” In120— e *{In(120)}

sinon, I'exécution se fait de gauche a droite.

Les fonctions composées sont exécutées de droite a

gauche.

« Le contenu des parenthéses est absolument prioritaire.

Précision et capacité

Précision de sortie : Jusqu’a 10 chiffres
Calculer les chiffres : Jusqu’a 15 chiffres

En régle générale, chaque calcul raisonnable est affiché jusqu’'a
10 chiffres mantissa ou 10 chiffres mantissa plus 2 une exponentielle

de 2

chiffres jusqu’a 10 *.

Les nombres utilisés comme entrées doivent étre dans la gamme de
la fonction donnée comme suit :

Fonctions Gamme d’Entrée
sin x, tan x Deg : 0=| x | =4.499999999 x 10 "
Rad : 0=| x| =785398163.3

Grad : 0=| x | =4.499999999 x 10 "
Cependant, pour tan x

Deg : | x| #90 (2n-1)

Rad : x| # 7 (2n-1)

Grad ‘| x| #100 (2n—1) ( n est un entier)

€oS X Deg : 0= | x | =4.500000008 x 10 "
Rad : 0= | x | =785398164.9
Grad : x | =5.000000009 x 10
sin " x, cos ' x 0=|x|
sinh x, cosh x 0=|x| =230.2585092
tan " x 0=| x| =9.999999999 x 10 *
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tanh x, tanh ™ x

0=| x| =9.999999999 x 10 ~"

sinh ™ x, cosh ™' x

0= x| =4.499999999 x 10 *

log x, In x x>0
10~ —9.999999999 x 10 *° = x = 99.99999999
e* —9.999999999 x 10 ¥ = x = 230.2585092
Jx 0=x<1x10"
x? |x]<1x10%
x |x]<1x10' x#0
¥x |x]<1x10'
x! 0=x=69, x est un entier.
Pol (x,y) | x|, |y| =9.999999999 x 10 *°
x 2 +y2<9.999999999 x 10 ¥
Rec (1, 0) <9.999999999 x 10 *
<4.499999999 x 10 °
x| =785398163.3
Grad : 0=| x| =4.499999999 x 10 "
Cependant, pour tan x
Deg : | 6] #90 (2n—1)
Rad 0] # 3 (2n-1)
Grad : |6 #100 (2n—1) ( n est un entier )
01 lal,b,c<1x10',0=b,c
|x]< 1x10'®
571! Sexagésimale «> Transformation de la Décimale
070°0%=|x| 999999 " 59 -
x” x>0:-1x10"°<ylog x < 100
x=0:y>0
x<0:y=n, 1/(2n+1), n est un entier.
mais — 1 x 10 "< ylog | x | <100
y> 0:x#0,-1x 10 < L log y <100
W y=0: x>0 *
y <0 :x=2n+1, I/n, n est un entier.(n#0)
mais —1x 10 '® < % log | y | <100
nPr, nCr 0=n=99, r=n, n et r sont des entiers.
SD | x |<1x10%,| y [<1x10%, | n |<1x10"®
(REG) XGn, Yon, X,y ,A, B, r:n#0

XOn-1, Yon-1: N # 0,1

m  Condition d’Erreur
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Un message d’erreur apparaitra sur I'écran et tout calcul deviendra
impossible lorsqu’une des conditions suivantes se produit :
Ma ERROR (1)Lorsque le résultat du calcul dépasse la limite
atrsée.
(2)Vous essayez de diviser par 0.

(3)Lorsque la gamme d’entrée autorisable des
calculsde fonction dépasse la portée spécifique.

Stk ERROR La capacité de la pile numérique ou de la pil
d’opérateur est dépassée.

Syn ERROR Vous avez essayé d'effectuer une opération
mathématique illégale.

Pour résoudre les erreurs ci-dessus, veuillez presser la touche

[ON/ac 1.

Calcul de Base

Utilisez le mode COMP pour les calculs de base,

B Calcul Arithmétique

« Pour les valeurs négatives,pressez [ (-) ] avant d’entrer la valeur.
Vous pouvez entrer un nombre dans une mantissa et une forme
d’exponentielle avec la touche [ EXP ]. Voir 'Exemple 6.

« Les opérations arithmétiques sont effectuées en pressant les
touches dans la méme séquence que dans I'expression. Voir
'Exemple 7.

B Claculs avec Parenthéses

« L'opération entre parenthéses est toujours calculée en premier.
La calculatrice peut utiliser jusqu'a 15 niveaux de parenthéses
consécutives dans un seul calcul. Voir 'Exemple 8.

B Calculs avec Pourcentages

*[2nd ][ % ] divise le nombre sur I'écran par 100. Vous pouvez
utiliser cette séquence de touche pour calculer des pourcent-
ages, des remises, des ajouts et des taux de pourcentage.
Voir 'Exemple 9~10.

B Formats d’Affichage

Cette calculatrice posséde les quatre modes de notation d’affichage
suivants pour la valeur d’affichage.

Notation de Norme(Norm) :

Cette calculatrice peut afficher jusqu’a 10 chiffres. Cependant, les
valeurs qui dépassent cette limite sont affichées automatiquement
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dans un format exponentiel. Il existe deux types de formats
d'affichage exponentiel:

Mode “Norm 17 : 10 2> | x|, | x[>10 "

Mode “Norm 2” : 10 > | x|, | x[>10"
(Note) : Tous les exemples dans ce manuel indiquent des resultants
de calcul utilisant le mode “Norm 1”.

Notation d’Ingénieur : (ENG )

Le résultat de calcul est affiché en utilisant la notation d’ingénieur,
ol la mantissa de la valeur est affichée avec le nombre des places
de décimale spécifiées et ou I'exposant est défini sur un multiple de
3 pour l'affichage.

Notation Fix:(FIX)

Le résultat de calcul est affiché avec le nombre des places de

décimale spécifiées.

Notation Scientifique : ( SCI)

Le résultat de calcul est affiché avec la notation scientifique, ou la

mantissa de la valeur est affichée avec le nombre des places de

décimale spécifiées.

« Pour la notation FIX, SCI, le nombre des places de décimale
peut étre défini sur tout valeur entre 0~9. Aprés avoir spécifié le
nombre des places de décimale, la valeur d’affichage sera ar-
rondie sur le nombre de chiffres correspondant. Lorsqu’aucune
spécification n'a été effectuée pour le nombre de places de déci-
male ou de chiffres signifiants, les modes “Norm 1” et “Norm 2”
peuvent étre utilisés. Voir Exemple 11.

« Pressez [ENG]ou [2nd ][ gng ] pour changer I'affichage du
nombre exponential par des multiples de 3. Voir Exemple 12.

+ Méme si le nombre des locations décimales est précisé, le calcul
interne pour une mantisse est effectué jusqu’a 15 chiffres pour
La calculatrice, et la valeur d’affichage est stockée en 10 chiffres.
Pour arrondir les valeurs sur le nombre spécifié de décimales,
pressez [ 2nd ] [ RND ]. Voir 'Exemple 13.

B Fonction de Calcul Continu

« La calculatrice vous permet de répéter la derniere opération
exécutée en pressant la touche [ = ]. Voir 'Exemple 14.

« Méme si les calculs sont concluses avec la touche [ =], le résultat
obtenu peut étre utilisé pour un autre calcul. Voir 'Exemple 15.

B Fonction de Réponse

« La fonction de réponse stocke le résultat calculé le plus récem-
ment. |l est retenu méme aprés que I'allumage soit coupé.
Une fois avoir entré une valeur ou une expression numérique

-F10-



et avoir pressé [ =], le résultat est stocké par cette fonction.
Voir 'Exemple 16.
(Note) : Méme si I'exécution d’un calcule résulte en une erreur,
la mémoire de réponse retient tout de méme sa valeur
actuelle.

Calculatrice Scientifique

Utilisez le mode COMP pour les notations sci-
entifiques.

B Logarithmes et Antilogarithmes

« La calculatrice est en mesure de calculer des logarithmes et
antilogarithmes normales et naturelles en utilisant [ log ], [ In ],
[2nd][107], et[2nd ][ e *]. Voir 'Exemple 17~19.

B FCalculs avec Fraction

La valeur de fraction est affichée comme suit :

5
56 5 5 12 Af'ﬁchagede56ﬁ

(Note) : Les valeurs sont affichées automatiquement dans le
format décimal lorsque le nombre total des chiffres des
valeurs fractionnelles (entier + numérateur + dénomina-
teur + marques séparatrices ) dépasse 10.

Pour entrer un nombre mixte, entrez la partie entiére, pressez

[ a b/c ], entrez le numérator, pressez [ a b/ ] et enfin entrez le dé-

nominateur. Pour entrer une fraction incorrecte, entrez le numéra-

teur, pressez [ a b/c ] et entrez ensuite le dérateur, pressez [ a b/c ]

et entrez ensuite le dénominateur. Voir 'Exemple 20.

En pressant [ 2nd ] [ 9/c ], la valeur affichée sera convertie sur la

fraction incorrecte et vice versa. Pour convertir une décimale en

une fraction, pressez [ a b/c ]. Voir 'Exemple 21.

Les calculs contenant des fractions et des décimales sont effec-

tués sous le format décimal. Voir 'Exemple 22.

B Conversion des Unités Angulaires

Les unités angulaires (DEG, RAD, GRAD) sont définies en pres-
sant [ MODE ] poru afficher le menu d’angle. La relation entre les
trois unités angulaires est la suivante :

180 ° = mrad = 200 grad
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Conversions angulaires ( Voir 'Exemple 23.) :
1. Changez les définitions d’angle par défaut sur les
unités désirées.
2. Entrez la valeur de l'unité a convertir.
3. Pressez [ DRG— ] pour afficher le menu.

Les unités pouvant étrepo sélectionnées sont D
(degrés ), R(radians ), G( Gradians ).
4. Choisissez les unités a convertir.
5. Pressez[=].
B Fonctions de Trigonométrie/Tri. Inversée
« La calculatrice fournissent des fonctions trigonométriques stan-
dards et trigonométriques inversée. - sin, cos, tan, sin”", cos™ et
tan ™. Voir 'Exemple 24~26.
(Note) : En utilisant ces touches, assurez-vous que la calculatrice
soit bien définie sur I'unité angulaire désirée.
B Hyperbolic / Inverse-Hyp. functions

« La calculatrice utilise [ 2nd ] [ HYP ] pour calculer les fonctions
d’hyperbole et d’hyperbole inversée- sinh, cosh, tanh, sinh ',
cosh™ et tanh ~'. Voir 'Exemple 27~28.

(Note) : En utilisant ces touches, assurez-vous que la calculatrice
soit bien définie sur I'unité angulaire désirée.

B Sexagésimale <> Transformation Décimale

La notation sexagésimale est comme suit

12759 © 45.6 ©| Représente 12 Degrés, 59 Minutes, 45.6 Secondes

« La calculatrice peut effectuer la conversion entre les nombres
décimaux et sexagésimaux par[ os» ] et [2nd ][ 57,, ].
Voir Exemple 29~30.

B Transformation de Coordonnées

Coordonnées rectangulaires Coordonnées polaires

X+ yi=r(cos 6 +isin0)
« La calculatrice peut effectuer la conversion entre des coordon-
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nées rectangulaires et des coordonnées polaires par [ ALPHA

][ Pol (] et [ALPHA] [Rec(]. Les resultants de calcul sont

stockés automatiquement dans les variables de mémoire E et F.

Voir Exemple 31~32.

(Note) : En utilisant ces touches, assurez-vous que la calculatrice
soit bien définie sur I'unité angulaire désirée.

B Probabilité
« Cette calclatrice offer les fonctions suivantes de probabilité: (\Voir
Exemple 33~36.

[nPr] Calcule le nombre de permutations possibles
de I'élément n pris r @ un temps donné.

[nCr] Calcule le nombre de combinaisons possibles
de I'élément n pris r a un temps donné.

[x!] Calcule la factorielle d’un entier x positif et

spécifié, ou = 69.
[ RANDOM] Génére un nombre au hasard entre 0.000 et
0.999

m  Autres Fonctions (x™, /¢ ,¥ , x5 x*x")
La calculatrice offer aussi les functions réciproques ([ x '] ),
racine carrée ([, 1), racine cubique ([% 1), racine universelle
([¥ 1), carré ([x?]), cubique ([x °]) et exponentielles ([ x"]).

Voir Exemple 37~40.

Calcul de Dérivation Standard

Utilisez le mode SD pour les calculs de derivation
standard.

.

« Assurez-vous toujours de clarifier la mémoire statistique avec

[ 2nd ] [ Scl ] avant d’effectuer le calcul de dérivation standard.
« Des données individuelles peuvent étre entrées en utilisant [ DT ]
; pour effacer les données entrées a l'instant, veuillez presser
[2nd ][ CL]. Les données multiples de la méme valeur peuvent
étre entrées en utilisant [ 2nd ] [ ; ]. Par exemple, pour entre sept
fois la donnée 15, pressez 15[2nd ] [;] 7 [DT].
Les valeurs des variables statistiques varient selon les données
entrées. Vous pouvez les rappeler avec les opérations de touche
indiquées dans le tableau ci-dessous. Voir Exemple 41.

Tx2 [RCLI+[ [A] ] X [2nd]+[X]
Y [RCL]+[[B] ] XOn [2nd ]+ [XOn]
n [RCLI+[[C]] XOn [2nd ]+ [XOnt]
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Calcul de Régression

Utilisez le mode REG pour le calcul des régressions.

Pressez [ MODE ] 3 pour passer dans le menu REG, puis choisis-
sez un des six types de régression en pressant la valeur-argument,
comme suit:

Lin Log Exp> ——> | €Ppwr Inv Quad
1.2 3 (] 1 2 3
Lin GRégression Linéaire y=A+Bx
Log GRégression Logarithmique  y=A+ B Inx
Exp GRégression Exponentielle y=A.e®™
Pwr GRégression de Puissance y=A+x®
Inv GRégression Inversée y=A+ e

X

Quad GRégression Quadratique y=A+Bx+Cx?
« Assurez-vous toujours de clarifier la mémoire statistique par [ 2nd ] [

Scl ] avant d’effectuer le calcul de régression.

« Des données individuelles peuvent étre entrées en utilisant [ DT ] ;
pour effacer les données entrées a l'instant, veuillez presser
[2nd ][ CL]. Les données multiples de la méme valeur peuvent
étre entrées en utilisant [ 2nd ] [ ; ]. Par exemple, pour entrer dix
fois les données 40 et 55, pressez40[>]155[2nd ][;]110[DT].
Les valeurs des variables statistiques varient selon les données
entrées. Vous pouvez les rappeler avec les opérations de touche
indiquées dans le tableau ci-dessous. Pour prédire une valeur
pour x (ou y) donné une valeur pour y (ou x), entrez la valeur don-
née, pressez [2nd ] [)A/] (or[2nd] [)A( 1) et presses de nouveau
[ =1 Voir Exemple 42~43.

x® | [RCL]+[[A]] XGn [2nd]+[XGn]
£x | [RCLI+[[B]] XOnt | [2nd]+[XGn1]
n | [RCL]+[[C]] y [2nd]+[y]

Iy* | [RCL]+([[D]] yon | [2nd]+[yon]
Iy | [RCLI+[[E]] | yon | [20d]+[YGn1]

.

Exy | [RCL]+[[F]] A [2nd]+[A]
Ex® | [RCL]+[[M]] B [2nd]+[B]
x| [RCL]+[[X]] c [2nd]+[C]
¥x* | [RCL]+[[Y]] r [2nd]+[r]
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X [2nd]+[X] [2nd]+[X]

<> X >

[2nd]+[]

(Note) : les variables =x *, £x %y sont seulement disponibles en
regression quadratique.
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Guida Generale

B Accensione e speghimento

Per accendere la calcolatrice, premere [ ON/AC ] ; per spegnere la
calcolatrice, premere [ OFF ].

B Sostituzione batterie
La calcolatrice € alimentata da due batterie alcaline G13(LR44).

Quando lo schermo si diventa opaco, sostituire le batterie. Fare
attenzione ad evitare di provocarsi lesioni durante la sostituzione
delle batterie.

1. Svitare le viti nella parte posteriore della calcolatrice.

2. Inserire un cacciavite piatto nello slot tra la parte
superiore ed inferiore poi fare leva con il cacciavite
per separare le due parti.

3. Rimuovere le due batterie smaltirle in modo
appropriato. Non lasciare che i bambini giochino
con le batterie.

4. Pulire le batterie nuove con un panno sciutto per
avere un contatto buono.

5. Inserire le due nuove batterie con lati piatti
(terminali positivi) verso l'alto.

6. Allineare la parte superiore ed inferiore e chiuderle
fino a che non scattano.

7. Stringere le viti.

B Funzione di autospegnimento
Questa calcolatrice si spegne automaticamente quando non viene
usata per circa 9~15 minuti. Pud essere riattivata premendo |l
tasto [ ON/AC ], senza perdere i dati su schermo, la memoria e le
regolazioni.

B Operazione Reset
Se la calcolatrice € accesa ma si ottengono risultati inattesi,
premere [ ON/AC ] e poi [MODE] quattro volte per visualizzare il
menu di sotto.
Compare un messaggio sullo schermo per confermare il reset
della calcolatrice e per eliminare tutti contenuti della memoria
dopo aver premuto [ 2 ].

ENG RESET 2] RESET:N Y
1 2 1 2

Per eliminare tutte le variabili, operazioni in sospeso, dati statistici,
risposte, tutti ingressi precedenti, e memoria, premere [ 2 ]. Per
abbandonare il reset senza eliminare i dati della calcolatrice,
premere [ 1].

Se il calcolatore & bloccato ed ulteriori operazioni di tasto
diventano impossibili, si prega di usare un oggetto appuntito per
premere il foro di reimpostazione e per rilasciare
contemporaneamente la condizione. Tutte le impostazioni
ritorneranno sulla posizione prggze_finita.
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B Regolazione del Contrasto
Premendo [A] o [ V] piu il tasto [ MODE ] si pud schiarire o scurire
il contrasto dello schermo. Tenere premuto uno dei tasti per far
diventare lo schermo, rispettivamente, piu chiaro o piu scuro.

W Display readout
Lo schermo comprende la linea di immissione, la linea del risultato
e gli indicatori.
Indicatore

Indicatore

DEG —

L 74-817
72.85714286—

Linea d'immissione

Linea del risultato

Linea di immissione La calcolatrice mostra un'immissione fino a 79
cifre. Le immissioni cominciano da sinistra ;
quelle con piu di 11 cifre scorrono a sinistra.
Premere [»] o [4] per spostare il cursore
attraverso un'immissione. Tuttavia, sempre
che immettere la 732 cifra di qualunque
calcolo, il cursore cambiera da “ “a “m” per
indicare memoria bassa. Se bisogna
immettere piu cifre, dovra dividere suo calcolo
in due o piu parti.

Linea del risultato  Visualizza un risultato fino a 10 cifre, cosi
come un decimale, un segno negativo, un
indicatore " x10 ", e un esponente positivo o
negativo di 2 digiti.

Indicatori | seguenti indicatori appaiono sullo schermo
ad indicare lo stato attuale della calcolatrice.

Significato del Indicatore

M Memoria indipendente

— Risultato & negativo

2nd Secondo insieme di tasti funzione attivo

Tasti Alfabetici ([A]~ [F], [M], [X]~[Y]) attivi.

STORCL STO : Modalita per Salvare variabile attiva
RCL : Modalita per Richiamare variabile attiva

SD Modalita Statistica attiva

REG Modalita Regressione attiva

DEGRAD Modalita angolo: DEG=gradi,
GRAD=gradians, o RAD=radianti

ENG Notazione tecnica

SCI Notazione Scientifica

FIX Il numero di posti decimali visualizzati & fisso
HYP  Viene calcolata la funzione iperbolical/trig.
BUSY Indica esecuzione di una operazione

€ = Cisono cifre a sinistra o a destra dello scherm

A V¥ Ci sono risultati precedenti o successivi da
visualizzare
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Prima di iniziare i calcoli

B Selezione di Modalita
Ogni volta che si preme [MODE], sono indicati sullo schermo i vari
menu di funzioni e tutti i valori di argomento corrispondenti alla
modalita desiderata. Si includono tre modalita di calcolo (COMP,
SD, REG), tre unita angolo (DEG, RAD, GRAD), quattro notazioni
di visualizzazione (FIX, SCI, NORM, ENG) e funzione reset
(RESET).

Immettendo un valore di argomento pud impostare I'operazione
desiderata per questa calcolatrice. Prendiamo “SD” come
esempio :
1. Premere [ MODE ] una volta per visualizzare il menu della
modalita calcolo.
2. Immettere [ 2 ] per fare questa calcolatrice da operare sotto
modalita deviazione standard.

COMP SD REG SD DEG

1 2 3 | —@& | -

B Usando tasti “2nd"
Premere [ 2nd ] e poi il tasto corrispondente. Quando si preme
[ 2nd ], compare l'indicatore “2nd“nello schermo ad indicare che
sara selezionata la seconda funzione del prossimo tasto premuto.
Se si preme [ 2nd ] per sbaglio, premere ancora [ 2nd ] per
rimuovere I'indicatore “2nd".

B Cursore
Premendo [»] o [ 4] si pu0 spostare il cursore a sinistra o a destra.
Mantenere premuto uno dei tasti per spostare velocemente il
cursore.

Premendo [ 2nd ] [A] o[ 2nd ] [ V] si pu0 far scorrere lo schermo
su o giu quando sullo schermo ci sono immissioni precedenti
nascoste. Si pud riutilizzare o modificare un'immissione
precedente quando € sulla linea di immissione.

W Correzioni durante la battitura
Per cancellare un carattere sul cursore, sottolineare il carattere
usando [»] o [d] per spostare il cursore, e quindi premere [ DEL ]
per cancellare il carattere.
Per sostituire un carattere sul cursore, sottolineare il carattere
usando [»] o [d] per spostare il cursore, quindi digitare un nuovo
dato per sostituire il carattere.
Per inserire un carattere, spostare il cursore sulla posizione del
carattere dove si desidera inserirlo, sara inserito davanti al
carattere dopo aver premuto [ 2nd ] [ INS ] e aver battuto un nuovo
carattere.
(Nota): Il cursore lampeggiante “;, “ significa che la calcolatrice &

nella modalita di inserzione. Al contrario, il cursore
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“ o

lampeggiante é visualizzato come “_" a significare che la
calcolatrice & nella modalita di sovrascrittura.

Per eliminare tutti i caratteri immessi, premere il tasto [ ON/AC ].

B Funzione Replay

Questa funzione salva [l'ultima operazione eseguita. Dopo
dell’'esecuzione, premendo [ 2nd ] [A] o [ 2nd ] [V] visualizzera
I'operazione dal inizio o fine. Pud continuare spostando il cursore
attraverso [P»] o [4] per modificarla. Per annullare una cifra,
premere [ DEL ]. ( o, nella modalita di sovrascrittura, basta digitare
sulla cifra). Vedi Esempio 1
La funzione replay puo ripetere 'immissione di cifre fino a 256
caratteri per la calcolatrice. Dopo di aver completato I'esecuzione,
pud premere [ 2nd ] [A] o [ 2nd ] [Y] per visualizzare passi
precedenti di immissione e valori o commandi da modificare per
esecuzione successiva. Vedi Esempio 2
(Nota): La funzione replay non si cancella nemmeno premendo
[ ON/AC ] 0 spegnedo la calcolatrice, quindi si pud
richiamare i contenuti anche dopo aver premuto [ ON/AC ].

Funzione di Posizione dell’Errore

Quando si effettua un calcolo matematicamente illegale, la
funzione di posizione dell’errore dira con il cursore dove si trova
I'errore. Premere [P] o [ 4] per spostare il cursore, quindi battere il
valore corretto. Si pud anche cancellare un errore premendo
[ ON/AC ] e reimmettendo valori ed espressioni dall'inizio. Vedi
Esempio 3

Calcoli di Memoria
Memoria indipendente
Premere [ M+ ] per aggiungere un risultato alla memoria corrente.
Premere [ 2nd ] [ M- ] per togliere il valore dalla memoria corrente.
Premere [ 2nd ] [ RCL ] [ ] per richiamare il valore dalla
memoria corrente. Premere [ 0 ] [STO] [ ] per eliminare il
contenuto dalla memoria corrente. Vedi Esempio 4
(Nota): Oltre alla pressione del tasto [ STO ]per salvare un valore,
si pud anche assegnare valori alla variabile di memoria M
con[M+]o[M-].
Variabile di Memoria
= La calcolatrice ha nove variabili di memoria per uso
ripetuto: A, B, C, D, E, F, M, X, Y. Si pud memorizzare un
numero reale in una di queste nove variabili di memoria.
Vedi Esempio 5
* [STO]+ ~[F][M], o[X]~ permette di memorizzare i
valori in variabili.
* [2nd][RCL]o[ALPHA1+ [A]~[F][M] o[X]~[Y]
richiama il valore ddi variabile.
* [O0][STO]+ ~[F],[M], o[X]~ elimina il contenuto di
una variabile specificata.
* [2nd ][ Mcl ][ =] cancella tutte le variabili.
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B Stack

Questa calcolatrice usa aree di memoria, chiamate “stacks”, per
salvare valori temporaneamente (stack numerico) e comandi
(stack comando) secondo loro priorita durante i calcoli. Il stack
numerico ha 10 livelli e il stack comando ha 24 livelli. Un errore di
stack (Stk ERROR) accade ogni volta che si esegue un calcolo piu
complesso che oltrepassa la capacita de un stack.

B Ordine delle operazioni
Ogni calcolo € effettuato nella seguente ordine di precedenza:
1) Trasformazione di coordinate.

2) Funzioni di tipo A, che richiedono di inserire valori prima di
premere un tasto funzione, per esempio, x %, 09, x | | x ~

3) ¥, 4

4) Frazioni.

5) Formato abbreviato di moltiplicazione davanti a variabili, =.
6) Funzioni di tipo B che richiedono la pressione di un tasto

funzione prima dell'immissione, per esempio, sin, cos, tan,
sin ™!, cos 7', tan 7', sinh, cosh, tanh, sinh ~', cosh ', tanh ',

log, In, 10, €%, ./ , 3/ , (9.

7) Formato abbreviato di moltiplicazione di fronte a funzioni Tipo
B, 243, Alog2, etc.

8) nPr, nCr

9) x,=+

10) +, —

¢ Quando funzioni con la stessa priorita sono usate in serie,
I'esecuzione € svolta da destra a sinistra.

e*In120 > e *{In(120)}

altrimenti, I'esecuzione & da sinistra a destra.

e Le funzioni composte sono eseguite da destra a sinistra.

e Qualunque cosa all'interno di parentesi riceve la massima
priorita.

B Accuratezza e capacita

Cifre visualizzate : fino a 10 cifre

Cifre calcolate : fino a 15 cifre

In generale, ogni calcolo ragionevole & visualizzato fino ad un

massimo di mantissa 10 cifre, o0 mantissa 10 cifre piu esponente a
2 cifre fino a 10 *%°.

| numeri usati per l'immissione devono essere all'interno della
gamma di funzione data, come indicato di seguito:

Funzioni Gamma di Immissione

sin x, tan x Deg : 05 | x | S 4.499999999 x 10 °
Rad : 05 | x | £ 785398163.3
Grad : 0S | x | S 4.499999999 x 10 '°

-It6-

CBM_SR270N_It_HDBR260AT11_100505.doc SIZE:140x75mm
SCALE 2:1 2010/7/14




tuttavia, per tan x
Deg:|x|#* 90 (2n-1)

Rad : | x| * %(2n—1)

Grad : | x| # 100 (2n—1) (n € un intero)

COoSs X

Deg : 05 | x | £ 4.500000008 x 10 °
Rad : 0S | x | £ 785398164.9
Grad : 05 | x | £ 5.000000009 x 10 *°

sin " x, cos " x

0S | x|S 1

sinh x, cosh x

0S | x| S 230.2585092

tan 7' x

05 | x | £ 9.999999999 x 10 *°

tanh x, tanh =" x

05 | x| £ 9.999999999 x 10

sinh X, cosh Tx

05 | x | £ 4.499999999 x 10 *°

log X, In x x>0
10” ~9.999999999 x 10 ** £ x £ 99.99999999
e’ ~9.999999999 x 10 *° £ x £ 230.2585092
Jx 0s x<1x10 "%
x 2 | x|<1x10 %0
x™ Ix|<1x10"® x% 0
3x Ix]< 1x10 "%
x! 0= x = 69, x & un intero.
Pol (x,y) Ix],|y|S 9.999999999 x 10 *°
x % +y 2= 9.999999999 x 10 %
Rec (r, 0) 0= r £ 9.999999999 x 10 %
Deg : 05 | x | £ 4.499999999 x 10 °
Rad : 05 | x | £ 785398163.3
Grad : 0= | x | £ 4.499999999 x 10 ™
tuttavia, per tan x
Deg:| @] # 90 (2n-1)
Rad: | 4| # % (2n-1)
Grad: | | # 100 (2n—1) (n & un intero)
0y lal,b,c<1x10' 0= b,c

CBM_SR270N_It_HDBR260AT11_100505.doc
2010/7/14

SCALE 2:1

-It7-

SIZE:140x75mm




S |x|< 1x10 '

Trasformazione Sessagesimale «» Decimale
OP0P0"=|x|£999999 " 59"

y x>0: -1x10" < ylog x < 100
x=0:y>0

x<0:y=n,1/(2n+1), n &€ un intero.
Ma —1x10 ' < ylog | x| <100

Iy y>0:x%0-1x10 "< logy <100
X

y=0: x>0
y<0:x=2n+1,1/n,n & unintero. (n ¥ 0)

Ma-1x 10 "% <l log |y | <100
X

nPr, nCr 0= n= 99, r< n,n, rsono interi.
SD | x [<1x10°%| y [<1x10%°, | n |<1x10"°°
(REG)

XGn, yon, X, ;,A, B,r:n #0

Xon-1, Yyon-1:n ¥ 0,1

B Condizioni di Errore

Compare un messaggio di errore sullo schermo e diventa
impossibile proseguire nei calcoli in una qualunque delle seguenti
circostanze.

Ma ERROR (1) Quando risultato dei calcoli della funzione
fuoriesce dall’intervallo specificato.

(2) Tentativo di dividere per O.

(3) Quando si sono immessi valori fuori dell’intervallo
valido dei calcoli della funzione.

Stk ERROR Capacita del stack numerico o stack operatore
fuori dell’intervallo valido.

Syn ERROR  Tentativo di eseguire una operazione matematica
Impropria.
Per uscire dai suddetti errori, premere il tasto [ ON/AC ].

Calcoli di Base

Usare la modalita COMP per calcoli di base.
B Operazioni aritmetiche

Per i valori negativi, premere [ (—) ] prima di immettere il valore; Si
pud immettere un numero in forma di mantissa e di esponente con
il tasto [ EXP ]. Vedi Esempio 6

Operazioni aritmetiche sono eseguite premendo tasti nella stessa
sequenza della espressione. Vedi Esempio 7.

B Calcolo com parentesi
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Le operazioni in parentesi sono sempre svolte prima. La
calcolatrice puo usare fino a 15 livelli di parentesi consecutive in
um singolo calcolo. Vedi Esempio 8

Calcolo della percentuale

[2nd] [ % ] divide per 100 il numero sullo schermo. Si pud usare
questa sequenza di tasti per calcolare percentuali, aggiunte, sconti
e rapporti di percentuale. Vedi Esempio 9~10.

Formati di Visualizzazione

Questa calcolatrice ha le seguenti quattro modalita di notazione di
visualizzazione per il valore visualizzato.

Notazione Standard :

Questa calcolatrice pu0 visualizzare fino a 10 cifre Tuttavia | valori
maggiori che il limite sono visualizzati automaticamente nella
forma esponenziale. Ci sono due tipi di forme di visualizzazione
esponenziale :

Modalita Standard 1: 102> | x|, |x|Z 10
Modalita Standard 2: 10 °> | x|, |x |2 10"

(Nota): Tutti esempi in questo manuale mostrano risultati di
calcolo usando modalita Standard 1.

Notazione tecnica : ( ENG )

Risultato di calcolo € visualizzato usando notazione tecnica,
dove la mantissa del valore € visualizzato con il numero di posti
decimali specificato e 'esponente € impostato a un multiple di 3
per visualizzazione.

Notazione Fissa ( FIX)

Risultato di calcolo € visualizzato con il numero di posti decimali
specificato.

Notazione Scientifica ( SCI )

Risultato di calcolo & visualizzato usando notazione tecnica,
dove la mantissa del valore € visualizzato con il numero di posti
decimali specificato.

e Per notazione FIX, SCI, si pud impostare il numero di posti

decimali a ogni numero fra 0~9. Dopo di aver specificato il numero
di posti decimali, il valore di visualizzazione si arrotondera al
numero corrispondente di cifre e sara visualizzato. Se non si
specifica il numero di posti decimali o cifre significative, la modalita
Standard 1 e Standard 2 potrano essere usata. Vedi Esempio 11

Premendo [ ENG ] o [ 2nd ] [E\IG] causera visualizzazione del

esponente ed il numero potra essere cambiato in multiple di 3.
Vedi Esempio 12.

Anche se il numero di posti decimali sia specificato, calcolo interno
per la mantissa € eseguito fino a 15 cifre per La calcolatrice, e il
valore visualizzato € salvato in 10 cifre. Per arrotondare questi
valori al numero specificato di posti decimali, premere [ 2nd ]
[ RND]. Vedi Esempio 13
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B Funzione di calcolo continuo
e La calcolatrice permette di ripetere l'ultima operazione eseguita
premendo il tasto [ =] per calcoli ulteriori. Vedi Esempio 14

¢ Anche se calcoli sono conclusi con il tasto [ =], il risultato ottenuto
puo essere usato per calcoli ulteriori. Vedi Esempio 15

B Funzione Risposta

e La funzione di risposta salva lultimo risultato ottenuto. E
mantenuto anche dopo che si spegne l'alimentazione. Una volta
che si inserisce un valore numerico o0 un'espressione numerica e
si preme [ = ], il risultato & salvato in questa funzione. Vedi

Esempio 16.
(Nota) : Anche se l'esecuzione di un calcolo provoca un errore,
tuttavia, la memoria di risposta mantiene il valore corrente.

Calcolo Scientifico

Usare la modalita COMP per calcoli scientifici.

B Logaritmo e antilogaritmo

e La calcolatrice pud calcolare logaritmi e antilogaritmi comuni e
naturali usando [log ], [In], [2nd ] [ 10" ], e [ 2nd ] [ &*]. Vedi
Esempio 17~19.

B Calcolo di Frazione
Il valore di frazione si visualizza come di seguito :

5 ;12 | Visualizzazione di %

56 ;5 ;12 | Visualizzazione di 56%

(Nota):  Valori sono visualizzati in forma decimale quando il
numero totale di cifre de valori frazionari (intero +
numeratore + denominatore + segni di separazione)
eccede 10.

e Per digitare un numero misto, battere la parte del numero intero,
premere [aP/c], digitare il numeratore, premere [aP/c], e digitare il
denominatore; Per digitare uma frazione impropria, battere il
numeratore, premere [aP/c], e battere il denominatore. Vedi
Esempio 20.

e Premendo [ 2nd ] [d/c], il valore visualizzato sara convertito in
frazione impropria e viceversa. Per convertire un risultato decimale
in frazionario e viceversa, premere [ab/c]. Vedi Esempio 21.

¢ | calcoli che contengono sia frazioni che decimali sono calcolati nel
formato decimale. Vedi Esempio 22.

B Conversione unita degli angoli
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L'unita angolare (DEG, RAD, GRAD) si imposta premendo
[ MODE ] per visualizzare il menu di angolo. Il rapporto fra le tre
unita degli angoli é :

180° =« rad = 200 grad
Conversione degli angoli ( Vedi Esempio 23.) :

1. Cambiare le impostazioni di default degli angoli alle unita in cui
si desidera convertire.

2. Immettere il valore dell’'unita da convertire.

3. Premere [ DRG— ] per visualizzare il menu.

D R G
1 2 3

Le unita che si pud selezionare sono D(gradi), R(radianti),
G(Gradians).

Scegliere le unita da cui si converte.

Premere [ =1].

o s

B Funzioni Trigonometriche / Trig. Inverse
e La calcolatrice fornisce le funzioni trigonometriche standard e le
funzioni trigonometriche inverse -sin, cos, tan, sin ", cos ' e tan .
Vedi Esempio 24~26.
(Nota) : Durante uso di questi tasti, assicurarsi che la calcolatrice
sia regolata sull’'unita degli angoli desiderata.

B Funzioni Iperboliche / Ip. Inverse
e La calcolatrice usa [ 2nd ] [ HYP ] per calcolare le funzioni
iperboliche e le funzioni iperboliche inverse -sinh, cosh, tanh,
sinh ", cosh " e tanh . Vedi Esempio 27~28.
(Nota) : Durante uso di questi tasti, assicurarsi che la calcolatrice
sia regolata sull'unita degli angoli desiderata.

B Trasformazione Sessagesimale e Decimale
Notazione sessagesimale &€ come di seguito

120 590 45 60 | Rappresenta 12 Gradi, 59 Minuti, 45.6 Secondi

e La calcolatrice pud eseguire la conversione fra numeri decimale e
sessagesimale attraverso [0°»] e [ 2nd ] [&y» ]. Vedi Esempio
29~30.

B Trasformazione delle Coordinate
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Coordinata rettangolare Coordinate Polare

Y Y
- ————1P(XY) P(r, 6)
I
y [ r
| 0
0 X X 0 X

X+ yi=r(cos @ +isin )
e La calcolatrice pud eseguire la conversione fra coordinate
rettangolare e coordinate polare attraverso [ ALPHA ][ Pol (] e
[ ALPHA ] [ Rec ( ]. Risultati dei calcoli sono automaticamente
salvati in variabili di memoria E e F. Vedi Esempio 31~32.
(Nota) : Durante uso di questi tasti, assicurarsi che la calcolatrice
sia regolata sull’unita degli angoli desiderata.

B Probabilita

e Questa calcolatrice fornisce le seguenti funzioni di probabilita :
( Vedi Esempio 33~36.)

[nPr] Calcolare il numero possibile di permutazioni di n
elemento prendendo r a ogni volta.

[nCr] Calcola il numero di combinazioni possibili di n
prendendo r a ogni volta.

[x!] Calcola il fattoriale di un numero intero x positivo

specificato, dove x = 69.
[ RANDOM ] Genera un numero casuale fra 0.000 e 0.999

m Altre funzioni (x™, |/ , 3, ¥, x5 X%, x)
e La calcolatrice fornisce anche le funzioni reciproco ( [x"] ), radice

quadrata ( [ \/_ ] ), radice cubica ( [%/_] ), radice universale [{/_ 1,

quadrato ([ x* 1), cubico ([ x*]) e esponenziazione ([ xY]).
Vedi Esempio 37~40.

Calcolo di Deviazione Standard

Usare la modalita SD per calcoli di deviazione
standard.

e Assicurasi sempre di cancellare la memoria statistica con [ 2nd ]
[ Scl ] prima di eseguire calcolo di deviazione standard.

e Dati individuali possono essere immessi usando [ DT ] ; Per
cancellare dati appena immessi, premere [ 2nd ] [ CL ]. Dati
multipli di stesso valore possono essere immessi usando [ 2nd]
[ ; ]. Per esempio, per immettere il dato 15 sette volte, premere 15
[2nd ][;]7[DT]
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e | valori di variabili statistiche dipendono dei dati immessi. Si
possono richiamare dati immessi usando le operazioni di tasto
mostrate nella tavola di sotto. Vedi Esempio 41.

% x 2 [RCL]+[[A]] x [2nd ]+ [x ]
T X [RCL]+[[B]] Xan [2nd ]+ [ XOn ]
n [RCL]+[[C]] XOn-1 [2nd ] + [ XOn-1]

Calcolo di Regressione

Usare la modalita REG per calcoli di regressione.
Premere [ MODE ] 3 per visualizzare il menu REG e poi scegliere
uno dei sei tipi di regressione premendo il valore di argomento
corrispondente, come di seguito :

Lin Log Exp 2 ] o |*Pwr Inv Quad
1 2 L] 1 2 3
Lin Regressione Lineare y=A+BX
Log Regressione Logaritmica y=A + B Inx
Exp Regressione Esponenziale y = A « e B
Pwr Regressione di Potenza y=A+x?
Inv Regressione Inversa y=A+ B
X

Quad Regressione Quadratica y=A+Bx+ C x 2

e Assicurarsi sempre di cancellare la memoria statistica con [ 2nd ]
[ Scl ] prima di eseguire calcolo di regressione.

e Dato individuale pud essere immesso usando [ DT ] ; Per
cancellare dato appena immesso, premere [ 2nd ] [ CL ]. Dati
multipli di stesso valore possono essere immessi usando [ 2nd ]
[ ; ]. Per esempio, per immettere il dato 40 e 55 dieci volte,
premere 40[,]55[2nd][;]10[DT].

e | valori delle variabili statistiche dipendono dei dati appena
immessi. Usare le operazioni di tasto per richiamare i dati come
mostrate nella tavola di sotto. Per predire un valore per x (oY)
dato un valore pery (o x), immettere il valore dato, premere [ 2nd ]

[yl([2nd][x]), e premere [ =] nuovamente. Vedi Esempio
42~43.

=x2 |[RCL]+[[A]] XOn [2nd ]+ [ XOn]
x |[RCL]+[[B]] XOn-1 | [2nd ]+ [ XOn-1]
n |[RCL]+[[C]] y | [2nd]+[y]
>y? |[RCL]+[[D]] yon | [2nd]+[yon]
>y |[RCL]1+[[E]] yont | [2nd ]+ [yon-1]
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> Xy [RCL]+[] A [2nd ] +[A]
>x® |[RCL]+[[M]] B [2nd]+[B]
x?% |[RCL]+[[X]] C [2nd]+[C]
zx* |[RCL]+[[Y]] r [2nd ]+ [r]
x |[2nd]+[x] X [2nd]+[X]
y | [2nd]+1y]

(Nota) : Variabili =x *, =x %y sono disponibili soltanto in regressione
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Algemene inleiding

H Aan- en uitzetten

Om de rekenmachine aan te zetten, drukt u op [ ON/AC ]; Om de
rekenmachine uit te zetten, drukt u op [ OFF ].

B De batterijen vervangen
De rekenmachine gebruikt twee G13 (LR44) alkalische- batterijen.

Als het beeldscherm zwakker wordt en de gegevens moeilijk
leesbaar worden, moet u de batterijen vervangen. Let op dat u
zichzelf niet verwondt tijdens het vervangen van de batterij.

1. Draai de schroeven aan de achterkant van de rekenmachine
los.

2. Plaats een platte schroevendraaier in de sleuf tussen de
bovenste en onderste behuizing en draai hem voorzichtig om
de behuizing te verwijderen.

3. Verwijder de oude batterijen en werp ze onmiddellijk weg. Hou
de batterijen buiten bereik van kinderen.

4. Veeg de nieuwe batterijen af met een droge en propere vod
om een goed contact te garanderen.

5. Plaats de nieuwe batterijen in het compartiment met de platte
kant (positieve kant) naar boven.

6. Plaats de bovenste en onderste behuizing terug.

7. Draai de schroeven vast.

B Automatisch uitschakelen (Auto Power-Off)

Deze rekenmachine schakelt automatisch uit na ongeveer 9~15
minuten zonder activiteit. Zet de rekenmachine opnieuw aan door op
de toets [ ON/AC ] te drukken. Het beeldscherm, het geheugen en de
instellingen worden onthouden en zullen niet beinviloed worden
wanneer de rekenmachine automatisch uitschakelt.

B Het opnieuw instellen

Wanneer de rekenmachine tijdens de werking niet reageert of
ongewone resultaten vertoont, drukt u op [ ON/AC ] en vervolgens vier
maal op [ MODE ] om het onderstaande menu weer te geven. Op het
beeldscherm zal nu een bericht verschijnen dat u vraagt of u al dan
niet de rekenmachine opnieuw wil instellen en de geheugeninhoud
wil wissen.

ENG RESET 2] RESET:N Y
1 2 1 2

Druk op [ 2 ] om alle variabelen, programma’s, wachtende taken,
statistische gegevens, antwoorden, vorige invoer en geheugen te
wissen. Druk op [ 1 ] indien u het opnieuw instellen van de
rekenmachine wilt annuleren.

Wanneer de rekenmachine geblokkeerd is en niet op toetsaanslagen
reageert, gebruik dan een fijn, puntig voorwerp om de reset-knop,
aan de achterkant van de rekenmachine, in te drukken en deze
situatie te verhelpen. Deze handeling zal alle instellingen terugzetten
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naar de standaardinstellingen.

B Het contrast bijregelen

Druk op de [ MODE ] toets en druk vervolgens op [A] of [¥] om het
contrast te verlagen of te verhogen. Hou één van beide toetsen
ingedrukt om het beeldscherm donkerder of lichter te maken.

B Het beeldscherm
Het beeldscherm bestaat uit het de invoerregel, de resultaatregel, en

de indicators.
Indicator DEG

Invoerregel

Invoerregel

Indicator

L 74-817
72.85714286 —

Resultaatregel

De rekenmachine kan ingevoerde getallen weergeven
met maximaal 79 cijfers. De ingevoerde getallen
beginnen aan de linkerkant; getallen met meer dan 11
cijfers schuiven op naar links. Druk op [»] of [€4] om
de cursor doorheen een ingevoerd getal te verplaatsen.
Wanneer u het 73st cijfer van een berekening invoert
dan verandert de cursor van “” in “@a” om u te
informeren dat u geheugen bijna vol is. Indien u nog
meer wenst in te voeren, moet u uw berekening

opsplitsen in twee of meerdere delen.

Resultaatregel Het beeldscherm kan een resultaat met 10 cijfers,

weergeven in decimale vorm, met een minteken,
met een " x10 " indicator en met een positieve of
negatieve exponent van 2 cijfers.

Indicators  De volgende indicators verschijnen op het
beeldscherm om de huidige status van de
rekenmachine aan te geven.

Indicator Betekenis

M Zelfstandig geheugen

— Het resultaat is een negatief getal

2nd De tweede functietoets is actief.

[A] De alfabetische toetsen ( [A] ~ [F], [M],
~|Y]) zijn actief.

STORCL STO : De modus voor het opslaan van een

variabele is actief
RCL : De modus voor het opvragen van een
variabele is actief

SD De statistische modus is actief

REG Regressiemodus is actief

DEGRAD Hoekmodus : DEGrees, GRADs, of RADs

ENG Technische (engineering) notatie.

SCI Wetenschappelijke notatie.

FIX Het aantal decimalen dat getoond wordt
staat vast

HYP De hyperbolische functie zal berekend
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worden
BUSY Er wordt een bewerking uitgevoerd

€ > Er staan nog meer cijfers aan de linker- of
rechterkant van het beeldscherm

NV Er zijn vroegere of latere resultaten die
weergegeven kunnen worden

Alvorens het uitvoeren van berekeningen

B Een modus selecteren

Telkens u op [ MODE ] drukt, zullen er verschillende functiemenu’s
met hun overeenkomstige argumentwaarden op het beeldscherm
weergegeven worden. Deze rekenmachine heeft drie
bewerkingsmodi (COMP, SD, REG), drie hoekeenheden (DEG, RAD,
GRAD), vier weergaveformaten (FIX, SCI, NORM, ENG) en de
functie voor het opnieuw instellen (RESET).

Toets de argumentwaarde om de rekenmachine in de gewenste
werkingsmodus in te stellen. Voorbeeld: Zet uw rekenmachine in de
modus voor het berekenen van de standaardafwijking door “SD* te
selecteren :

1. Druk eenmaal op [ MODE ] om het menu met de
bewerkingsmodi te selecteren.

2. Toets [ 2]in om de rekenmachine op de modus voor het
berekenen van de standaardafwijking in te stellen.

COMP SD REG SD DEG
1 2 3 | —@& S -

B De “2nd" toetsen gebruiken

Wanneer u op de [ 2nd ] toets drukt, zal de " 2nd " indicator op het
beeldscherm verschijnen om u te verwittigen dat u de tweede functie
gaat openen van de volgende toets die u indrukt. Indien u per
ongeluk op de [ 2nd ] toets drukt, druk dan nogmaals op de [ 2nd ]
toets om de " 2nd " indicator te laten verdwijnen.

B Cursor

Druk op de [ € ] of [ > ] toets om de cursor naar links of rechts
verplaatsen. Hou één van beide toetsen ingedrukt om de cursor aan
een hoge snelheid te verplaatsen. Druk opde [2nd ] [ ¥ ] of [ 2nd ]
[ A ] toets om het beeldscherm naar boven of beneden te schuiven
en eerdere invoer of antwoorden te bekijken. U kunt eerdere invoer
opnieuw gebruiken of wijzigen wanneer het zich op de invoerregel
bevindt.

B Verbeteringen maken tijdens het intoetsen

Om een teken met de cursor te wissen, onderlijnt u het teken door
de cursor aan de hand van de [P] of [4] toets op de gewenste
plaats te brengen en drukt u op [ DEL ] om het teken te wissen. Elke
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keer dat u op [ DEL ] drukt, zal u het teken direct links van de cursor
wissen.

Om een teken te vervangen, onderlijnt u het teken door de cursor
aan de hand van de [»] of [4] toets op de gewenste plaats te
brengen en toetst u het nieuwe getal in om het vorige teken te
vervangen.

Om een teken in te voegen, verplaatst u de cursor naar de positie
waar u het teken wilt invoegen. Vervolgens drukt u op [ 2nd ] [ INS ]
en toetst u het gewenste teken in.

(Opmerking):De knipperende cursor “ o’ betekent dat de
rekenmachine zich in de invoermodus bevindt. Wanneer

de knipperende cursor als “_” weergegeven wordt dan
bevindt de rekenmachine zich in de overschrijfmodus.

Druk op de [ ON/AC ] toets om alle ingevoerde tekens te wissen.

B De herhaalfunctie

e De herhaalfunctie (Replay) slaat de laatst uitgevoerde bewerking
op. Nadat de bewerking is uitgevoerd kunt u op de [ 2nd ] [A] of
[ 2nd ] [ V] toets drukken om de bewerking vanaf het begin of het
einde weer te geven. U kunt de cursor verder verplaatsen aan de
hand van [»] of [4]Jom de waarden of opdrachten te bewerken.
Om een cijfer te verwijderen, drukt u op [ DEL ]. (of, in de
overschrijfmodus, typt u gewoon over het cijfer). Zie Voorbeeld 1.

e De herhaalfunctie van de rekenmachine kan ingevoerde gegevens
tot 256 tekens opslaan. Na de uitvoering of tijdens het invoeren,
kunt u op [2nd ] [A] of [ 2nd ] [ V] drukken om de invoerstappen
weer te geven en waarden of opdrachten te bewerken voor
volgende uitvoering. Zie Voorbeeld 2.

(opmerking) :De herhaalfunctie wordt niet gewist, zelfs wanneer u op
[ ON/AC ] drukt of de rekenmachine uitschakelt. U kunt
dus zelf de inhoud opvragen nadat u op [ ON/AC ]
gedrukt heeft.

B Foutieve invoer weergeven

e Wanneer er een ongeldige rekenkundige bewerking wordt
ingevoerd dan zal de cursor u tonen waar de fout is. Druk op [»]
of [4] om de cursor te verplaatsen en toets vervolgens de
correcte waarde in. U kunt ook een fout wissen door op [ ON/AC ]
te drukken en vervolgens de waarden en de uitdrukking opnieuw
in te toetsen vanaf het begin. Zie Voorbeeld 3.

B Berekeningen met het geheugen

Zelfstandig geheugen

e Druk op [ M+ ] om een resultaat aan het actief geheugen toe te
voegen. Druk op [ 2nd ] [ M= ] om de waarde uit het actief
geheugen te wissen. Om de waarde in het actief geheugen op te
vragen, druktuop [ 2nd ] [ RCL ]. Om het actief geheugen
te wissen drukt uop [0 ] [STO] [ ]. Zie Voorbeeld 4.

(Opmerking): U kunt niet alleen waarden opslaan door op de [ STO ]
toets te drukken, maar u kunt ook waarden toewijzen
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aan de geheugenvariabele M door op [ M+ ] of [ M—] te
drukken.
Geheugenvariabele

e De rekenmachine heeft negen geheugenvariabelen voor
herhaaldelijk gebruik: A, B, C, D, E, F, M, X en Y. U kunt een
werkelijk getal in de negen variabelen opslaan. Zie Voorbeeld 5.

* [STO]+ ~[F], [M], of [X] ~ slaat de waarden op in de

variabelen.

* [2nd][RCL]of [ALPHA ]+ [A]~[F] [M] of[X]~[Y] vraagt

de waarde van de variabele op.

* [0][STO]+ [A]~[F],[M] of[X]~[Y] verwijdert de inhoud

van een opgegeven geheugenvariabele.

[2nd ][ Mcl ] [ =] verwijdert alle variabelen.

B Het stapelgeheugen

Deze rekenmachine gebruikt geheugenplaatsen, die “stapels”
genoemd worden, voor het tijdelijk opslaan van bepaalde waarden
(numerieke stapel) en opdrachten (opdrachtstapel) overeenkomstig
met hun bewerkingsvolgorde. De numerieke stapel heeft 10 niveaus
en de opdrachtstapel heeft 24 niveaus. Een stapelfout (Stk ERROR)
zal zich voordoen wanneer u een bewerking uitvoert die zo complex
is dat de capaciteit van het stapelgeheugen overschreden wordt.

B Volgorde van de bewerkingen

Elke berekening wordt uitgevoerd in de volgende prioriteitsvolgorde:
1) Coodrdinaattransformatie.

2) Functies van het type A die het invoeren van waarden vereisen

aIvore?s u op de functietoets kunt drukken, bijvoorbeeld, x?, 03,
x!,x7.

3) ¥, {‘/_

4) Breuken.

5) Verkort vermenigvuldigingsformaat dat zich voor de variabelen
bevindt, .

6) Functies van het type B die het indrukken van de functietoets
vereisen alvorens het invoeren, bijvoorbeeld, sin, cos, tan, sin -1
cos ~', tan 7, sinh, cosh, tanh, sinh ™', cosh 7', tanh 7, log, In,
10%,e*, \ , ¥ en (-).

7) Verkort vermenigvuldigingsformaat dat zich voor functies van het
type B, 243, Alog2, enz.... bevindt.

8) nPr, nCr

9) x,=+

10) +, —

e Wanneer functies met dezelfde prioriteit gebruikt worden in een
reeks, dan worden deze functies uitgevoerd van rechts naar links.

e” In120—» e *{In(120)}
In andere gevallen gebeurt de uitvoering van links naar rechts.
e Samengestelde functies worden uitgevoerd van rechts naar links.

*
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e De gegevens binnen de haakjes hebben altijd de hoogste
prioriteit.

B Nauwkeurigheid en capaciteit

Uitvoer : tot 10 cijfers.

Berekening: tot 15 cijfers

In het algemeen wordt elke logische berekening weergegeven door
een mantisse (het getal dat voor de exponent staat) met maximum
10 cijfers of een mantisse met 10 cijfers plus een exponent met 2
cijfers tot 10 *%°.

De ingevoerde getallen moeten zich bevinden in het bereik van de
onderstaande functies:

Functies Invoerbereik

sin x, tan x Deg : 0% | x | £ 4.499999999 x 10 "°
Rad : 0 | x | £ 785398163.3

Grad : 05 | x | £ 4.499999999 x 10 '°
Voor tan x is dit echter:
Deg:|x]|#* 90 (2n-1)

Rad : x| * %(2n—1)

Grad : | x| # 100 (2n—1) (n is een geheel getal)

COS X Deg : 05 | x | £ 4.500000008 x 10 °
Rad : 0S | x | £ 785398164.9
Grad : 05 | x | £ 5.000000009 x 10 *°

1

sin " x, cos 7 x 0% |x|[S 1
sinh x, cosh x 0S | x| S 230.2585092
=
tan " x 05 | x | £ 9.999999999 x 10 *°

—
tanh x, tanh ™" x 0S | x | £ 9.999999999 x 10 ™

sinh ™' x, cosh ™' X | 02 | x| £ 4.499999999 x 10 *°

log X, In x x>0
10~ ~9.999999999 x 10 ¥ £ x £ 99.99999999
e ~9.999999999 x 10 ¥ £ x £ 230.2585092
Jx 0 x<1x10'®
x° | x|<1x10 %0

=
X Ix|<1x10"° x% 0
3y Ix|< 1x10 "%
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x|

0= x = 69, x is een geheel getal.

Pol (x,y)

Ix], |y|S 9.999999999 x 10 #°
x 2 +y 2= 9.999999999 x 10 %

Rec (r, 9)

0= r £ 9.999999999 x 10 ¥
Deg : 0= | x | £ 4.499999999 x 10 °
Rad : 05 | x | £ 785398163.3

Grad : 0= | x | £ 4.499999999 x 10 '°
Voor tan x is dit echter:
Deg:| @| # 90 (2n-1)

T

Rad:| 6]+ - (2n-1)

Grad: | @] # 100 (2n—1) (n is een geheel getal)

o

lal,b,c<1x10' 0= b,c

-
(O} R}

|x]< 1x10 '
Sexagesimale <« Decimale transformatie
OF0"0P=s|x|=999999 " 59 ¢

x>0: —1x10 " <ylogx <100
x=0:y>0

x<0:y=n, 1/%2n+1), n is een geheel getal.
maar —1 x 10 " < ylog | x|<100

y>0:x%0,-1x10 <1 logy <100
X

y=0: x>0
y<0:x=2n+1,1/n, nis een geheel (n # 0)

maar -1 x 10 ' < 1 log |y | <100
X

nPr, nCr 0S n £ 99, r = n, n, rzijn gehele getallen.
SD | x [<1x10°%| y |<1x10%°, | n |<1x10"%°
(REG) Xon, YOn, X, ; A,B,r:n *0

Xon-1, yon-1:n ¥ 0,1

B Foutmeldingen

Een foutmelding zal op het beeldscherm verschijnen en verdere
berekeningen zullen onmogelijk worden wanneer er zich één van de
onderstaande situaties voordoet.

Ma ERROR (1) Wanneer het resultaat van de
functieberekeningen het opgegeven bereik
overschrijdt.

(2) U hebt geprobeerd een deling door 0 uit te
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voeren.

(3) De invoerwaarden overschrijden het
toegelaten invoerbereik van de
functieberekeningen.

Stk ERROR De capaciteit van de numerieke stapel of de
operatorstapel is overschreden.
Syn ERROR U hebt geprobeerd een wiskundige bewerking

uit te voeren die ongeldig is.

Druk op de [ ON/ac ] toets om de bovenstaande foutmeldingen te
wissen.

Basisbewerkingen

Gebruik de COMP modus voor het uitvoeren van
basisbewerkingen.

B Rekenkundige bewerkingen

e \oor negatieve waarden, drukt u op [ (-) ] alvorens de waarde in
te geven; U kunt een getal in mantisse en de exponenti€le vorm
invoeren aan de hand van de [ EXP ] toets. Zie Voorbeeld 6.

¢ Rekenkundige bewerkingen worden uitgevoerd door de toetsen in
te drukken in dezelfde volgorde als de uitdrukking. Zie Voorbeeld
7.

B Berekeningen met haakjes

e Bewerkingen binnen de haakjes worden altijd eerst uitgevoerd. De
rekenmachine kan 15 niveaus van opeenvolgende haakjes in een
enkele berekening verwerken. Zie Voorbeeld 8.

B Procentberekening
e Drukop[2nd ][ % ] om het getal op het beeldscherm te delen

door 100. Gebruik deze knop om percentages, intresten, kortingen
en percentageverhoudingen te berekenen. Zie Voorbeeld 9~10.

B Weergaveformaten
De rekenmachine heeft de vier volgende notatiemodi voor het
weergeven van waarden.

Norm notatie :

De rekenmachine kan maximum 10 cijfers weergeven. Waarden die
dit aantal cijffers overschrijden worden automatisch in de
exponentiéle vorm weergegeven. Er zijn twee soorten exponentiéle
weergaveformaten:

Norm 1 modus : 102> | x|, |x|Z 10 ™

Norm 2 modus : 10 > |x|,|x|Z 10"

(Opmerking): Alle voorbeelden in deze handleiding tonen de
resultaten van de bewerkingen aan de hand van de
Norm 1 modus.

Technische notatie : ( ENG )

Het resultaat van de bewerking wordt weergegeven aan de hand van

de technische (engineering) notatie, waarbij de mantisse van de
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waarde weergegeven wordt door het opgegeven aantal decimale
plaatsen en de exponent ingesteld is op een veelvoud van drie.

Vaste komma notatie : ( FIX)

Het resultaat van de bewerking wordt weergegeven met het
opgegeven aantal decimale plaatsen.

Wetenschappelijke notatie : ( SCI)

Het resultaat van de bewerking wordt weergegeven aan de hand van
de technische (engineering) notatie, waarbij de mantisse van de
waarde weergegeven wordt door het opgegeven aantal decimale
plaatsen.

e In de FIX, SCI notate, kunt u het aantal decimale plaatsen
instellen op een waarde van 0 tot en met 9. Na het instellen van
het aantal decimale plaatsen, zal de weergegeven waarde
volgens de instelling afgerond worden. Wanneer u het aantal
decimale plaatsen niet ingesteld hebt, dan zal de Norm 1 en Norm
2 modus gebruikt worden. Zie Voorbeeld 11.

e Druk op [ ENG ] of [ 2nd ] [ENG] om de exponent van het
weergegeven getal te veranderen in een veelvoud van drie. Zie
Voorbeeld 12.

e Zelfs wanneer het aantal decimale plaatsen ingesteld is, zal de
rekenmachine de interne berekening voor een mantisse uitvoeren
tot op 24 cijfers en wordt de weergavewaarde opgeslagen in 10
cijfers. Om deze waarden af te ronden op het ingestelde aantal
decimale plaatsen, drukt u op [ 2nd ] [ RND ]. Zie Voorbeeld 13.

B Doorlopend berekenen

e U kunt de laatst uitgevoerde bewerking herhalen door op de [ =]
toets te drukken voor verdere berekening. Zie Voorbeeld 14.

e Zelfs wanneer de berekeningen beéindigd worden met de [ = ]
toets, kan u het bekomen resultaat toch nog gebruiken voor
verdere berekeningen. Zie Voorbeeld 15.

B Antwoordfunctie
e De antwoordfunctie slaat het meest recente resultaat op. Het
resultaat wordt zelfs bewaard wanneer u de rekenmachine afzet.
Eens dat er een numerieke waarde of een numerieke uitdrukking
ingevoerd wordt en u drukt op [ =], wordt het resultaat opgeslagen
door deze functie. Zie Voorbeeld 16.
(Opmerking): Zelfs wanneer de uitvoering van een berekening
resulteert in een fout wordt de huidige waarde toch nog
bewaard in het antwoordgeheugen.

Wetenschappelijke bewerkingen

Gebruik de COMP modus voor het uitvoeren van
wetenschappelijke bewerkingen.

B Logaritmes en antilogaritmes
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e De rekenmachine kan algemene en natuurlijke logaritmes en
antilogaritmes berekenen aan de hand van de toetsen [log ], [In ],
[2nd ][ 10%], en[2nd ] [€*]. Zie Voorbeeld 17~19.

B Bewerkingen met breuken
Breuken worden als volgt op het beeldscherm voorgesteld:

5 ;12 | Op het beeldscherm: %

56 ;5 ;12 | Op het beeldscherm: 56%

(Opmerking): Waarden worden automatisch in het decimaal formaat
weergegeven wanneer het totaal aantal cijfers van een
breukwaarde (geheel getal + teller + noemer +
scheidingstekens) 10 overschrijdt.

e Om een gemengd getal in te voeren, toetst u het geheel getal in,

drukt u op [ ab/c ], toetst u de teller in, drukt u op [ aP/c ], en toetst
u de noemer in. Om een breuk in te voeren, toetst u de teller in,

drukt u op [ aP/c ], en toets u de noemer in. Zie Voorbeeld 20.
e Door op [ 2nd ] [d/c] te drukken kunt u overschakelen tussen de

meest nauwkeurige waarde en eenvoudigste waarde. Om de
weergave van het resultaat over te schakelen tussen een

decimaal en een breuk, drukt u op [aP/c] .Zie Voorbeeld 21.

o Berekeningen die zowel breuken als decimale getallen bevatten
worden berekend in decimaal formaat. Zie Voorbeeld 22.

B Hoekconversie
Druk op [ MODE ] om het hoekmenu weer te geven en de eenheid
van de hoek (DEG, RAD, GRAD) in te stellen. De verhouding tussen
de drie hoekeenheden is:
180° =t rad = 200 grad
Hoekconversies ( Zie Voorbeeld 23.) :
1. Verander de standaard hoekinstelling naar de eenheid
waarnaar u wilt converteren.
2. Voer de waarde van de te converteren eenheid in.
3. Druk op [ DRG— ] om het menu weer te geven.
D R G
1 2 3
De eenheden die u kunt selecteren zijn: D(graden),
R(radialen), G(Gradians).
4. Kies de eenheid waarvan u wilt converteren.
5. Drukop[=]

B Trigonometrische / inverse trigonometrische
functies

e De rekenmachine is voorzien van de standaard trigonometrische
functies en inverse trigonometrische functies, - sin, cos, tan, sin™",

cos " and tan™". Zie Voorbeeld 24~26.
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(Opmerking): Wanneer u deze toetsen gebruikt, moet u ervoor
zorgen dat de rekenmachine ingesteld staat op de
gewenste hoekeenheid.

B Hyperbolische en inverse hyperbolische functies

e De rekenmachine gebruikt [ 2nd ] [ HYP ] om de hyperbolische en
inverse hyperbolische functies, - sinh, cosh, tanh, sinh™, cosh™
en tanh™ te berekenen. Zie Voorbeeld 27~28.

(Opmerking): Wanneer u deze toetsen gebruikt, moet u ervoor
zorgen dat de rekenmachine ingesteld staat op de
gewenste hoekeenheid.

B Sexagesimale <> decimale transformatie
De sexagesimale notatie is als volgt:
120 590 45 60 | Stelt 12 graden, 59 minuten en 45.6 seconden voor

e De rekenmachine kan de conversie tussen decimale en
sexagesimale getallen uitvoeren aan de hand van [07»] en [ 2nd ]

[07% ]. Zie Voorbeeld 29~30.

B Coordinaattransformatie

Rechthoekige coodrdinaten Polaire coordinaten
Y Y
————1PXxYy) P(r, 6)
I
y [ r
| G
0 X X 0 X

X+ yi=r(cos 8 +isin 9)
Deze rekenmachine kan de conversie tussen rechthoekige en polaire
coodrdinaten uitvoeren aan de hand van [ ALPHA ] [ Pol ( ] en
[ ALPHA ] [ Rec ( ]. De resultaten van de berekening worden
automatisch in de geheugenvariabelen E en F opgeslagen. Zie
Voorbeeld 31~32.
(Opmerking):Wanneer u deze toetsen gebruikt, moet u ervoor zorgen
dat de rekenmachine ingesteld staat op de gewenste
hoekeenheid.

B Waarschijnlijkheid
e Deze rekenmachine heeft de volgende waarschijnlijkheidsfuncties:
( Zie Voorbeeld 33~36.)

[nPr] Berekent het aantal mogelijke permutaties van r
uit n objecten.

[nCr] Berekent het aantal mogelijke combinaties van r
uit n objecten.

[x!] Berekent de faculteit van een opgegeven positief

geheel getal n , waarbij n = 69.

[ RANDOM ] Genereert een willekeurig getal tussen 0.000 en

0.999
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m Andere functies (x, \/ , 3 , ¥, x5 X%, x¥)
e Met de rekenmachine kunt u ook de volgende functies uitvoeren:
inverse machtsverheffing ([ x ™' ] ), vierkantswortel ( [ \/_ 1), 3%

wortel ([3/ 1), universele wortel [ ], kwadraat ([x*]), 3%

macht ( [ X ] ) en exponentiéle functies ([ x’']).
Zie Voorbeeld 37~40.

Standaardafwijking berekenen

Gebruik de SD modus voor het berekenen van de
standaardafwijking.

e Zorg ervoor dat u het statistische geheugen wist door op [ 2nd ]
[ Scl ] te drukken alvorens het berekenen van de
standaardafwijking uit te voeren.

¢ Individuele gegevens kunnen ingevoerd worden aan de hand van
[ DT ] ; Om zojuist ingevoerde gegevens te wissen, drukt u op
[ 2nd ] [ CL ]. Meerdere gegevens met dezelfde waarde kunnen
ingevoerd worden aan de hand van [ 2nd ] [ ; ]. Bijvoorbeeld: Om
de gegevens 15, zeven maal in te voeren, drukt u op: 15[ 2nd ] [; ]
7[DT].

e De waarden van de statische variabelen zijn afhankelijk van de
ingevoerde gegevens. U kunt deze gegevens opvragen door de
toetsaanslagen uit te voeren, die getoond worden in de
onderstaande tabel. Zie Voorbeeld 41.

T x 2 [RCL]+[[A]] X [2nd ]+ [x ]
3 X [RCL]+[[B]] X0on [2nd ]+ [ Xon ]
n [RCL]+[[C]] Xon-1 [2nd ] + [ XOn-1]

Regressie berekenen

Gebruik de REG modus voor het berekenen van een
regressie.
Druk op [ MODE ] 3 om het REG menu te openen en kies één van de

zes regressiesoorten door op de overeenkomstige argumentwaarde
te drukken, zoals hieronder aangeduid wordt:

Lin Log Exp 2 ] o |*Pwr Inv Quad
1 2 - [ 1 2 3
Lin Lineaire regressie y=A+Bx
Log Logaritmische regressie y=A+BInx
Exp Exponenti€le regressie y=As+e®
Pwr Machtsregressie y=Ae<x B
: B
Inv Inverse regressie y=A+ —
X
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Quad Kwadratische regressie  y=A+Bx+ Cx?
Zorg ervoor dat u het statistische geheugen steeds wist door op
[ 2nd ] [ Scl ] te drukken alvorens de regressieberekening uit te
voeren.

Individuele gegevens kunnen ingevoerd worden aan de hand van
[ DT ] ; Om zojuist ingevoerde gegevens te wissen, drukt u op
[ 2nd ] [ CL ]. Meerdere gegevens met dezelfde waarde kunnen
ingevoerd worden aan de hand van [ 2nd ] [ ; ]. Bijvoorbeeld: om
de gegevens 40 en 55, tien maal in te voeren, drukt u op 40: [, ]
55[2nd][;]10[DT].

De waarden van de statische variabelen zijn afhankelijk van de
ingevoerde gegevens. U kunt deze gegevens opvragen door de
toetsaanslagen uit te voeren, die getoond worden in de
onderstaande tabel. Om een waarde voor x (of y) te voorspellen
wanneer er een waarde voor y (of x) gegeven is, drukt u op [ 2nd ]

[y1(f[2nd][x]), en drukt u nogmaals op [ = ]. Zie Voorbeeld
42~43.

T x? [RCL]+[[A]] XOn [2nd ]+ [ XOn]
¥ X [RCL]+[[B]] XGn-1 [2nd ] + [ XOn-1 ]
n [RCL]+[[C]] y [2nd]+[y]
y? |[RCL]+[[D]] yon [2nd]+[yon]
Ty  |[RCLI+[[E]] yont | [2nd]+[yont]
Txy  |[RCL]+[[F]] A [2nd]+[A]
»x3 [RCL]+[[M]] B [2nd]+[B]
x% |[RCL]+[[X]] C [2nd ] +[C]
sx? [RCL]+[[Y]] r [2nd ]+ [r]
X [2nd]+[x] X [2nd ]+ [x]
y [2nd]+[y]

(Opmerking) : De variabelen £x *, =x 2 y zijn enkel beschikbaar in de
kwadratische regressie.
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Generel vejledning

B Tand og sluk

Tryk pa [ ON/Ac ] for at teende lommeregneren. Tryk pa [ OFF ] for at
slukke lommeregneren.

B Udskiftning af batterier
Lommeregneren far strgm fra to G13(LR44) alkaline batterier.

Hvis displayet bliver utydeligt, skal du udskifte batterierne. Pas pa
ikke at komme til skade nar du udskifter batteriet.
1. Fjern skruerne pa bagsiden af lommeregneren.

2. Seet en flad skruetreekker ind i abningen mellem den gverste
og nederste del af kabinettet, og skub den sa forsigtigt frem og
tilbage for at abne kabinettet.

3. Fjern begge batterier, og skil dig af med dem pa passende vis.
Lad aldrig bgrn lege med batterier.

4. Tgr de nye batterier af med en ter klud for at sikre, at
kontakten er god.

5. Seet de to nye batterier i med deres flade side (plus) opad.

6. Placer den gverste og nederste kabinetdel rigtigt ud for
hinanden, og klik dem pa plads.

7. Stram skruerne.

B Automatisk slukning

Lommeregneren slukker automatisk, nar den ikke er blevet brugti 9-
15 minutter. Du kan teende den igen ved at trykke pa tasten [ ON/AC ].
Displayet, hukommelsen og indstillingerne bevares.

B Nulstilling (reset)

Hvis lommeregneren er taendt, men du far uventede resultater, kan
du trykke pa [ ON/AC ] og derefter pa [ MODE ] fire gange for at fa vist
menuen nedenfor. Der vises en meddelelse pa displayet, hvor du
bliver bedt om at bekreaefte, om du vil nulstille lommeregneren og
slette indholdet i hukommelsen efter at have trykket pa[ 2 ].

ENG RESET 2] RESET:N Y
1 2 1 2

Tryk pa [ 2 ] for at rydde alle variabler, ventende handlinger,
statistiske data, svar, alle tidligere indtastninger samt hukommelsen.
Hvis du vil afbryde nulstillingen uden at rydde lommeregnerens
indhold, skal du trykke pa[11].

Hvis lommeregneren er last fast og der ikke laengere kan indtastes
funktioner, sa bar en spids genstand anvendes til at trykke ned i
reset hullet for at nulstille apparatet. Dermed gendannes
fabriksindstillingerne.

B Indstilling af kontrasten
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Ved at trykke pa [A] eller [ V] efter tasten [ MODE ] kan du gere
skaermens kontrast lysere eller mgrkere. Hvis du holder en af disse
taster nede, bliver displayet lysere henholdsvis markere.

B Displayets elementer
Displayet indholder indtastningslinjen, resultatlinjen og forskellige

indikatorer.

Indikator.

Indtastningslinje

Indikator

DEG —
| 74-8/7
72.85714286 -

Resultatlinje

Indtastningslinjen Lommeregneren kan vise indtastninger pa op til

79 cifre. Indtastninger starter fra venstre.
Indtastninger pa mere end 11 cifre ruller mod
venstre. Tryk pa [»] eller [ «] for at flytte
markgren gennem en indtastning. Nar du
indtaster det 73. ciffer i en beregning, skifter
markgren fra “_” til “m” for at give dig besked
om, at hukommelsen er ved at vaere brugt op.
Hvis du har brug for at foretage flere
indtastninger, skal du opdele din beregning i to
eller flere dele.

Resultatlinjen Viser et resultat med op til 10 cifre samt en decimal,
et negativ-tegn, en " x10"-indikator og en 2-cifret
positiv eller negativ eksponent.

Indikatorer De fglgende indikatorer vises pa displayet som en

angivelse af lommeregnerens aktuelle status.

Indikator Betydning

2nd

Uafhaengig hukommelse
Resultatet er negativt
2nd-gruppen af funktionstaster er aktiv.

De alfabetiske taster ( ~[F], [M], ~ )

er aktive.

STORCL STO : Variabellagrings-mode er aktiv

SD
REG

RCL : Variabelhentnings-mode er aktiv
Statistik-mode er aktiv
Regressions-mode er aktiv

DEGRAD Vinkel-mode : DEG (grader), GRAD (nygrader)

eller RAD (radianer)

ENG Teknisk notation.
SCI Videnskabelig notation.
FIX Det viste antal decimalpladser er fastsat
HYP  Hyperbolske trigonometriske funktioner vil blive
beregnet
BUSY Mens en handling udferes
€ = Der er cifre til venstre eller til hgjre for displaye
A ¥ Der er tidligere eller senere resultater, som kan
vises
-Da 3-
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Inden du gar i gang med at foretage

beregninger

B Valg af mode (tilstand)

Hver gang der trykkes pa [ MODE ], vises der pa skeermen
forskellige funktionsmenuer samt alle argumentveaerdier, der svarer il
den gnskede mode. Der kan anvendes tre beregningsmodes (COMP,
SD, REG), tre vinkelenheder (DEG, RAD, GRAD), fire
displaynotationer (FIX, SCI, NORM, ENG) og en nulstillingsfunktion
(RESET).
Ved at indtaste en argumentvaerdi kan du indstille lommeregneren il
at fungere pa den made, du gnsker. Her er et eksempel med "SD":
1. Tryk pa [ MODE ] én gang for at fa vist menuen for
beregningsmodes.
2. Indtast [ 2] for at indstille lommeregneren til at fungere i
standardafvigelsesmode.

COMP SD REG SD DEG
(2] —
1 2 3 —_—

B Anvendelse af "2nd"-tasterne

Nar du trykker pa [ 2nd ], viser indikatoren " 2nd " i displayet dig, at
du vil veelge den sekundaere funktion pa den naeste tast, du trykker
pa. Hvis du ved en fejl kommer til at trykke pa [ 2nd ], skal du blot
trykke én gang til pa [ 2nd ] for at fjerne indikatoren " 2nd ".

B Markgren

Ved at trykke pa [ » ] eller [ « ] kan du flytte markaren til venstre
eller til hgjre. Hold en af disse taster nede for at flytte markaren
hurtigt.

Ved at trykke pa [A] eller [¥] kan du rulle displayet op eller ned, nar
der er tidligere indtastninger skjult i displayet. Du kan genbruge eller
redigere en tidligere indtastning, nar den vises pa indtastningslinjen.

B Foretag rettelser under indtastningen

Hvis du vil slette et tegn ved markgren, skal du gere tegnet
understreget ved at bruge [»] eller [«] til at flytte markeren og
derefter trykke pa [ DEL ] for at slette tegnet.

Hvis du vil erstatte et tegn, skal du ggre tegnet understreget ved at
bruge [»] eller [«] til at flytte markaren og derefter foretage en ny
indtastning, der sa vil erstatte tegnet.

Hvis du vil indsaette et tegn, skal du flytte markgren til positionen for
det tegn, hvor du vil foretage indseetningen. Det nye tegn indsaettes
foran tegnet, nar du trykker pa [ 2nd ] [ INS ] og derefter indtaster et
nyt tegn.
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(Bemeerk) : Den blinkende markear “ «+ ” betyder, at
lommeregneren er i indsaetningsmode. Hvis den
blinkende markgar vises som “_”, betyder det, at
lommeregneren er i overskrivnings-mode.

Hvis du vil slette alle tegn, skal du bruge tasten [ ON/AC ].

B Gentagelsesfunktionen

e Denne funktion gemmer den senest udfgrte handling. Nar
handlingen er udfert, kan du ved at trykke pa [ 2nd ] [A] eller
[2nd ] [ V] fa vist operationen fra begyndelsen eller slutningen. Du
kan fortseette med at flytte markgren med [»] eller [«] for at
redigere den. Tryk pa [ DEL ] for at slette et ciffer ( i
overskrivnings-mode kan du ogsa bare overskrive cifferet). Se
eksempel 1.

e Gentagelsesfunktionen kan opbevare indtastede cifre pa op til 256
tegn for lommeregneren. Nar en beregning er gennemfart eller
under indtastningen kan du trykke pa enten [ 2nd ] [A] eller [ 2nd ]
[V] for at fa vist tidligere indtastninger og redigere veerdier eller
kommandoer, der sa kan udfgres senere. Se eksempel 2.
(Bemeerk) : Gentagelsesfunktionen ryddes ikke, selvom der

trykkes pa [ ON/Ac ] eller slukkes for strammen, sa
indholdet vil stadig kunne hentes, efter at der har
vaeret trykket pa [ ON/Ac .

B Displayfunktionen fejlposition

e Hvis der udfgres en matematisk ugyldig beregning, Vil
displayfunktionen fejlposition ved hjeelp af markgren vise dig, hvor
fejlen er. Tryk pa [»] eller [«] for at flytte markgren og foretage
en korrekt indtastning. Du kan ogsa fjerne en fejl ved at trykke pa
[ ON/AC ] og derefter indtaste veerdierne og udtrykkene forfra. Se

eksempel 3.

B Hukommelsesberegning
Uafhaengig hukommelse

e Tryk pa [ M+ ] for at leegge et resultat til den Ilgbende hukommelse.
Tryk pa [ 2nd ] [ M- ] for at treekke veerdien fra den Igbende
hukommelse. Tryk pa [ 2nd ][ RCL ] [ ] for at hente veerdien i
den Igbende hukommelse. Tryk pa [ 0 ] [STO] [ @ ] for at rydde
den Igbende hukommelse. Se eksempel 4.

(Bemeerk) : Ud over at trykke pa tasten [ SAVE ] for at gemme en
veerdi kan du ogsa tildele veerdier til
hukommelsesvariablen M ved hjeelp af [ M+ ] eller
[M-].

Hukommelsesvariabler

e Lommeregneren har ni hukommelsesvariabler til gentagen brug :
A, B,C, D, E, F, M X Y. Du kan opbevare et reelt tal i hver af de
ni hukommelsesvariabler. Se eksempel 5.

* Med [STO 1+ [A]~[F] [M] eller[X]~[Y] kan du gemme

veerdier i variablerne.
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* Med[2nd][RCL ]eller[ALPHA ]+ [A]~[F] [M] eller[X]
~ kan du hente variablernes veerdier.

* Med[0][STO]+ [A]~[F] [M] eller[X]~[Y] kan du rydde

indholdet i en angiven hukommelsesvariabel.

[2nd ] [ Mcl ] [ =] sletter alle variabler.

B Stak

Denne lommeregner bruger hukommelsesomrader, der kalder
“stakke”, til midlertidigt at gemme veerdier (numerisk stak) og
kommandoer (kommando stak) i henhold til deres forrang under
beregninger. Den numeriske stak har 10 niveauer og kommando
stakken har 24 niveauer. En stakfejl (Stk ERROR) opstar nar du
prgver at udfgre en beregning, der er sa kompleks at stakkens
kapacitet overskrides.

*

B Operationsraekkefolge

De enkelte beregninger udfagres i fglgende raekkefalge :

1) Koordinattransformation.

2) Type A —funktioner, der veelges ved at indtaste vaerdier, inden
der trykkes pa funktionstasten, for eksempel x%, 039, x I, x .
) ¥y
4) Brgker.

5) Forkortet multiplikationsformat foran variabler,r.

6) Type B-funktioner, som veelges ved at trykke pa
funktionstasten, inden der indtastes f.eks. sin, cos, tan, sin ',
cos ', tan ", sinh, cosh, tanh, sinh !, cosh !, tanh ', log, In,
10%, 5 . ¥, ().

7) Forkortet multiplikationsformat foran Type B-funktioner, 243,
Alog2 osv.

8) nPr, nCr

9) x,=+

10) +, —

e Nar funktioner med samme prioritet anvendes efter hinanden,
beregnes de fra hgjre mod venstre.

e”* In120— e *{In (120 )}

ellers foretages beregningerne fra venstre mod hgijre.
e Sammensatte funktioner beregnes fra hgjre mod venstre.
e Alt, der star i parenteser, far hgjeste prioritet.

B Ngjagtighed og kapacitet
Outputcifre : Op til 10 cifre.
Beregningscifre : Op til 15 cifre
Som hovedregel vises enhver meningsfuld beregning med op til 10

cifrg9 mantisse eller 10-cifre mantisse plus 2-cifre eksponent op til
10*°.

Tal, der anvendes som input, skal veere inden for den givne funktions
interval, saledes som det fremgar af fglgende tabel :
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Funktioner

Inputinterval

sin X, tan x

Deg : 05 | x | S 4.499999999 x 10 °
Rad : 05 | x | £ 785398163.3

Grad : 0S | x | S 4.499999999 x 10 '°
nygraderfor tan x, dog
Deg: | x| # 90 (2n-1)

Rad:|x|# %(2n—1)

Grad: | x| # 100 (2n—1) (n er et heltal)

COS X

Deg : 05 | x | £ 4500000008 x 10 "
Rad : 05 | x | £ 785398164.9
Grad : 05 | x | € 5.000000009 x 10 °

sin ' x, cos ' x

05 | x| S 1

sinh x, cosh x

05 | x| S 230.2585092

tan =" x

0S | x | S 9.999999999 x 10 *°

tanh x, tanh ~' x

0S | x | § 9.999999999 x 10~

sinh 7" x, cosh 7' x

0S | x | S 4.499999999 x 10 *°

log X, In x x>0
10” ~9.999999999 x 10 ** £ x = 99.99999999
e’ ~9.999999999 x 10 *° £ x £ 230.2585092
JIx 0s x<1x10 "
x x| <1x10°°
X~ Ix|<1x10" x=0
3x Ix|<1x10"®
x! 0S x £ 69, x er et heltal.
Pol (x,y) | x|, |y ]S 9.999999999 x 10 *°
x % +y?< 9.999999999 x 10 *°
Rec (r, 6) 0= r £ 9.999999999 x 10 %

Deg : 0= | x | £ 4.499999999 x 10 °
Rad : 05 | x | £ 785398163.3

Grad : 0= | x | £ 4.499999999 x 10 "°
nygraderfor tan x, dog
Deg:| @] # 90 (2n-1)
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Rad:| 0|+ Z (2n-1)
2

Grad: | | # 100 (2n—1) (n er et heltal)

oy |a|,b,C<1X101OO,0§b,C
0100

o | x]< 1x1
Sexagesimal <» Decimal transformation
OF0"0" =|x|=£999999 " 59 F
x 7 x>0: —1x10 " <ylogx <100
x=0:y>0

x<0:y=n, 11/0(02n+1), n er et heltal

Men -1x10 < ylog | x| <100
Iy y>0:x%0,-1x10 P <1 logy <100
X
y=0: x>0

y<0:x=2n+1,I/n,nneretheltal. (n * 0)

Men —1x 10 "™ < jog |y | <100
X

nPr, nCr 0S n=99,rsn,n, rneretheltal
SD | x [<1x10°%| y |<1x10%°, | n |<1x10"%°
(REG) Xon, YOn, )_(, ; A,B,r:n 0

Xon-1, yon-1:n * 0,1

B Fejltilstande

Der vises fejlmeddelelser pa displayet, og videre beregninger bliver
umulige, nar en af de falgende tilstande indtreeffer.

Ma ERROR (1) Nar resultatet af funktionsberegninger
overskrider det angivne interval.

(2) Du har forsggt at dividere med O.

(3) Nar resultatet af funktionsberegninger
overskrider det tilladte inputinterval for
funktionsberegninger.

Stk ERROR Capacity of the numeric stack or operator stack is
exceeded.

Syn ERROR Du har forsggt at udfgre en ulovlig matematisk
operation.

Tryk pa tasten [ ON/AC ] for at afslutte disse fejl.

Grundlaeggende beregninger

Brug COMP-mode til grundlzeggende beregninger.
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B Aritmetiske beregninger

Ved negative veerdier skal du trykke pa [ ( — ) ], inden du indtaster
veaerdien. Du kan indtaste et tal i mantisse- og eksponentformat med
tasten [ EXP ]. Se eksempel 6.

e Aritmetiske operationer udfgres ved at trykke pa tasterne i samme
reekkefalge som i udtrykket. Se eksempel 7.

B Parentesberegninger

Operationer i parenteser udferes altid fgrst. Lommeregneren kan
anvende op til 15 niveauer indlejrede parenteser i en enkelt
beregning. Se eksempel 8.

B Procentberegning

[ 2nd ] [ % ] dividerer tallet i displayet med 100. Du kan bruge denne
tastsekvens til at beregne procenter, tilleeg, rabatter og
procentforhold. Se eksempel 9~10.

B Displayformater

Denne lommeregner har disse fire visningsmader af notation til de
viste veerdier.

Norm notation :

Denne lommeregner viser op til 10 cifre. Men veerdier der overstiger
denne graense vil automatisk blive vist i eksponentialformat Der er to
former for eksponentielle displayformater :

Norm 1 made : 10 2> | x|, |x|Z 10"

Norm 2 made : 10 °>|x|,|x|Z2 10"
(Bemaerk) : Alle eksemplerne i denne manual viser

beregningsresultaterne med Norm 1 made.
Teknisk notation : (ENG )

Beregningsresultater vises ved brug af teknisk notation, hvor
veerdiens mantisse vises med det specificerede antal decimaler og
med eksponenten sat til et multiplum af 3 til visning.

Fast notation : ( FIX))
Beregningsresultater vises med det specificerede antal decimaler.
Videnskabelig notation : ( SCI )

Beregningsresultater vises ved brug af videnskabelig notation, hvor
veerdiens mantisse vises med det specificerede antal decimaler.

e Ved FIX, SCI notation kan antallet af decimaler saettes til en
vilkarlig veerdi mellem 0~9. Efter specificering af antallet af
decimaler, vil de viste veerdier blive afrundet til det tilsvarende
antal cifre og vist. Nar der ikke er blevet specificeret noget antal
decimaler eller betydende cifre, vil maderne, Norm 1 og Norm 2,
blive anvendt. Se eksempel 11.

e Tryk pa [ ENG]eller [ 2nd ] [ENG] vil bevirke at eksponentvisning
af det viste tal vil aendres til et multiplum af 3. Se eksempel 12.
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e Selv hvis antallet af decimaler er specificeret, udferer
lommeregneren den interne beregning for en mantisse op til 15
cifre og den viste vaerdi er gemt med 10 cifre. For at afrunde disse
veerdier til det specificerede antal decimaler, skal du trykke pa
[2nd ] [ RND ]. Se eksempel 13.

B Fortlebende beregninger

Lommeregneren giver dig mulighed for at gentage den senest
udfgrte handling ved at trykke pa tasten [ = ], sa der foretages
yderligere beregninger. Se eksempel 14.

e Ogsa hvis en beregning afsluttes med tasten [ = ], kan det

opnaede resultat anvendes til videre beregninger.
Se eksempel 15.

B Svarfunktion

Svarfunktionen gemmer det senest beregnede resultat. Det bevares
ogsa, efter at der slukkes for stremmen. Nar der indtastes en
numerisk vaerdi eller et numerisk udtryk, og der derefter trykkes pa
[ =], gemmes resultatet af denne funktion. Se eksempel 16.
(Bemeerk) : Selv hvis afviklingen af en beregning forer til en fejl,
opbevarer svarhukommelsen dens aktuelle veerdi.

Videnskabelige beregninger

Brug COMP-mode til videnskabelige beregninger.

B Logaritmer og antilogaritmer

Lommeregneren kan beregne almindelige og naturlige logaritmer og
antilogaritmer ved hjeelp af [log ], [In],[2nd ][ 10* ] og [2nd ][ e*].
Se eksempel 17~19.

B Brokregning
Brokveerdier vises som falger :

5 ,12 Displayetviser%

56 ;5 ;12 Displayetviser56%

(Bemeerk) : Veerdierne vises automatisk i decimalformat, hvis det
samlede cifre i en brgkveerdi ( heltal + teeller + naevner
+ separatortegn ) overstiger 10.

e Hvis du vil indtaste et blandet tal, skal du indtaste heltalsdelen ved
at trykke pa [a b/c], indtaste teelleren ved at trykke pa [a P/c] og
indtaste naevneren. Hvis du vil indtaste en uaegte brgk, skal du
indtaste taelleren, trykke pa [a P/c] og indtaste naevneren.
Se eksempel 20.
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e Hvis du trykker pa [ 2nd ] [d/c], konverteres den viste vaerdi til den
uaegte brgk og omvendt. Hvis du vil konvertere mellem et decimal-

og et brokresultat, skal du trykke pa [aP/c] .Se eksempel 21.

e Beregninger, der bade indeholder brgker og decimaltal, beregnes i
decimaltalformat. Se eksempel 22.

B Konvertering mellem vinkelenheder

Vinkelenheden (DEG, RAD, GRAD) indstilles ved at trykke pa
[ MODE ], sa vinkelmenuen vises. Relationen mellem de tre
vinkelenheder er :
180° = & radianer = 200 nygrader

Vinkelkonverteringer ( se eksempel 23):

1. Indstil standardvinkelindstillingerne til den enhed, du vil

konvertere til.

2. Indtast veerdien for den enhed, der skal konverteres.

3. Tryk pa [ DRG— ] for at fa vist menuen.
D R G

1 2 3

De enheder, du kan veelge, er D(grader),
R(radianer), G(nygrader).

4. Veelg den enhed, du konverterer fra.

5. Trykpal[=].

B Trigonometriske / inverse trigonometriske

Lommeregneren understgtter de almindelige trigonometriske
funktioner og inverse trigonometriske funktioner — sin, cos, tan, sin *,
cos ' ogtan . Se eksempel 24~26.
(Bemaerk) : Nar du bruger disse taster, skal du serge for, at
lommeregneren er indstillet til den gnskede

vinkelenhed.

B Hyperbolske / inverse hyperbolske funktioner

Lommeregneren bruger [ 2nd ] [ HYP ] til at beregne de hyperbolske
og inverse hyperbolske funktioner — sinh, cosh, tanh, sinh ~', cosh ™"
og tanh ~'. Se eksempel 27~28.
(Bemaerk) : Nar du bruger disse taster, skal du serge for, at
lommeregneren er indstillet til den gnskede
vinkelenhed.

B Transformation fra <> sexagesimal til decimal
Sexagesimal notation ser ud som falger

120 590 45.60 |Repraesenterer 12 grader, 59 minutter, 45.6 sekunder

e Lommeregneren kan foretage konverteringer mellem decimale og

sexagesimale tal ved hjeelp af tasterne [07?] og [ 2nd ] [57” ]- Se
eksempel 29~30.
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B Koordinattransformation

Rektangulaere koordinater Poleere koordinater
Y Y
_____TP(X’ y) P(r, 9)
I
y [ r
| o
0 X X 0 X

X+ yi=r(cos @ +isin 9)
Lommeregneren kan foretage konverteringer mellem rektangulaere
og poleaere koordinater ved hjeelp af tasterne s [ ALPHA ] [ Pol (] og
[ ALPHA ] [ Rec ( ]. Beregningsresultaterne gemmes automatisk i
hukommelsesvariablerne E og F. Se eksempel 31~32.
(Bemaerk) : Nar du bruger disse taster, skal du serge for, at
lommeregneren er indstillet til den gnskede
vinkelenhed.

B Sandsynlighed

Lommeregneren har fglgende sandsynlighedsfunktioner ( Se
eksempel 33~36 ) :

[nPr] Beregner antallet af mulige permutationer af n
elementer, der udtages r elementer ad gangen.

[nCr] Beregner antallet af mulige kombinationer af n
elementer, der udtages r elementer ad gangen.

[x!] Beregner fakultet af det angivne positive heltal x,
hvor x £ 69.

[ RANDOM ] Genererer et tilfeeldigt tal mellem 0.000 og 0.999.
B Andre funktioner (x7, \/ , 3, ¢, x4 x% x¥)

e Lommeregneren understotter ogsa reciprok veerdi ( [ x - 1),
kvadratrod ( [ \/_ ] ), kubikrod ( [%/_] ), universel roduddragning

([ 1), kvadratoplgftning ( [ x> ] ), kubikopleftning ( [ X* ] ) og
universel oplaftning ([ x ¥ ]). Se eksempel 37~40.

Standardafvigelsesberegning

Brug SD-mode til standardafvigelsesberegninger.

e Sgrg altid for at rydde statistikhukommelsen med [ 2nd ] [ Scl ],
inden du udfgrer en standardafvigelsesberegning.

¢ Individuelle data kan indtastes med [ DT ]. Hvis du vil slette data,
du lige har indtastet, skal du trykke pa [ 2nd ] [ CL ]. Flere data
med samme veerdi kan indtastes ved hjeelp af [ 2nd ] [ ; ]. Hvis du
for eksempel vil indtaste 15 7 gange, skal du trykke pa 15 [ 2nd ]
[;17[DT].
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e Verdierne for de statistiske variabler afhaenger af de data, du
indtaster. Du kan fa vist dem ved hjeelp af de tasteoperationer, der
er vist i tabellen nedenfor. Se eksempel 41.

3 x° [RCL]+[[A]] x [2nd ] +[x ]
3 X [RCL]+[[B]] Xon [2nd ]+ [ Xon ]
n [RCL]+[[C]] Xon-1 [2nd ] + [ Xon-1]

Regressionsberegning

Brug REG-mode til regressionsberegninger.

Tryk pa [ MODE ] 3 for at abne REG-menuen, og veelg derefter én af
de seks regressionstyper ved at trykke pa s den tilsvarende
argumentvaerdi, sddan som det er vist her :

Lin Log Exp = [-] : €Pwr Inv Quad

1 2 3 . [«] 1 2 3
Lin Lineaer regression y=A+Bx
Log Logaritmisk regression y=A+BInx
Exp Eksponentiel regression  y=A«e &
Pwr Potensregression y=A+x?
Inv Invers regression y=A+8

X

Quad Kvadratregression y=A+Bx+Cx?

e Sorg altid for at rydde statistikhukommelsen med [ 2nd ] [ Scl ],
inden du udfgrer en regressionsberegning.

¢ Individuelle data kan indtastes med [ DT ]. Hvis du vil slette data,
du lige har indtastet, skal du trykke pa [ 2nd ] [ CL ]. Flere data
med samme veerdi kan indtastes ved hjeelp af [ 2nd ] [ ; ]. Hvis du
for eksempel vil indtaste dataene 40 og 55 ti gange, skal du trykke
pad0[,]155[2nd][;]10[DT].

e Veerdierne for de statistiske variabler afhaenger af de data, du
indtaster. Du kan fa vist dem ved hjeelp af de tasteoperationer, der
er vist i tabellen nedenfor. Hvis du vil forudsige en veerdi for x
(eller y) ud fra en given veerdi for y (eller x), skal du indtaste den

givne veerdi, trykke pa [ 2nd ] [ }A, ] (eller [ 2nd ] [)A(] ) og trykke pa
[=1igen. Se eksempel 42~43.

T x 2 [RCL]+[[A]] XOn [2nd ]+ [ XOn]
T X [RCL]+[[B]] XOn-1 [2nd ] + [ XOn-1 ]

n [RCL]+[[C]] y [2nd ]+ [y]
zy? |[RCL]+[[D]] yon [2nd ]+ [yon]

Ty  |[RCLI+[[E]] yont | [2nd]+ [yont]
% Xy [RCLI+[[F]1 | A [2nd ]+ [A]
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Tx3 [RCL]+[[M]] B [2nd]+[B]
x?% |[RCL]+[[X]] C [2nd]+[C]
>x* |[RCL]+[[Y]] r [2nd]+[r]
X [2nd ]+ [x] X [2nd ]+ [x]
y | 12nd1+ 1y

(Bemaerk) : Variablerne £x *, =x 2y er kun tilgaengelige ved
kvadratregression.
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OCHOBHOE pyKOBOACTBO

B BknioueHue U BbIKIOYeHUe NuTaHnsa
Haxmute knasuwy [ ON/ac | ; Ans BKroueHUs nuTaHus; Haxmure
knasuwwm [ OFF ] ANS BbIKMIOYEHNA NUTaHKS.

B 3ameHa Gartapew
MuTaHne kanbKynsiTopa OCyLLECTBSETCS OT [BYX LLEMOYHbIX
Gatapeit G13(LR44).
Ecnu gucnnein Tycknblid, cneayeT 3ameHuTb 6atapeu. Bo nsbexanue
TpaBMm ByabTe akkypaTHbI NpU 3aMeHe GaTapenku.
1. OTKpyTWTe BUHTbI Ha 3aAHel KpbILLUKE KarbKynsTopa.
2. BcTaBbTe NMOCKyH OTBEPTKY B LUEMb MEXAY BEPXHeN 1
HWXHEN 4acTsiMK KOprnyca 1 OCTOPOXHO pa3fBUHLTE KOPMYyC.
3. BblHbTe 1 BbibpockTe cTapble 6aTtapeiiku. Hukoraa He
paspeluaiiTe AeTsM urpatk ¢ 6atapenkami.
4. TpoTpuTe HOBble GaTaperiku Cyxoi BETOLLLIO ANs
obecrneyeHnst MyyLIero KOHTaKTa.
5. BcraBbTe ABe HOBble GaTapeiiku NNOCKON CTOPOHO (Nntoc)
KBEPXY.
6. CABMHBLTE BEPXHIOIO M HIDKHIOKO MOMOBUHKM kopryca v
3aLUernkH1Te UX.
7. 3aBUHTWTE BUHTbI.

| QyHKLWIil aBTOMaTU4YeCKOro oTKn4eHus
nUTaHusa

KanbKynsTop OTKM4aEeTCsi aBTOMATUHECKM, ECIIN OH He

ucnonbayeTcs B TedeHne 9~15 MuHyT. Haxatuem knasmwm

[ ON/aC ] kanbkynsTop MoxeT 6biTb BHOBb BBEAEH B paboTy, Npn

3TOM OTOGpaxeH!e Ha 3KpaHe, NaMsTb U YCTAHOBKW COXPaHSIIOTCS.

B Onepauusa c6poca U OYUCTKU NaMATH

Koraa kanbkynstop B paboTe u nofydeH HEOXUAAHHbIN pesynbrar,

HaxmuTe knasuwy [ ON/ac 1 v [ MODE ] yeTbipe pasa nocre 4ero

6yaeT BblBEAEHO MeHI0. Ha akpaHe nosiBuTbCA cooblueHre 3anpoca,

XenaeTe N Bbl COBEPLUMTL onepaumio cbpoca 1 OYUCTUTbL NamsiTb

Kanbkynsatopa. [Ins aToro Haxmute knaswuwy [ 2 ].

Y106l OUNCTUTL BCE NMEPEMEHHbIE, TEKYLLME onepaLmm,
cTaTUCTUYEeCKUe AaHHble, OTBETLI, BCe NpeaplayLive BBeAeHHbIe

1 NamsiTb, HAXXMUTE knasuiy [ 2 ]. YTo6bl CoBepLUMTL onepaLmio
cbpoca 6e3 o4nCTKM NaMSATH KanbKynsTopa, HaxmuTe knasuwy [1].
Ecnu kanbkynstop «3aBuc» 1 AanbHeiwas pabota HEBO3MOXHa,
crieayeT HaxaTb C MOMOLLIbIO TOHKOTO 3a0CTPEHHOro npeaMeTa
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kHonky RESET pacnonoxeHHyto B yrnyonexuu, 4tobbl npusectu
KanbKynsiTop B paboyee cocTosiHue. Bce ycTaHOBKM KarnbKynsitopa
6ynyT BO3BpALLEHbl C UCXOAHBIM (habpuyHbIM).

] PeryﬂVIPOBaHVIe KOHTpacTa

Haxatue knasuw [« ] vnu [+ ] nocne knaeuvwm [ MODE ] nsmexsier
KOHTpacT 3KpaHa, Aenas ero 6onee cBeTNbIM WU TEMHBIM.
[nuTenbHoe HaxaTue OAHOW U3 ABYX knaBull JenaeT akpaH
COOTBETCTBEHHO CBETIIEE UIN TEMHEE.

B Otob6paxeHue nHdopmaumm

ﬂVICI'IJ'Iel?I KanbKynatopa COCTOUT U3 CTPOKU BBOAA, CTPOKMU
0T06pa)KeHMﬂ pesynerata U UHOMKaToOpOB.

WHpnkatop— [ ©e6
Crpoka BBOAa — 74-8/7
72.85714286—
Crtpoka BBoga  Kanbkynstop B kanbkynstope otobpaxaer

no 79-3HakoB. BBop ocylectensaercs ¢ nesow
CTOPOHbI Aucnnesi, npu BBeaeHun Gonee 11
3HaAKOB,3HaKN CMeLLIAloTCs C aKpaHa BMeBo.
Haxatvem knasuw [ » ] unu [ < ] k ypcop
nepeABUraeTcsi Mo 3Hakam NnocrefoBaTenbHo.
Ecnu Bbl BBOAMTE 73-3Ha4HOE YMCMO B KAKOM-
NGO BbIYMCNEHUM, KYPCOP MEHSIETCS OT “ _ " K
“W”, npepynpexaas 06 ymeHblUueHUM obbema
namsTh kanbkynstopa. Ecnu Heo6xoammo
NpOAOIXUTL COBEpLLEHWNE onepaLyii, To crneayet
pasnennTb BbIYMCTIEHUS Ha iBa Unu Gonee
3Tanos.

Ctpoka pesynstata OTtoGpaxaeT pesynbrar fo 10 3Hakos,
BKIIOYast AECATUYHbIE APO6U 1 3HAaK MUHYCa,
nHaukaTop “x10 7, a Takke ABYX3HaYHble
NONOXMTENbHbIE UK OTpULLATENbHbIE
riokasaTtenu CTeneHu.

Wnaukatopbl  Crepytloline MHOMKATOPbI MOTYT NOSIBMSTLCS HA

aucnnee, ykasblBasi Ha COCTOsIHWE, B KOTOPOM
paGoTaeT KarnbKynsitop B AaHHbI MOMEHT.

WHaukatop 3HaueHune

* +—— MHaukatop

Crtpoka pesynerara

M 3HayeHne 3aHeCceHo B NamMsTb

- OTpuuaTenbHbIi pesynstart

2nd Haxarta knaBuiwa BKNOYEHUS BTOPOro
pervctpa

[A] BykBeHHble knaBuLn

) B paboyem pexume.
STORCL STO : Bknto4eH pexum coxpaHeHus
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nepeMeHHbIX
RCL : Bknto4eH pexum noBTOPHOrO
BbI30Ba NEPEMEHHbIX
SD Kanbkynsitop paboTaet B pexvume
CTaTUCTUKK
REG BknitoueH pexxum paboTbl ¢ ypaBHeHUeM
DEGRAD BknioueH pexum paboTbl C yrnoBbiMu
sennunHamu. DEG, GRAD, RADS
ENG BkrtoueH pexvm paboTbl B UHXEHEPHOIA.

ScClI BayuHoit HoTtauuu.
FIX KonwnuecTBo paspspgos nocne 3anstoun
hrkcupoBaHo

HYP Pacuet runep6onuyeckux
TPUrOHOMETPUYECKUX (PYHKLNIA

BUSY B AaHHblii MOMEHT BbINOMHATCS
onepauum

€ - Cnesawnu cnpasa OT BUAVMOWN CTPOKK
HaxofsATCs 3HaKn

A ¥ Bsepxy Hag vnu BHW3Y Noa BUOUMOIA
CTPOKON MMEETCH pesynbTaT, BO3MOXHbIN
ANs NpoYTeHus!

Mepen Hayanom BbIYUCIIEHUN

B  BbIBEOP PEXXUMA PABOTbI KAJIbKYINIATOPA
Kaxpabiit pa3 npu Haxatum knaeuwm [ MODE ],pa3nuyHblie
hyHKUVOHarbHbIE MEHIO 1 LMpOoBble BENNYMHBI ANs
COOTBETCTBYIOLLETO pexvma paboTbl BbIBOAATCS HA 9KPaH.
Kanbkynatop umeeT Tpu pexuma ebiuncnennii (COMP, SD, REG)
Tpu yrnosbix pexxuma (DEG, RAD,GRAD)4eTbipe HoTauumn Ans
akpaHa (FIX, SCI, NORM, ENG) u ¢yHkumio cbpoca (RESET).
BBeneHnem LndpoBoit BENUUMHLI MOXHO NepeBeCcTU KanbKynsTop B
HYXHbI pexxium paboTbl. MpuBeaem npumep :
1. Haxwmwute knasuwy [ MODE ] ans BelBoAa MeHI0 pexumMa
paboTbl KynbKynsiTopa.
2. Haxwmute [ 2] ans nepeBoaa KynbKynstopa B pexum paboTbl
CO CTaHAAPTHLIMU MPOU3BOAHBIMU.

COMPSDREG | (2 s oee
-

1 2 3 0.

B  Wcnonb3oBaHue knaeuuw “ 2nd ” BTOpOro
perncTpa

Korga Bbl HaxméTte knasumwy [ 2nd ],“ 2nd " nossuTcsA Ha aucnnee,

coobLasn, Yto 6yaet BbiGpaHa hyHKLMSI BTOPOTO perucTpa HaxaTown
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knaeuwu. Ecnu Bbl no owmnbke Haxanu knasuwy [ 2nd ], npocto
HaxmuTe elle pa3 knasuwwy [ 2nd ], nHaukatop “ 2nd ” ucyesHer.

m  Kypcop

Haxatvem knasuw [ » ] unu [ 4 ] Kypcop nepeasuraeTcs Bneso unu
BMpaBo. HenpepbiBHOE HaxaTvie NGO U3 3TUX KNaBULL YBENUYNAT
CKOPOCTb NepeABUKeHs Kypcopa.

Haxatvnem knasuw [ 2nd ] [« ] vnu [ 2nd ] [ v ] MoxHO nepeasuratb
BMAVMYIO YacTb 3KpaHa BBEPX UNM BHU3, BbIBOAS Ha Auchneit
HeBUAMMbIE B HAcTOSILLMIA MOMEHT faHHble. Bbl MOXeTe BHOBb
MCMonb3oBaTb UK PeAaKTUPOBaTh NpeablayLive 3anucy Koraa OHU
oTobpakeHbl B CTPOKE BBOAA.

B lcnpaBneHus npy BBoAe MHGopMauum

YTo6bl yAanuTb 3HakM C NOMOLLbIO Kypcopa, nepeasurasi Kypcop
HaxxaTuem knasuw [ » ] unu [ < ], BbiAENUTE HyXHble 3HaKu, a 3aTeM
HaxxmuTe knasuwy [ DEL ].

YTo6bl 3aMeHUTb 3HaK, BblJENUTE [aHHbIA 3HaK nepeasuras
Kypcop MCronb3oBaHWeM knaeuu [ » ] unu [ 4 ], 3aTem ocyluecTsute
HOBbIV BBOZ, AN 3aMEHbI 3HaKa.

YTo6bl BCTABUTL 3HaK, NepeaBUHBLTE KYpcop K MeCTy, [ae Bbl XOTUTe
oCyLlecTBUTb BBOA, 3Hak OyAeT BCTaBreH nepeq BblAeNeHbiM
3HakoMm HaxaTtuem knasuw [ 2nd ] [ INS ] u, cooTBETCTBEHHO,
BBEJEHMEM HOBOTO 3HaKa.

(MpumeyaHye) :MuraloLnii Kypcop “ 137 03HauaeT, YTo KarbkynsTop
HaxoAmUTCs B PEXVMe OXWaaHUs BCTaBKM 3Haka. M,Haobopor,
MUratoLLMi Kypcop, OToBpaxaeMbIii Kak “_" o3Ha4aeT, YTo
KarnbKynsTop HAXOAWTCS B PEXMME 3aMeHbl 3HaKa.

Haxatvem knasuwm [ ON/ac ] nponssoauntcs ouncTka akpaHa ot
BCeX 0ToGpaxaeMmblX 1 BBOAUMBIX 3HAKOB.

| q)yHKLlMﬂ noBTOpa

+ OTa YyHKUMS COXpaHAEeT MOCHeAHI0I BbIMOMHEHHYO
onepaumio. Mocne Toro, kak BbINOHEHWE onepaLun 3aKOHYEHO,
HaxaTue knasuw [ 2nd ] [a] unu [ 2nd | [+ ] BbIBEAET Ha akpaH
MOSIHOCTBIO BCIO OMepaumio oT Havyana Ao KoHua. Bbl moxeTe
npoaoMKMThL NepeaBKeHne Kypcopa knasuwamm [ »] unm [« ],
ocyllecTBNss pedakTMpoBaHue. Haxmute knaeuwy yaaneHus
[ DEL ], 4To6bl yoanute 3Hak (unu, ecnu paGoTaete B pexume
3aMeHbl 3HaKa, HaXXMWUTe HYXHbI 3Hak). Cm.[pumep 1.

DyHKLMA NOBTOpPa MOXET COXPSAHATb A0 256 BBEAEHHbIX
3HaKoB (ons kanbkynsitopa B kanbkynstope). MNocne Toro kak
BbINOMHEHNE pacyeToB GyAeT OKOHYeHO UNK BO Bpemsi BBOAA,
Bbl MmoxeTe Haxatb nobyto n3 knaemw [ 2nd [ [a]umnm [2nd [ [v]
Ansi Toro, YToObl BbIBECTU Ha 3KpaH Mpeabiaylime Lwarv BBoAa

.
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W pefakTupoBaTb BENUYMHbLI MW KOMaHAbl Ana nocnegytowero

BbinonHeHus. Cm.Mpumep 2.
(MpumeyaHue) : OyHKLUMS NOBTOpPa He yAansieTcs U3 namsaTu

KanbKynsTopa Aaxe Koraa Haxara knasuiia
[ ON/AC ] wnn OTKIIO4EHO NUTAHME, NOATOMY
copiepxaHne MoXeT BblTb MPOCMOTPEHO Aaxe
nocne Toro, kak Gbina Haxara knasuwa [ ON/ac
] . OnHako, Npyu BbIXoAe U3 pexuma, (yHKuus
bIMOMHEHNS OYMLLIAETCS.

B DyHKUMA, yKa3biBaloLWas No3Muuio
HenpasuIibHO BBeAEHHON BeNINUUHbI
« Korga npeacTaBneHble pacyeTbl MaTeMaTU4eckn He BO3MOXHbI K
BbIMONHEHUIO, A@HHasi OYHKLUMUS YCTAHOBUT Kypcop B MeCTO, rae
ponyuleHa owmbka. Haxatvem knasuiw [ » ] unum [ < ] nepeaBuHbTe
Kypcop 1 BBeAUTE NpaBuUnbHOe 3HaveHne. Bbl MoxeTe Takxke
yaanuTb owmnbky Haxatnem knasuiwm [ ON/ac |, a satem BBecTU
npaBunbHble BENUYMHBI UK BbipaxeHus. Cm.Mpumvep 3.

B 3anomMuHaHue BblYUCNEHUN

HE3ABUCUMASA NAMATb
* Haxmute knaBuwy [ M+ ], 4uTo6bl NOMECTUTL TEKYLLMI pesynkTaT
B namaTb. Haxmute knasuwy [ 2nd ] [ M— ], 4ToGbl BbI3BaTHL
BenuunHy obpatHo u3 namsitn. [ 2nd ][ RCL] [ @ ]. YT0bbI
OUUCTUTB TEKYLLYHO NaMsiTb HaxmuTe knasuwm [0 ][ STO | [ ].
Cw.Mpumep 4.
(Mpumeyanue) : S3HaveHne NepeMeHHo coxpaHseTcs npu
HaxaTum Ha kHonky [ STO |, kpome Toro,
NpUCBOWTbL 3Ha4YeHNe nepemeHHoi M Bbl MoxeTe
HaxaTuem Ha kHonky [M+] unm [ M- 1.

NEPEMEHHbIE NAMATU
* Kanbkynsitop copepXut 9 nepeMeHHbIX NaMsiTh Arsi NOBTOPHOTO
vcnonb3oBanusa A, B, C, D, E, F, M, X, Y. bl MoXeTe ncronb3oBaTtb
WX ANsi COXPaHEHUS YUCIOBOrO BbipaxeHusi. Cu.Mpumep 5.
* [STO]+ ,[M], nan Mossonsiet
COXPaHWUTb BEMUYUHBI B NEPEMEHHBbIX.
* [2nd][RCL]wmm [ALPHA]+ [A]~[F],[M], um [X]~
Bbi3blBaeT BENMYMHBLI NEPEeMEHHBbIX.
* [0][STO]+ [A]~[F] unm Oumncuaet
paHee 3afjaHHble BeNneYnHbl NepeMeHHbIX NaMaTy.
* [2nd ][ Mcl][ =] OumncyaeT BCE NEpPeMEHHbIE NaMATU.

m OTCEK

B KynbKynsiTope umMeeTcs 06nacTb NamMsiTi HasblBaeMas OTCeK.
OHa WCnorb3yeTcs Anst BPEMEHHOTO COXPaHEHs! BEMWYMH
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(umdbpoBOIA OTCEK) M KOMaHL, (KOMaHAHbI OTCEK) B COOTBETCTBUM C

WX CTapLUMHCTBOM B NpoLiecce CoBepLUeHns onepaumii. Lindposon
oTcek pasaeneH Ha 10 ypoBHel, KoMaHAHbI oTcek Ha 24. CoobLueHui
OLUMBKA B OTCEKE (Stk ERROR ) nosiBnsietcst npy coBepLUeHn
BbIYMCIIEHWIA MPeBbILLIAILLMX 06beM oTceka.

B [lopsaok BbINOMIHEHUA onepauumn

Bce BbluMCNEHNs BLIMOMHSAIOTCA B CriedyioLem nopsiake no
CTapLUMHCTBY:
1) TMpeobpa3oBaHusi koopavHaT
2) ®yHkumm TUNa - A, koTopble TpebytoT BBOAA BENUYUH A0
HaXaTus (OyHKUMOHAMBHBIX KNaBuLL, Hanpumep X, 039 ,
xx7".
3) ¥y

4) [Opobu

5) CokpalleHHble hopMaThl yMHOXEHWS nepes,
nepeMeHHbIMU, .

6) dyHKUMM TUNa - B, KoTOpble TpebyioT HaxaTus
chyHKLMOHarbHbIX KMaBuLL nepes BBOAOM, Hanpumep, sin,
cos, tan, sin ™', cos ',
tan ™, sinh, cosh, tanh, sinh ', cosh ', tanh ™', log, In, 10 %,
ey, (=)

7) CokpalleHHble hopmaTbl yMHOXEHUS nepes, dyHKUUSAMU
na-B2,3,Alog2, nT.4a.

8) nPr,nCr

9) x,+

10) +, -

Korga ¢yHKUMM, onMHaKOBbIE MO NPUOPUTETHOCTH,

MCMNONb3YTCA B OOHOM psily, BbIMONIHEHUE NPOUCXOANT

cnpasa Haneso.

e*In120— e *{In (120)}

MHaue, BbINONHEHNe NPOUCXOAUT CrieBa Hanpago.

Bce copepxumoe ckoBok BbINOMNHAETCA B Nopsiake

nepBOOYepegHOCTH.

B exXHU4YecKue XxapakTepucTUKMU

TouHocTb BbiBOAa : [Jo 10 umndp

Bbluncnsemsie undpsl @ o 15 undp

B Lenom Bce HecnoxHble BbIMUCTIEHNS BbIBOASITCA Ha 3KpaH B
obbeme A0 10 3HAKOB MaHTUCChI YKCHA, MU AeCATUIHAYHAs
MaHTUCCa NIoc ABYX3HAYHbIV NokasaTenb crenexn Ao 10 *° Yyena,
1cnonb3yemble ANns BBOAA, AOMKHbI HAXOAUTLCS B CeayoLmuxX
npegenax :
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DyHKUUN

MpaHULbI 3HaYeHU

sin x, tan x Deg : 0=| x| =4.499999999 x 10 "
Rad : x| =785398163.3
Grad : 0=| x | =4.499999999 x 10
Mexay Tem, ansa tan x
Deg : | x| #90 (2n—1)
Rad : | x| # 7 (2n-1)
Grad : | x| #100 (2n—1) ( n- vHTerpan)
cos X ©4.500000008 x 10 °

Rad : 0= | x | =785398164.9
| x | =5.000000009 x 10 °

sin ' x, cos " x

sinh x, cosh x

0=| x| =230.2585092

tan " x

0=| x| =9.999999999 x 10 *

tanh x, tanh ™' x

0=| x| £9.999999999 x 10 "

sinh " x, cosh ™' x

0=| x| =4.499999999 x 10 *

log x, In x x>0
10~ —9.999999999 x 10 ¥ = x = 99.99999999
e —9.999999999 x 10 *° = x = 230.2585092
Jx 0=x<1x10™
x? |x|<1x10%
x |x]<1x10', x#0
Ix |x]<1x10™
x! 0=x=69, x- uHTerpan.
Pol (x,y) | x|, ]y | =9.999999999 x 10 *
x? +y?=9.999999999 x 10 *
Rec (1, 0) £9.999999999 x 10
=4.499999999 x 10
x| £785398163.3
Grad : 0=| x | =4.499999999 x 10
Mexay Tem, ana tan x
Deg : |0 #90 (2n—1)
Rad: [6] # 5 (2n-1)
Grad : | 6| #100 (2n—1) (n- uHTerpan)
[11] lal,b,c<1x10',0=b,c
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|x]< 1x10'®

57 ” [ekconpobHble <> [lecATnuHble
npeobpasoBaHus
07070"=|x| 999999 " 59
x” x>0:-1x10"<ylogx < 100
x=0:y>0

x <0 :y=n, 1/(2n+1), n- uxTerpan.
HO—1x10 "< ylog | x | <100

y> 0:x#0,-1x10 ™< X log y <100
%(/? y=0: x>0
y <0 * x=2n+1, I/n, n- unterpan.(n#0)

Ho—1x10"° <L log | y| <100

nPr, nCr 0=n=99, r=n, n,r- uHTErpansl.
SD | x |<1x10%,| y [<1x10%, | n |<1x10"®
(REG) XGn, Yon, XY , A, B, r:n#0

XOn-1, Yon-1: N # 0,1

B [losiBneHue owMnG0K

Mocne Toro, Kak coobLueHne 06 ownbke NOSBUTCSA Ha AKpaHe,

fanbHenLne BbIYUCNIEHNS CTAHOBATCA HEBO3MOXHbIMU. [pu

nobom 13 cregyloWwmx  YCroBUI :

Ma ERROR (1) Koraa pesynbsTaT HasHa4yaemoro BblYMCneHUs
BbIXOAMT 3a AOMNYCTUMbIE PaMKK
(2) Bel noneitanuck pasnenuts Ha 0.
(3) Koraa ponyctumblin npeaen Beogda Ans
hyHKLIMOHAMbBHbIX BbIYUCIIEHWA MPEBbILLAET 3a4aHHbIN
npeaen.

Stk ERROR Korga npeBbilleH 06beM LMpoBOro oTceka unm
KOMaH[HOTO oTceka.

Syn ERROR Koraa BBefeHbl He BO3MOXHbIE K BbIYUCIIEHNIO
MaTemaTuyeckue onepaLmm.

YTo6bl n36aBUTLCA OT BbilLEyKa3aHHbIX OLLMGOK HaXKMUTE KaBuLLy

[ON/ac 1.

BA30BbIE BbIYUCITIEHNA

Wcnonb3ayiTte pexxum COMP ans 6a3oBbix
BblYMCNEeHUN

B ApudmeTmuyeckue BblYUCNEHUSA

« [Ina oTpuuaTenbHbIX BENWYUH HaxmuTe knasuwy [ (-) ] nepen
BBO/JIOM BENINYMHbI ; Bbl MOXeTe BBECTU YACNO B MaHTUCCY W
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9AKCMOHEHTY HaxaTuem knasumwm [ EXP ] . Cm.Mpumep 6.

* ApudmeTuyeckue onepaLum ocyLecTBAAIOTCS HaxaTuem
KNaBuLL B TOV Xe NOCNeAoBaTENIbHOCTH, Kak U B BbIPaXeHUsX.
Cwm.Mpumep 7.

B BbluMcneHus B ckobkax

« Onepauun B ckobkax Bcerfa BbIMOMHSIOTCS B NEPBYIO 04epespb.
Kanbkynsatop B kanbkynsitope MoxeT obpabaTbiBaTb BblpaXeHus
C NPOCTLIMU BbIYUCNEHNAMM, UMeIoLLME A0 15 ypOBHEN BNOXEHUIA
ckobok. Cm.Mpumep 8.

B PacyeTbl NpoOLEHTOB

Haxatve knasuw [ 2nd ] [ % ] aenvt uncno Ha gucnnee Ha 100.
Bbl MOXeTe cnonb3oBaTh 3Ty NocneaoBaTeNnbHOCTb KNaBuLL Ans
BbIYUCNEHNI A NPOLEHTOB, A0BGaBMNeHnii, CKAOK U MPOLEHTHbIX
poneit. Cm.Mpumep 9~10.

B ®dopmaTbl OTOGpaxKeHUA

B kanbkynstope UMeloTCst CrieayioLmne YeTbipe pexuma 3KpaHHbIX
HOTaLMi Ans BbIBOAUMBIX Ha 9KpaH BENEYMH.
O6bluHaa Hotauwmsi(Norm) :
Mpu 3TOM KanbkynsTop BbIBOAWT BENUUMHBLI pasmepom Ao 10-T
3HaKoB. BenuunHbl npeBbiLLatoLLMe faHHbIA pasMep aBTOMaTU4ecku
BbIBOASATCS Ha 9KpaH B 3KCMOHEHTHOM chopmaTe. MimeeTcst ABa Buaa
oTo6paxeHusi B 9KCMIOHEHTHOM ¢hopmarTe :
“1 Norm” pa6oTbl pa6otbi : 10 2> |x|,|x|>10"°
“2 Norm” pa6otsi pa6otbi : 10 °> | x|, |x|>10"
(Mpumeyanue) : Bce npumepbl BbluMcneHuin B Pykoeoactee
nokasbiBatoT pesynbtaT ucnonesys “1 Norm”
paboTbl.
WHxeHepHas HoTaums : ( ENG )
PesynbTathl BbIYMCNEHUIA NPU UHKEHEPHOW HOTaLUN BbIBOASTCS
Takum 06pa3om, YTO MaHTUCCa BENWYMHbI BLIBOAUTCS C ykasaHuem
onpeaeneHHoro Ynucna AecsTUYHBIX MECT, Npu 3TOM nokasaTternb
CTeneHn ANns aKpaHa ycTaHaBNMBAETCA KpaTHbI 3.
BapaHHast Hotauwms : ( FIX)
PeaynbTaThl BbIUACNEHWIT BLIBOAATCS C 3a4aHHLIM YMCIIOM
[ECSATUYHBIX MECT.
Hayunas Hotauus @ ( SCI)
PeaynbTaThl BbIMUCIIEHUI MPU HAY4YHON HATaLMW BbIBOAATCS TakuM
06pa3om, 4TO MaHTUCCa BENINYUHBI BLIBOAUTCS C yKasaHuem
ornpefeneHHoro Yncna AecsiTiHbIX MecT.
« [Ans FIX, SCI (3agaHHoit, HayuHol) HOTauumin, Yucno AECATUYHBIX
MecT MOXeT 6biTb onpeaeneHHo mexay 0-9. Mocne onpeaenexns
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yncna AecsTUYHBIX MECT, BbIBOAMMANA Ha 3KpaH BenuunHa Gynet
OKpyrfieHa B COOTBETCTBUW C YMCIIOM Pa3psifioB U oTobGpaxaTbCst
B onpeAeneHHoMm dopmarte. B criyyae korga He Gbinu 3apaHHbl
onpeaeneHHble 3Ha4YeHUa ANs Yucna [ecsTUYHbIX MeCcT unu
3HaYUTENbHbIX Pa3psiAoB, BblYMcrieHns ByayT npoussoanTcs
B cootBeTcTBUM C “1 Norm” un “2 Norm” pexvumamu paboTbl.
Cm.Mpumep 11.

Haxatmem knasuwm [ ENG J unm [ 2nd ] [ ET\IG ] BbIBOgUMas
3KCMoHeHTa Ana otobpaxeHHOro Yncna byaet nameHeHa Ha
kpaTHyto 3.Cm. Mpumep 12.

[laxe, ecnu Yncrno okpyrrneHo Ao AecATUYHOro paspsaa,
BHYTPEHHWE BbIYUCIIEHUS AN MaHTUCChl MPOM3BOAATCS ANs
15 undp. (ans Kanbkynatop,) n oto6paxatTcs Ha aKkpaHe B
konuyectse 10 3HakoB. YTOGblI OKPYrMUTb 3TV BENINYMHBI [0
HYXKHOTO YMCTa KONMYEecTBa paspsifoB Mocre 3ansiTod, HaXxmuTe
knaemwm [ 2nd ] [ RND ]. Cm.Mpumep 13.

| q)yHKLIMH HenpepbIBHbIX BblYMCNEHUN

* KanbKynsiTop npefocTaBnsieT BO3MOXHOCTb MOBTOpa NocreaHen
onepauuun, 3aBeplleHHON HaxaTuem knasuwu [ =], ans
fanbHenWux soluncnennin. Cm.Mpumep 14.

« [laxe ecnu BblYMCIIEHUS 3aBEPLUAIOTCS HAaXaTUeM KNnaBULLM
[ =1, nonyyeHHbIn pe3ynbTat MoXeT 6biTb MCNONb30BaH AN
fanbHenwmnx sbluncnennii. Cm.Mpumep 15.

B OyHKUMA oTBeTa

* OYHKUMS OTBETa COXPaHSET MOCNEAHWIA MOMyYeHHbIN pesynbTar.
BenuuunHa coxpaHseTcs gaxe Nocne oTKMYEHUA NUTaHUS.
PesynbtaThl YCIOBbIX BEMAYWUH U YUCMOBbIX BbIPaXeEHUN, nocrne
BBEIeHUs1 KOTOPbIX HaxaTta knaeuwa [ = ] , coxpaHsloTCst aToi
dyHkumeir. Cm.Mpumep 16.

(Mpvmeyanue) : [laxe ecnu BbINOMHEHUE BbIYUCTIEHWIA
3aKaH4YMBaeTCs OLUMGKON, AaHHas pyHKUMA
COXPaHsIeT TeKyLLMe BeNUYUHbI.

MHxxeHepH BblYMCIIEHME

Wcnonb3oBaHue pexuma COMP gnsa Hay4HbIX
BbIYUCIIEHUA.

B Jlorapudmbl 1 AHTUNOrapvudmbI

. KaﬂbeﬂﬂTOp MOXET BblYUCNATb 0GbIYHbIE U HaTypanbHble
norapudmbl 1 aHTUnorapudmel, ncnonbsys knaswvwm [ log ], [In],

[2nd][10%],n[2nd][e*]. CMm.Mpumep 17~19.
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B BbluucneHus c apo6samu

[po6Hble BENUYMHBLI OTOGpaXatoTcs CreayoLwmM obpasom:

56 1 5 1 12 | OtobpaxeHue 56 %

(MpumeyaHue) : BennunHbl aBTOMaTUHECKN BbIBOASATCS Ha 3KpaH B
[ecsTUYHOM chopmaTe Jaxe Toraa korga obliee
YMCNO 3HAKOB APOBHONBENNYMNHBI(Yemnoe +
yucnutenb+3HameHaTenb+3Hak AeneHus)
npesbiwaet 10.

Y106bl BBECTM CMELLIAHHOE YMCII0, BBEAUTE LIENYIO YacTb, HAXKMUTE
kHOMKy [ a °/, |, BBEAUTe uncnuTens, HaxmuTe [ a /. | u BBEaUTe
3HameHaTenb. YTo6bl BBECTU HenpaBunbHy Apobb, BBeguTe
uncnuTenb, HaxmuTe knasuwy [ a /. | 1 BBEAUTe 3HamMeHaTenb.
Cw.Mpumep 20.

.

Haxatvem knaeuw [ 2nd ] [ %/, JoroBpaxaemas sennumnHa Gyaet
npespalleHa B HenpasunbHy Apobb, 1 HaobopoT. HaxmuTe
knasuwm [ a %, ]. ANs KOHBEPTALUU MEXAY AECATUYHBIMU 1
ApobHbIMK pesynbTatamu. Cm.Mpumep 21.

.

Onepauun ¢ BeNuMUYMHaMu coaepXallumm Apobu 1 OecaTUdHble
Apobu ocyuwecTBnsOTCA B opMaTe AeCATUYHbIX Apobeil.
Cwm.Mpumep 22.

B OGpaweHue yrnoBbIX eAUHUL,

Haxatvem knasuwm [ MODE | npov3BoamnTcst BbIBOA Ha 3KpaH MEHI0
Ana yrnosbix eavHuy (DEG, RAD, GRAD). Cesasb Mexay Tpemst
YIMOBLIMY eAyHULLaMK :
180 ° = mrad = 200 grad
O6paluenue yrnos (Cm.Mpumep 23.):
1. M3meHuUTe yCTaHOBKM YINOB MO YMOMYaHUIO Ha Te,
KOTOPbIE Bbl XOTUTE 06pPaTUTD.

2. BBeauTe BenuuMHy eanHULIbl Ast KOHBEPTaLWK.
3. Haxwmute knasuwy [ DRG— ] ans BbiBoaa Ha gucnneit
MEHI0.

EauHuupl, koTopble Bbl MOXeTe BbiGpaTth D (rpagychl),

R (pagwnaHbl), G (rpaguaHbi).

4. BbibepuTte eamHuULbl, U3 KOTOPbIX Bbl XOTUTE
OCYLLECTBUTbL KOHBEPTALMIO.



5. [Baxabl HaXMWUTe knasuwy Beoaa [ = .

B  TpuroHomeTpuyeckue n obpartHble
TPUroHomMeTpu4veckue beHKLWIVI

» Kanbkynstopbl B kanbkynsitope o6ecne4nBaioT BbIMMCIIEHUSA C
TPUTOHOMETPUNYECKUMM 1 0BPATHBIMU TPUTOHOMETPUYECKUMIA
cpyHKLMAMMK - sin, cos, tan, sin ', cos ' u tan ~'. Cm.Mpumep
24~26.
(Mpumeyanwue) : Ecnu ucnonbaytotcs a1 knasuwun, ybeautecs,

4TO KanbKynsTop yCTaHOBMeH Ansi paboTsl ¢

HY>XHbIMW YINOBbIMW BENUYMHAMMU.

B [unep6onuyeckue n O6paTHble
runep6onuyeckue pyHKLUU

« KanbkynsaTtopbl B kanbkynstope ncnonb3ayiot knasuwwm [ 2nd ] [HYP]
ANS BblYMCNIEHNI rnnep6onnyecknx 1 06paTHbIX runepGonmyeckmx
yHKLMiA - sinh, cosh, tanh, sinh ™', cosh ™' 1 tanh ~'. Cm.Mpumep
27~28.

(Mpumeyanue) : Ecnn ucnonb3ytotcst aTm knaeuvwwn, ybegutecs,
YTO KarnbKynsTop yCTaHOBMEH Anst paboTsl ¢
HYXXHBIMW YTTIOBBIMU BENUYMHAMU.

B [lekcoapoGHble <> [lecATUYHblenpeobpa3oBaHus

[lekcogpo6Has HoTauus NpeAcTaBneHa kak

127597456 “ | Yro osnauaer 12 Ipaaycos, 59 PaauwaH, 45.6 Mpagnax

* KanbkynaTop MOXeT OCYLWeEeCTBMNATbL KOHBEPTALMUIO MEXAY
LeKCOAPOBHBIMU 1 AECATUYHBIMU YACNAMU HaXaTUeM KnasuL

LossIu(2nd][ Gyss ] Opumep 29~30.
B /3meHeHue KoopauHaT

MpsiMoyronbHbLIE KOOPAUHATLI MonsipHble kKoopAnHaTHI

X+ yi=r(cos 6 +isin0)

* KynbKynstop MOXeT OCYLLeCTBNISTb KOHBEPTaLMIO MeXay
NPSIMOYTONbHBIMY U MONSIPHBIMI KOOPAVHATAMU HaxaThem
knasuw [ ALPHA] [ Pol (] u [ALPHA] [ Rec ( ]. Pesynsrathbl
BbIYWCIIEHNIA aBTOMATUYECKN COXPAHSIIOTCA B NePeMeHHbIX
namsaTtv E v F. [lpumep 31~32.

(Mpumeyanue) : Ecnn ucnonb3ylotcs aTv knaeuwu, y6eaurtecs,
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YTO KanbKynsaTop yCTaHOBMEH ANs paboTbl ¢
HY>XHbIMW YINOBbLIMWU BENUYMHAMMU.

B BeposaTHoCTb

« B Kkynbkynstope umetoTcs crieaytowue dyHKLUU BEPOSATHOCTM.

(Npumepsbl 33~36.)

[nPr] Bblyncnser 4ncno BO3MOXHbIX NEPeCcTaHOBOK
13 N NpegMeToB B3SATbIX I pas.

[nCr] BbluncnsieT YMcno BO3MOXHbIX KOMBMHaLUIA 13
N NpeaMeToB B3AThIX I pas.

[x!'] BbluncnaeT koahdULMEHT onpeaeneHHoro

NOMOXMTENLHOrO LIeNOoro Ynena X, rae x < 69.
[ RANDOM ] TleHepupyeT cnyyaiHoe yucno ot 0.000 o
0.999

m [pyrue dyHkumn (X7, 7,3, ¥, X5 x0x)

+ B Kkanbkynstope umeroTcst yHKUMN oBpaTHbIX BennumH ([ x ]

), U3BneyeHnss keagpaTtHoro kopHs ( [y ] ), KyBu4eckoro KopHsi
([3 1), yHuBepcanbHoro kopHs [# ], Bo3BeaeHusi B kBagpar (
[x°1), ky6 ([ x *]) n BosBepeHns B cTeneHsb ([ x ¥ 1) Mpumeps
37~40.

BbasoBble npoun3BogHbIe onepaunun

Ucnonb3ynte pexum SD ans 6a30BbIX NPOM3BOAHbLIX

onepauun.

« Becerga y6eautech B TOM, 4TO nepea coBepLueHnemM 6a30BbIx
NPON3BOAHbIX BLIYNCIIEHUI, Bbl 04MCTUNM CTATUCTUHECKYIO
namsiTb NyTem Haxatus knasuw [ 2nd ][ Scl ] .

» OTAenbHoOe YNCNo MOXeT BbiTb BBEAEHO UCMONb3Ys KNaBuLLy

[DT]. Ytobbl yaanuTb TOMNbKO Y4TO BBEAEHHOE YNCIO HaXMuUTe

knasuwy [2nd ][ CL ]. KpaTHoe 4icno AaHHON BENUYMHBI MOXET

6bITb NonyyeHo HaxaTtvem knasuww [ 2nd ][ ; ] . Hanpumep, 4To6bI

BBeCTM Yncno 15 cemb pas, Haxmute 15[2nd ] [; 17 [DT].

BenuunHbl CTaTUCTUHECKUX NEPEMEHHbIX 3aBUCST OT BBEJEHHOMO

[aHHoro. Bbl MoxeTe BbI3BaTb VX KIIOYEBbIMU OnepaLmsamMm

nokasaHbimu B Tabnuue. Mpumvep 41.

vx2 [RCL]+[ [A]] X [2nd]+[X]
¥ [RCLI+[[B] ] XOn [2nd ]+ [XOn]
n [RCLI+[[C]] XGn-1 [2nd ]+ [XGnt]

BbIYUCNEHNA C YPABHEHUAMMWU

Ucnonb3yiTte pexum REG AnsA Bbl4McneHun ¢
ypaBHEHUsIMU.
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Haxmute [ MODE ] 3 4To6bl BbI3BaThL MeHio REG , 3aTtem
OCYyLLECTBUTE BbIGOP OAHOW W3 LIECTU TUNOB YPaBHEHUN, HaXaTnem
COOTBETCTBYHOLLE LIM(PPOBOI BENUYMHDI, KaK :

) =]
Lin Log Exp> — > | €Pwr Inv Quad

1. 2 3 ¢ [«] 1 2 3
Lin INuHeiiHoe ypaBHeHne y=A+Bx
Log Toroputmunyeckoe ypasHeHve y = A + B Inx
Exp YpaBHEHWE C IKCMIOHEHTON y=A.e®
Pwr YpaBHeHKe CO CTeneHbIo y=A-x"®
Inv ObpaTHoe ypaBHeHue y=A+ E
Quad KeagpaTtuuHoe ypaBHeHne y=A+Bx+Cx

* Becerpa y6eautech, YTo nepeq oCyLECTBNEHNEM BbIYUCTIEHUIA

C ypaBHEHUSIMU, Bbl O4UCTUIIN COAEPXaHNe CTaTUCTUYEecKon
namaTn Haxatuem knasww [ 2nd ] [ Scl .

OTaenbHoe YUCNo MOXeT BbiTb BBeAEHO HaxaTueM knasuwm [DT]
YT106bl yAanuTb TONLKO YTO BBEJEHHOE YNCIO, HAaXMUTE KNaBuLLy
[2nd] [ CL ]. KpaTHOe 4ncno moxeT BbiTb BBEAEHO HaxaTnem
knaeuuw [ 2nd ] [ ; ][Hanpumep, 4toGbl BBeCTV AaHHble 44 1 55
necsiTb pa3 Haxmute 40([>]55[2nd][;]10[DT].

BenuunHbl CTaTUCTUYECKUX NEPEMEHHbIX 3aBUCST OT BBEAEHHOTO
Bamu uncna. Bbl MoXeTe BbI3BaTb X C MOMOLLbIO KITOYEBbIX
onepauwii, NokasaHbix B Tabnuue Huwxe. YTobbl onpeaenuts
BEMUYMHY Ans X (MNW y) Npu 3aAaHHON BENUYMHE Y (Unu X),
BBEAVTE 3a71aHHYI0 BENMUMHY, HaxmuTe [ 2nd] [)A/ Jwm[2nd] [
X 1), v HaxmuTe ewe pas [ = ]. [pumep 42~43.

Ix* | [RCLI+[[A]] XGn [2nd]+[XGn]
x| [RCL]+[[B]] XOnt | [2nd]+[XOn1]

n | [RCLI+[[C]] y [2nd]+[y]
Zy? | [RCLI+[[D]] yon | [2nd]+[yGnl
Ty | [RCLI+[[E]l | youn | [2nd]+[YGnil
Ixy | [RCL]+[[F]] A [2nd]+[A]
£x°® | [RCL]+[[M]] B [2nd]+[B]
Yx% | [RCL]+[ (e} [2nd]+([C]
Tx* | [RCL]+([ r [2nd]+[r]
X | [2nd]+[X] X [2nd]+[X]
y | [20d]+[§]

(Mpumeyanme): MepemeHHble ZX 4 , X 2y AOCTYMHbI TOMNLKO B
KBaApaTU4eCKon perpeccum.
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Instrukcja Obstugi

B Wiaczanie i wylaczanie
Aby wiaczy kalkulator, nacisnij klawisz [ ON/ac ]. Aby wytaczy
kalkulator, naci$nij kolejno klawisze [ OFF ].
B Wymiana baterii
Kalkulator zasilany jest dwiema bateriami alkalicznymi typu G13
(LR44).
Jesli tekst na wyswietlaczu jest stabo widoczny, to nalezy
bezzwtocznie wymieni¢ baterie. Uwazaj, by podczas wymiany baterii
nie zrobi¢ sobie krzywdy.
1. Wykreci¢ $rubki z tytu kalkulatora.
2. Wstawi¢ ptaski srubokret w szpare pomiedzy dolng a
gorng czescig pokrywy i delikatnie przekreci¢ go, aby zdja¢
pokrywe.
3. Wyjac¢ i wyrzuci¢ obie baterii. Nigdy nie nalezy pozwala¢
dzieciom bawi¢ sie bateriami.
4. Przetrze¢ nowe baterie suchg szmatg aby zapewni¢ dobry
kontakt.
5. Wiozy¢ nowe baterie ptaska strong (plus) do gory.
6. Wyréwnac goérng i dong czesci pokrywy i zamknag ja.
7. Zakreci¢ $rubki.
B Funkcja automatycznego wytaczania
Kalkulator wytacza si¢ automatycznie jesli nie jest uzywany w ciagu
okoto 9~15 minut. Kalkulator moze by¢ reaktywowany nacisnigciem
klawiszu [ ON/AC |; wszyskie wskazania wy$wietlacza i ustawienia
pamigci zachowuja sig.

B Operacja Reset

Jesli kalkulator jest wiaczony, ale wy$wietla btedny wynik, nacisnij
klawisz [ ON/AC |, a nastepnie 4 razy klawisz [MODE], aby wyswietli¢
ponizsze menu. Po przyci$nieciu klawisza [2] na wy$wietlaczu
pojawi si¢ komunikat z prosba potwierdzenia zresetowania
kalkulatora i wyczyszczenia zawartosci pamieci:

1 2 121,
Aby wyczysci¢ wszystkie zmienne, operacje oczekujace na
wykonanie, dane statystyczne, odpowiedzi, wszystkie wprowadzone
dane, catg zawarto$¢ pamieci; nacisnij klawisz [2]. Aby zrezygnowac
z operacji resetowania nacisnij klawisz [1].
Jesli kalkulator zawiesit sie i wykonanie obliczen jest niemozliwe,
nalezy nacisna¢ przycisk RESET w zagtebieniu przy pomocy
cienkiego przedmiotu, aby zlikwidowa¢ btad. Spowoduje to powrdt
do ustawien fabrycznych kalkulatora.

B Dostosowanie kontrastu
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Nacisnigcie klawiszy [« ] lub [+ ], a nastepnie klawisza [MODE]
pozwala zmieni¢ kontrast wyswietlacza na jasniejszy lub
ciemniejszy. Dtuzsze przytrzymywanie wcisnigtego klawisza [« ]
lub [~ ] spowoduje, ze wyswietlacz odpowiednio rozjasni si¢ lub
przyciemni sig.

B Odczyt wyswietlacza

Wyswietlacz ma linie¢ wprowadzania danych, linie wynikéw i linie
wskaznikow:
Linia wskaznikow —

DEG

Linia wskaznikow
linie wprowadzania danych ——~ 74-8/7
72.85714286—

linig wynikow

linie wprowadzania danych
Linia wprowadzania danych kalkulatora pozwala na
wprowadzenie 79 cyfr. Wprowadzanie cyfr zaczyna sie
od lewej strony; liczby zawierajace wigcej niz 11 cyfr
przesuwajg si¢ w lewo. Aby przesuna¢ kursor w lewo
lub w prawo, naci$nij odpowiednio klawisze [« ]lub [ » ].
Po wprowadzeniu 73-ciej cyfry jakiegokolwiek
obliczenia, kursor zamieni sig¢ z “_" na “®”; oznacza
to, ze zabrakto pamieci. Jesli zaistnieje potrzeba
wprowadzenia kolejnych danych, to zadanie nalezy
podzieli¢ na dwie lub wigcej czesci.

linie¢ wynikow
W tej linii ukazuja sie wyniki obliczen o dtugosci do 10
cyfr, ktére moga zawiera¢ przecinek dziesigtny, znak
minus, wskaznik “ x10 ” oraz 2-cyfrowy dodatni lub
ujemny wyktadnik.

lini¢ wskaznikéw
Aktualny tryb pracy kalkulatora sygnalizowany jest
w linii wskaznikéw wys$wietlacza nastepujacymi
wskaznikami:
Wskaik Znaczenie

M Niezalezna pamie¢

- Wynik jest ujiemny

2nd Aktywny drugi zestaw klawiszy
funkcjonalnych

[A] Aktywne sg klawisze literowe ( ~[F],M]
(X]~[Y])

STORCL STO: Aktywny tryb zapisywania zmiennych
RCL: Aktywny tryb przywotania zmiennej
zapisanej w pamigci

SD Aktywny tryb obliczen statystycznych

REG Aktywny tryb obliczen regresji

DEGRAD Tryb wyboru jednostek katéw: DEG -
stopnie, GRAD - grady, RAD - radiany

ENG Wyswietlanie wynikow w trybie inzynierskim
lub naukowym
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SCI Wyswietlanie wynikéw w trybie inzynierskim
lub naukowym

FIX Wyswietlanie wynikéw z ustalong liczbg cyfr
po przecinku

HYP Tryb hiperbolicznych funkcji
trygonometrycznych

BUSY Kalkulator wykonuje obliczenia

€ > Odpowiednio po lewej lub po prawej stronie
sg niewidoczne cyfry wyswietlanego wyniku

A ¥ Odpowiednio powyzej lub ponizej s wyniki,
ktére mozna wyswietli¢ przed dokonaniem
dalszych obliczen

Zanim rozpoczniesz obliczenia

B Wybor Trybu
Wielokrotne naciskanie klawisza [ MODE ] umozliwia wy$wietlanie
réznych menu i wybor z nich funkgji i ich argumentéw. W menu
zawarte s trzy tryby obliczeniowe (COMP, SD, REG), trzy jednostki
miary katéw (DEG, RAD, GRAD), cztery sposoby zapisu liczb (FIX,
SCI, NORM, ENG) oraz funkcja resetowania (RESET).
Warunkiem prawidtowej pracy kalkulatora jest wprowadzanie
odpowiedniej warto$ci argumentu. Rozpatrzymy przyktadowo wybér
trybu “SD” :
1. Naci$nij klawisz [ MODE ] jeden raz, aby wyswietli¢ menu
wyboru trybu obliczen.
2. Nacisnij klawisz [ 2 ], aby wej$¢ do trybu SD obliczen odchylenia

standardowego.
COMP SD REG 2] S0 oS
12 3 ’ 0.

m  Uzywanie klawisza “ 2nd ”

Po nacisnieciu klawisza [ 2nd ] w linii wskaznikéw pojawi sig napis
“2nd”. Oznacza to, ze kalkulator oczekuje na wprowadzenie funkcji.
Jesli nacisnales [ 2nd ] przypadkowo, to powtérne wcisnigcie
klawisza [ 2nd ] przywrdci uzywany poprzednio tryb.

m  Kursor

Nacisnigcie klawiszy [« ] lub [ » ] powoduje przesunigcie kursora
odpowiednio w lewo lub w prawo. Przytrzymanie ktéregos z tych
klawiszy przez diuzszy czas spowoduje szybsze przesuwanie sie
kursora.

Nacisnigcie klawiszy [ 2nd ] [« ] lub [ 2nd ] [ v ] powoduje
przesuwanie sie kursora do gory lub do dét, jesli znajdujg sie tam
jakie$ dane. Poprzednio wprowadzone dane lub wyniki obliczen
mozna edytowac kiedy wyswietlane sg one w linii wprowadzania
danych.

B Dokonywanie korekt wprowadzonych danych

-Po4-



Aby skasowac niepotrzebna cyfre przesun kursor naciskajac
klawisze [« ] lub [ » ] tak aby ta cyfra zostata podkreslona, a
nastepnie nacisnij [ DEL ] aby jg usunag¢.

Aby zastapi¢ jakas cyfre inng, podkres| zadana cyfre, przesuwajac
kursor za pomoca klawiszy [« ] lub [ » ], a nastepnie wprowadz
nowa cyfre.

Aby wstawi¢ dodatkowa cyfre do liczby, ustaw kursor za wybranym
miejscem, wcisnij klawisze [ 2nd ] [ INS ], a nastepnie wciénij klawisz
wprowadzanej cyfry.

(Uwaga) : Migajacy kursor “ £1 ” oznacza ze kalkulator znajduje sie
w trybie wstawiania, za$ migajacy kursor “_” oznacza
ze kalkulator znajduje sie w trybie zastgpowania.

Aby usuna¢ wszystkie cyfry z linii wprowadzania danych uzyj
klawisza [ ON/AC ].

B Funkcja powtarzania operacji

Funkcja ta pozwala przesledzi¢ ostatnio wykonywane operacje.
Nacisnigcie klawiszy [2nd] [« ] lub [2nd] [ ¥ ] po wykonaniu
operacji powoduje wys$wietlenie wszystkich operacji od poczatku
do konca. Za$ przesuwajac kursor za pomoca klawiszy [ » ] lub
[ «]1 mozna dokonywaé dowolnych korekt tej operacji. Aby usung¢
cyfre, nacisnij [ DEL ] (a jesli kalkulator znajduje sig w trybie
zastgpowania, po prostu wpisz potrzebna cyfre). Patrz Przyktad 1.
Pamig¢ kalkulatora przechowuje do 256 cyfr. Po wykonaniu
operacji lub w czasie wprowadzania danych wciskanie klawiszy
[2nd] [« ] lub [2nd] [~ ] pozwala na wys$wietlanie wynikow, danych
i komend i dokonywanie dowolnych ich korekt. Patrz Przyktad 2.
(Uwaga) : Pamie¢ nie jest kasowana przez nacisnigcie klawisza
[ ON/ac ] lub wytaczeniu zasilania kalkulatora; oznacza
to, ze zawarto$¢ pamieci mozna wyswietli¢ nawet po
naciénieciu klawisza [ ON/ac ].
B Funkcja wyszukiwania btedéw
Préba wykonania niedozwolonej operacji powoduje wiaczenie
funkcji wyszukiwania btedéw, a ta pulsujacym kursorem wskaze
miejsce wystepowania btedu. Nacisnij klawisz [ » ] lub [ « ] aby
przesunag¢ kursor, a potem dokonaj korekty. Bledne wyrazenie
mozna wykasowaé naci$nigciem klawisza [ ON/Ac |, a potem
ponownie wprowadzi¢ wartosci i wyrazenia od poczatku. Patrz
Przykiad 3.
B Obliczenia wykorzystujace pamiec¢
Niezalezna pamieg¢
« Naci$nij klawisz [ M+ ] aby doda¢ wynik do pamigci. Nacisnij
klawisz [2nd] [ M- ] aby odja¢ wynik od wartos$ci przechowywane;j

.
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w pamieci . Aby wyswietli¢ liczbe przechowywana w pamigci,
naciénij klawisz [2nd] [RCL] [ [M] ]. Aby wyzerowaé rejestry
aktualnie uzywanej pamiegci, nalezy nacisna¢ kolejno klawisze [ 0 ]
[STO] [[M]]. Patrz Przyktad 4.

(Uwaga) : Oprécz wprowadzania warto$ci za pomoca klawisza
[STO], do rejestru pamieci M mozna wartosci dodawac
za pomoca klawisza [ M+ ] lub odejmowaé za pomoca
klawisza [ M-].

Rejestry pamieci
« Kalkulator posiada dziewie¢ rejestréw pamieci dla przechowywania

zmiennych, ktére moga by¢ uzywane wielokrotnie: A, B, C, D, E, F,

M, X, Y. W kazdym z tych rejestrow mozna przechowywac liczby

rzeczywiste. Patrz Przykfad 5.

*[STO ] +[A]~[F],[M], lub[X]~[Y]pozwala zapisa¢
zmienne do pamigci.
x[2nd ] [RCL]Iub [ALPHA] +[A]~[F], [M], lub [X]~
wywotuje z odpowiedniego rejestru pamieci zapisang
tam liczbe.
«[0][STO1+[A]~[F],[M], lub[X]~[Y]zeruje
zawarto$¢ odpowiedniego rejestru pamiegci.
+[2nd ][ Mcl ] [ =] zeruje wszystkie rejestru pamigci.
B Stosy pamieci
W kalkulatorze tym zastosowano organizacje pamieci zwang,
“stosem”, ktora stuzy do tymczasowego przechowywania wartosci
zmiennych (stos numeryczny) i polecen (stos polecen) w kolejnosci
ich wystepowania w procesie obliczen. W stosie numerycznym
dostepnych jest 10 pozioméw, a w stosie polecen 24 poziomy. Btad
stosow (Stk ERROR) pojawia sie¢ wtedy, kiedy w czasie obliczen
przekroczymy liczbe pozioméw odpowiedniego stosu.

B Kolejnos¢ operacji
Obliczenia dokonywane sg w nastepujacej kolejnosci:

1) Transformacja wspétrzednych i funkcje.

2) Funkcje Typu A, ktére wymgaja wprowadzenia wartosci
argumentu przed wcisnieciem klawisza funkcyjnego, na
przyktad: x 2,099, x!, x .

3) Potegowanie X', y

4) Utamki

5) Skrocone formaty mnozenia wystepujace przed zmienng : .

6) Typu B, ktérych wprowadzenie wymaga nacisniecia
klawiszy funkcyjnych, na przyktad: sin, cos, tan, sin™', cos™,
tan ™', sinh, cosh, tanh, sinh ™', cosh ', tanh 7', log, In, 10 ¥,
e Ly, (-)

7) Skrocone formaty mnozenia wystepujace przed funkcjg Typu
B: 24/ 3, Alog2.
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8) nPr,nCr
9) x,+
10) +, —
« Jesli funkcje posiadaja ten sam priorytet, to sg wykonywane
w porzadku od prawa do lewa.
e In120 - e *{In (120)}
W pozostatych przypadkach komendy sa wykonywane od
lewa do prawa.
« Funkcje ztozone sg wykonywane od prawa do lewa.
» Wszystko co zawarte jest w nawiasach posiada najwyzszy
priorytet.
B Dokladnos¢ i pojemnosé
Diugos¢ wyswietlanego wyniku : Do 10 cyfr.
Dtugos¢ liczb podczas operacji : Do 15 cyfr
W ogdlnosci wynik kazdego obliczenia wyswietlany jest w postaci
10-cyfrowej mantysy lub 10-cyfrowej mantysy oraz 2-cyfrowego
wyktadnika potegi tzn. do 10 *%.
Liczby wprowadzane jako argumenty funkcji musza by¢ zawarte w
przedziale okreslonosci funkcji:

Functions Input range

sin x, tan x Deg : 0=| x | =4.499999999 x 10 "
Rad : 0=| x| =785398163.3

Grad : 0=| x| =4.499999999 x 10 "
jednakze, dla tan x

Deg : | x| #90 (2n-1)

Rad : x| # 7 (2n-1)

Grad ® | x| #100 (2n-1)

(gdzie n jest liczba calkowita)

cos X Deg : 0= | x |=4.500000008 x 10 "
Rad : 0= | x |=785398164.9
Grad : 0=| x | =5.000000009 x 10

sin " x, cos " x

sinh x, cosh x x| =230.2585092

tan " x =| x| =9.999999999 x 10 *

tanh x, tanh "' x 0=| x| £9.999999999 x 10 ~"

sinh " x, cosh ' x  |0=| x| £4.499999999 x 10 *°

log X, In x x>0

10~ —9.999999999 x 10 ¥ = x = 99.99999999
e —9.999999999 x 10 ¥ = x = 230.2585092
Jx 0=x<1x10"
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x |x]<1x10%

x' |x]<1x10 ', x+#0

¥x |x]<1x10'

x! 0=x=69, x jest liczba calkowita.

Pol (x,y) | x|, ]y | =9.999999999 x 10
x % +y2<9.999999999 x 10 *

Rec (1, 0) 0=r =9.999999999 x 10 *
Deg : 0=| x | 4.499999999 x 10 "
Rad : 0=| x| =785398163.3
Grad : 0=| x | £4.499999999 x 10
jednakze, dla tan x
Deg : |0] #90 (2n-1)
Rad 0] # 3 (2n-1)
Grad : | 6| #100 (2n—1) (gdzie n jest liczba
calkowita)

o1 lal,b,c<1x10',0=b,c
|x|<1x10™®

67 ” Konwercja uktadu sze$¢dziesigtkowego do
dziesietnego i odwrotnie
07070"=|x| 999999 " 59

x” x>0:-1x10"<ylogx <100

x=0:y>0

x <0 :y=n, 1/(2n+1), gdzie n jest liczba
calkowita.

ale—1x10 ™< ylog | x| <100

100

Iy

y> 0:x#0,-1x10 < L logy <100
y=0: x>0

y <0 : x=2n+1, I/n, gdzie n jest liczba
calkowita. (n#0)

ale—1x10"™ < log |y | <100

nPr, nCr 0=n=99, r=n, n,r sa liczbami alkowitymi.
SD [ x [<1x10%,] y [<1x10%, | n [<1x10"
(REG) XGn, Yon, X,y ,A, B, r:n#0

XGn-1, Yon-1 : N # 0,1
m Biledy

Komunikat o wystgpieniu btedu pojawia sig¢ na wyswietlaczu, a
dalsze operacje sg zawieszane w przypadkach gdy zaistnieja

nastegpujace warunki:
Ma ERROR

(1) Kiedy wynik obliczen przewyzsza
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dopuszczalny zakres.

(2) Préba dzielenia przez 0.

(3) Kiedy zadeklarowany zakres obliczanych
funkgji przekracza zakres dopuszczalny w tym
kalkulatorze.

Stk ERROR Przekroczono liczbe pozioméw stoséw
numerycznych lub stoséw polecen.
Syn ERROR Préba operacji niedozwolonej matematycznie.

Aby zlikwidowaé wyzej wymienione btedy, nacisnij klawisz [ ON/ac ].

Obliczenia podstawowe

Obliczenia podstawowe w trybie COMP.

B Obliczenia arytmetyczne

« W przypadku liczb ujemnych najpierw nacisnij [ (-) ] a potem

wprowad?z liczbe. Aby wprowadzi¢ liczbe w postaci wyktadniczej,

nalezy wprowadzi¢ mantyse, nacisnac klawisz [ EXP |, a

nastepnie wprowadzi¢ wyktadnik. Patrz Przyktad 6.

Kolejnos¢ naciskanych klawiszy dla wykonania operacji

arytmetycznych jest taka sama jak przy wprowadzaniu wyrazen.

Patrz Przyktad 7.

B Obliczenia z uzyciem nawiaséw

« Wszyskie operacje zawarte w nawiasach wykonywane sg w
pierwszej kolejnosci. W kalkulatorze mozna uzywaé w jednym
obliczeniu do 15 pozioméw nawiaséw wewnetrznych. Patrz
Przyktad 8.

B Obliczenia procentéw

Wynikiem naciskania klawiszy [ 2nd ] [ % ] bedzie dzielenie
wprowadzonej liczby przez 100. Ta kolejno$¢ naciskania klawiszy
moze by¢ uzywana dla obliczen odsetek, dodatkéw, rabatow i
stosunkéw procentowych. Patrz Przyktad 9~10.

B Formaty wyswietlania

Kalkulator ten umozliwia wyswietlanie danych w czterech uktadach
zapisu liczb (notacji).
Zapis Norm :
Moga by¢ wyswietlone co najwyzej 10 cyfrowe liczby. Liczby
dtuzsze automatycznie wyswietlane sg w formie wyktadniczej.
Kalkulator posiada dwa rodzaje formatéw wyktadniczych :
Tryb Norm 1:10 72> |x|,|x|>10"°
TrybNorm2:10°>|x|,|x[>10"

(Uwaga) : We wszystkich przyktadach rozpatrywanych w tej
instrukcji wyniki przedstawione sg w trybie Norm.
Zapis inzynierski : (ENG )
Przy wyswietlaniu wyniku obliczen w zapisie inzynierskim mantysa
ma okreslong ilo$¢ miejsc po przecinku, a wyktadnik jest
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wielokrotnoscig liczby 3.

Zapis o statej liczbie miejsc po przecinku : ( FIX')

Wynik wy$wietlany jest w postaci liczby z zadang ilo$cig miejsc po

przecinku.

Zapis naukowy : ( SCI)

W trybie zapisu naukowego mantysa sktada sie jednego mieksca

przed dziesigtnym przecinkiem i zadanej liczby miejsc po przecinku

oraz wyktadnika potegi o podstawie 10.

« W trybach zapisu FIX, SCI ilo$¢ miejsc po przecinku moze by¢

dowolna liczba z zakresu od 0 do 9. Po zadaniu okreslonej liczby

miejsc po przecinku wyswietlany wynik zostanie zaokraglony do
zadanej liczby cyfr. Jesli liczba miejsc po przecinku lub liczba
znaczacych cyfr nie zostata zadana, obliczenia bedg wykonywane

w trybach Norm 1 lub Norm 2. Patrz Przyktad11.

Weiskajac klawisz [ ENG ] lub kolejno klawisze [ 2nd ] [ Eng ]

mozemy wyswietla¢ wyktadnik jako wielokrotnos¢ liczby 3. Patrz

Przyktad 12.

Niezaleznie od tego Ze liczba miejsc po przecinku jest ustalona,

obliczenia mantysy zawsze prowadzone sg z doktadnoscig do

15 cyfr, a wynik wyswietlany jest z doktadnoscig do 10 cyfr. Aby

wynik zostat zaokraglény do mniejszej liczby cyfr, wcisnij klawisze [

2nd ] [ RND ]. Patrz Przyktad 13.

B Funkcja obliczen ciagtych

« Kalkulator umozliwia powtérzenie ostatnio wykonanej operacji
przez nacisnigcie klawisza [ = ]. Patrz Przyktad 14.

« Nawet jesli obliczenia koncza sie nacisnieciem klawisza [ =],
otrzymany wynik moze by¢ uzyty do dalszych obliczen. Patrz
Przyktad 15.

B Funkcja odpowiedzi

Funkcja odpowiedzi przechowuje ostatnio otrzymany wynik

obliczeh. Wynik jest przechowywany nawet po wytaczeniu

zasilania. Po wprowadzeniu liczby lub wyrazu i naci$nigciu

klawisza [ = ] wynik zawsze przechowywany jest przez funkcje

odpowiedzi. Patrz Przyktad 16.

(Uwaga) : Nawet jesli wynikiem obliczen jest btedny, funkcja
odpowiedzi przechowuje ten wynik.

Zanim rozpoczniesz obliczenia

Uzywanie trybu COMP w obliczeniach naukowych.

B Logarytmy i Antylogarytmy

« Kalkulator umozliwia obliczanie logarytméw naturalnych i
dziesietnych oraz ich antylogarytméw; do tych celéw stuza
klawisze [log ], [In],[2nd ][10*],oraz[2nd ][ e *]. Patrz
Przyktad 17~19.

.

.
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B Dziatania na utamkach
Ulamki wy$wietlane sa w sposo6b nastepujacy :

wyéwietlanajestjako%
56 1 5 112 | wyswietlana jest jako 56%

(Uwaga) : Jesli ilos¢ cyfr we wszystkich czesciach liczby
(czes¢ catkowita + licznik + mianownik + przecinek)
nie przekracza 10, to liczba bedzie automatycznie
wys$wietlana w postaci dziesietnej.
« Wprowadzajac liczbe mieszana, najpierw wprowadz czg$¢
catkowitg, nacisnij [ a b/c ] i wprowadz mianownik. Wprowadzajac
utamek niewtasciwy najpierw wprowadz licznik, naci$nij
[ a b/c]i wprowadz mianownik. Wprowadzajgc utamek niewtasciwy
najpierw wprowadz licznik, nacisnij [ a b/c ] i wprowadz mianownik.
Patrz Przyktad 20.
Nacisniecie klawiszy [ 2nd ] [ d/c ] powoduje przeksztatcenie
wys$wietlanej wartosci w utamek niewtasciwy lub odwrotnie. Aby
przeksztaicic liczbe dziesigtng na utamek nacisnij [ a /c ]. Patrz
Przykiad 21.
Obliczenia zawierajace réwnoczes$nie utamki i liczby dziesigtne
przeprowadzane sg w formacie dziesietnym. Patrz Przykiad 22.
B Konwersja jednostek miar katéw
« Jednostki miar katéw (DEG, RAD, GRAD) wybierane sg
wecisnigciem klawisza [ MODE ], co powoduje wy$wietlanie
menu miar katéw. Trzy uktady jednostek miar katéw zwigzane sg
nastepujacym réwnaniem :
180 ° = rad = 200 grad
Konwersja miar katéw ( Patrz Przyktad 23.) :
1. Zamien biezace ustawienia jednostek miary katéw na
jednostki do ktérych chcesz przeprowadzi¢ konwersje.
2. Wprowadz warto$¢ jednostki ktérg chcesz skonwertowac.
3. Nacisnij klawisz [ DRG— ] aby wywota¢ menu.

(Uwaga) : Values are automatically displayed in decimal forma
whenever the total number of digits of a fractional
values (integer + numerator + denominator + separa
tor marks) exceeds 10.

Do wyboru sa nastgpujace jednostki: D (stopnie),
G(gradiany).
4. Wybierz jednostki z ktorych chcesz przeprowadzié¢
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konwersje.
5. Nacisénij klawisz [ = ].
B Funkcje trygonometryczne i odwrotne
trygonometryczne
« Kalkulator umozliwia obliczenie wartosci standardowych funkgiji
trygonometrycznych i odwrotnych trygonometrycznych : - sin, cos,
tan, sin ', cos ' oraz tan ~'. Patrz Przyktad 24~26.
(Uwaga) : Przy uzywaniu tych klawiszy upewnij sig czy kalkulator
jest ustawiony na wtasciwe jednostki miary katow.

B Funkcje hiperboliczne i odwrotne

hiperboliczne
« Kalkulator umozliwia obliczenie wartosci funkcji hiperbolicznych
i odwrotnych hiperbolicznych : ktéry pozwala oblicza¢ funkcje
hiperboliczne i odwrotne funkcje hiperboliczne - sinh, cosh, tanh,
sinh ™', cosh ™" oraz tanh ™. Stuza do tego klawisze [ 2nd ] [ HYP ].
Patrz Przyktad 27~28.
(Uwaga) : Przy uzywaniu tych klawiszy upewnij sie czy kalkulator
jest ustawiony na wtasciwe jednostki miary katow.
B Konwercja zapisu szesc¢dziesigtkowego do
dziesietnego i na odwrot
Zapis szescdziesigtkowy wyglada nastepujaco :
co oznacza 12 stopni, 59 minut, 45.6 sekund
« Kalkulator umozliwia dokonywanie konwercji zapisu
szes$cédziesiagtkowego do zapisu dziesigtnego i na odwrét. Nalezy
w tym celu wcisnag¢ kolejno klawisze [ 0333 Joraz [ 2nd ] i [ 67” 1.
Patrz Przyktady 29~30.
B  Transformacje wspoétrzednych
Uktad prostokatny Uktad polarny

x+ yi=r(cos 6 +isin O )

« Kalkulator ten umozliwia dokonywanie transformaciji
wspolrzednych uktadu prostokatnego do wspdlrzednych uktadu
biegunowego i na odwrét. W tym celu nalezy wcisna¢ kolejno
klawisze [ ALPHA] [ Pol (]1i [ ALPHA] [ Rec ( ]. Wynik obliczen
zostanie automatycznie zapisany do rejestréw pamieci E i F. Patrz
Przyktady 31~32.

(Uwaga) : Przy uzywaniu tych klawiszy upewnij si¢ czu kalkulator
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jest ustawiony na wtasciwe jednostki miary katow.
B Prawdopodobienstwo

« Kalkulator ten umozliwia dokonywanie obliczen nastepujacych
funkcjiprawdopodobienstwa : ( Patrz Przyktady 33~36.)

[nPr] oblicza ilo$¢ mozliwych permutacji n obiektow
wybieranych po r za kazdym razem.

[nCr] oblicza ilo$¢ mozliwych kombinacji n obiektow
wybieranych po r za kazdym razem.

[x!] oblicza silnie liczby naturalnej x , gdzie x < 69.

[RANDOM] Generuje liczbe losowg w zakresie od 0.000 do 0.999

® Inne funkcje (x™, /7,y 4, X5 x*x))

« Kalkulator ten umozliwia dokonywanie obliczer odwrotnosci liczby
([x ™), pierwiastka kwadratowego z liczby ([ 4 1), pierwiastka
trzeciego stopnia [ 3 ], pierwiastka dowolnego stopnia [ #
], kwadratu liczby ([ x * ]), sze$cianu liczby ([ x °]) oraz fuﬁkcji
wyktadniczej ([ x*]). Patrz Przyktady 37~40.

Obliczanie odchylenia standardowego

Do obliczen odchylenia standardowego stuzy tryb SD.
Przed dokonaniem obliczen odchylenia standardowego nalezy sie
upewni¢, ze rejestry pamigci statystycznej zostaty wyzerowane;
mozna tego dokona¢ wciskajac klawisze [ 2nd ] [ Scl ].

Do wprowadzania pojedyriczych danych stuzy klawisz [ DT | ; aby
wykasowac taka dang nalezy wcisna¢ klawisz [ 2nd ] [ CL ]. Do
wprowadzania danych wystepujacych wielokrotnie stuza klawisze
[2nd ][; ]. Na przyktad, zamiast wprowadzac¢ liczbe 15 siedem
razy mozna wprowadzi¢ liczbe 15 i wcisna¢ klawisze [2nd ][ ;17
[DT].

Wartosci wielkosci statystycznych zalezg od rodzaju
wprowadzonych danych. Wielkosci te mozna wyswietli¢ wciskajac
odpowiednie klawisze, tak jak jest to opisane w ponizszej tabeli.
Patrz Przyktad 41.

.

.

Yx2 [RCL1+[ [A]] X [2nd]+[X]
X [RCLI+[[B]] XGn [2nd]+[XOn]
n [RCLI+[[C]] XOn-t [2nd]+[XCn-1]

Obliczenia regresiji

obliczen regresji uzywa sie trybu REG.

Aby wyswietli¢ menu trybu REG nalezy wcisna¢ klawisze [ MODE ]
i 3, a nastepnie wybrac¢ jeden z szesciu mozliwych rodzajoéw regresji
wprowadzajac odpowiedni argument wedtug ponizszej tabeli:
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« Przed rozpoczeciem obliczen statystycznych nalezy sie upewnic,
Ze rejestry pamieci statystycznej zostaty wyzerowane; mozna tego

Lin Log Exp” —_—
1 3 [«]

Lin Regresja liniowa
Log Regresja logarytmiczna
Exp Regresja wyktadnicza
Pwr Regresja potegowa
Inv Regresja odwrotna
Quad Regresja kwadratowa

€Pwr Inv Quad
1 2 3

y=A+Bx
y=A+BInx
y=A-eE‘
y=A+x?
y=A+f
y=A+Bx+Cx?

dokona¢ wciskajac klawisze [ 2nd ] [ Scl ].

Do wprowadzania pojedynczych danych stuzy klawisz [ DT ] ; aby
wykasowac taka dang nalezy wcisna¢ klawisz [ 2nd ] [ CL ]. Do
wprowadzania danych wystepujacych wielokrotnie stuzg klawisze
[2nd ][; ]. Na przyktad, aby wprowadzi¢ liczby 40 i 55 po 10 razy
nalezy nacisna¢ kolejno klawisze 40 [-]155[2nd][;]10[DT].

Wartosci wielkosci statystycznych zalezg od rodzaju

wprowadzonych danych. Wielkosci te mozna wyswietli¢ wciskajac
odpowiednie klawisze, tak jak jest to opisane w ponizszej tabeli .
Dla przewidywania wartosci x (lub y) przy zadanych wartosciach

y (lub x), wprowadz odpowiednio wartosci x (lub y) i naci$nij
klawisze [2nd ] [y ] (lub [2nd ] [ X ] ), @ nastepnie klawisz [ = ].
Patrz Przyktady 42~43.

Ix? | [RCL]+[[A]] XOn | [2nd]+[XGn]

Ex | [RCLI+[[B]] | XOnt1 | [2nd]+[XGn1]
n | [RCL]+[[C]] y [2nd]+[y]

Ty? | [RCLI+[[D]] yon | [2nd]+[yon]

Xy | [RCLI+I[E]l | yOn1 | [2nd]+[yGn1]
Lxy | [RCL]+[[F]] A [2nd]+[A]
Ex® | [RCL]+[[M]] B [2nd]+[B]
Yx?% | [RCL]+[[X]] c [2nd]+[C]
ox* [RCL]+[] r [2nd]+[r]
X [2nd]+[X] X [2nd]+[X]
y [2nd]+[}]

(Uwaga) : Zmienne =x *, £x %y dostépne s' tylko dla regresji
kwadratowe;j.
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Example / Ejemplo / Exemplo / Beispiele / Exemple /
Esempio / Voorbeeld / Eksempel / Mpumep / Przyktad

B Change 123 x 456 as 12 x 457
B Cambiar 123 x 456 como 12 x 457
B Mude 123 x 456 como 12 x 457
m Anderen Sie 123 x 456 wie 12 x 457
B Changez 123 x 456 pour 12 x 457
B Modificare 123 x 456 in 12 x 457
B Verander 123 x 456 naar 12 x 457
W Skift 123 x 456 til 12 x 457
B 3amvenute 123 x456 Ha 12 x 457
B Zamien 123 x 456 na 12 x 457
123 [x]456 [ =] bEG
123 * 456 *
6088.
[»1[»]1[»][DEL] PG
12 * 456 *
56088.
101017 PEe
12 % 457 _ *
56088.
=1 DEG
12+457 *
5484.

After executing 1+ 2, 3 + 4, 5 + 6, use replay function to recall

Después de ejecutar 1+ 2, 3 + 4, 5 + 6, use la funcion replay para

revocar

B Depois de executar 1+ 2, 3 + 4, 5 + 6, use fungao replay para
rechamar

B Nach der Eingabe von 1+ 2, 3 + 4, 5 + 6, benutzen Sie die Replay-
Funktion zum Wiederholen

B Aprés avoir exécuté 1+ 2, 3 + 4, 5 + 6, utilisez la fonction de
répétition pour rappeler

B Dopo avere eseguitol + 2, 3 + 4, 5 + 6 usa funzione ripetuta (replay)
perrichiamare / Na het uitvoeren van 1+ 2, 3 + 4, 5 + 6, gebruikt u de

B Na het uitvoeren van 1+ 2, 3 + 4, 5 + 6, gebruikt u de herhaalfunctie
om op te vragen

B Nar du har udfert 1+ 2, 3 + 4, 5 + 6, kan du bruge
gentagelsesfunktionen til at hente

B [locne BbinonHenns 1+ 2, 3 + 4, 5 + 6, NoBTOpHO 3anycTute
YHKLMIO BbIMOMHEHMS!

B Po wykonaniu 1+ 2, 3 + 4, 5 + 6, zastosuj funkcje replay aby

wywotaé z pamigci

-ex1-



1[+]12[=]13[+]4[=]5[+]6[=] oEe
5+6 *
11,

[2nd][«] oFe
5+6 *
11.

Zd - DEG
[2nd] (] s .
1.Y

ond 11~ bEG
[2nd ][] o2 .
11,

14-0 x 2.3 mistakenly input instead of 14 + 10 x 2.3

140 x 2.3 equivocadamente digitado en lugar de 14 + 10 x 2.3

14 +0 x 2.3 eradamente digitada em vez de 14 +10x 2.3

140 x 2.3 irrtimlicherweise an Stelle von 14+10 x 2.3 eingegeben
Entrée erronée de14+0 x 2.3 au lieude 14 + 10x 2.3

14 + 10 x 2.3 sbagliatamente entrato invece di 14 + 0 x 2.3

In plaats van 14+10 x 2.3, voerde u 14+0 x 2.3 in

14 + 0 x 2.3 indtastet ved en fejl i stedet for 14 +10 x 2.3

14+0 x 2.3 owmnBoyHO BBEAEHO BMeCTO 14 + 10 x 2.3

140 x 2.3 omytkowo wprowadzono zamiast 14 ~ 10 x 2.3

14[+]0[x]23[=]

DEG

Ma ERROR

After 5 Sec / Después de 5 Seg/Depois de 5 DEG

Seg / Nach 5 Sek / Aprés 5 secondes 14/0%23 *

/ Dopo 5 Sec / Na 5 seconden / Efter 5 sek /

Yepes 5 cek / Po 5 Sek

[«][2nd][INS]1[=] DEG

14/10% 2.3 *
3.22

Example 4

[(3x5)+(56+7)—(74-8x7)]=5
3[x]5[STO][[M]]

M= *
M 15.
56 []7 [M+] oee
56/7 *
8.
[2nd][RCL][[M]] oEe R
M=
M 23,
74[-18[x]17[2nd][M-] pee
74-8x%7 *
M 18.
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[2nd ][RCL][

o[sTO][[M]] oee

Put the value 30 into variable A

Ponga el valor 30 en la variable A

Ponha o valor 30 na variavel A

Setzen Sie den Wert 30 fiir die Variable A
Placez la valeur 30 dans la variable A
Metti il valore 30 nella variabile A

Sla de waarde 30 in de variabele A op
Placer veerdien 30 i variabel A

Momectute 3HaveHue 30 B nepemeHHyo A
Wartobr 30 zapisz do rejestru pamigci A

@ 30[STO][[A]]
A= *

W Multiple 5 to variable A, then put the result into variable B

B Multiplicar 5 a la variable A, entonces ponga el resultado en variable B

B Multiplique 5 para variavel A, depois ponha o resultado na variavel B

B Multiplizieren Sie 5 mit der Variablen Aund setzen Sie dieses Ergebnis fir
die Variablen B

W Multipliez 5 par la variable A, puis placez le résultat dans la variable B

W Moltiplicare 5 a variabile A, poi metti il risultato nella variabile B

W Vermenigvuldig 5 met de variabele A, en sla het resultaat vervolgens in de
variabele B op

W Gang 5 med variabel A, og placer resultatet i variabel B

B YMHOXbTe 5 HanepeMeHHY0 A, Nocne 3Toro noMecTuTe pesynstaT 8
nepemeHHyio B

W Zawartq rejestru pamieciApomnoéz rpzez 5, a wynik zapisz do rejestru

pamieci

@ 5[x][ALPHAI[[A]][=]

[STO][[B]]

Check the value of variable A

Revoca el valor de variable A

Revoca o valor da variavel A

Ruftden Wert der Variabeln ab A

Rappelle les valeur de la variable A

Verificare il valore della variabile A

Controleer de waarde van variabele A

Kontroller veerdien for variable A

BbI3bIBAET BEMUUMHBI TEPEMEHHBIX A

Wywotuje z odpowiedniego rejestru pamigci zapisanag tam liczbe A
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® [2nd][RCLI[[A]] e

A= *
30.

@ m To clear the contents of all variables

B ara cancelar los contenidos de todas las variables

B Para apagar os conteudos de todas as variavel B

B Ldschen Sie den Inhalt aller Variablen

B Pour clarifier le contenu de toutes les variables

B Per sgombrare i contenuti di tutte le variabili

B Wis de inhoud van alle variabelen

B For at rydde indholdet i alle variabler

W [Ins TOro, YTo6bl O4UCTUTL COAEPKAHNE BCEX NEPEMEHHBIX

B Aby wyzerowar wszystkie rejestry pamieci
@ [2nd][Mcl][=] ose

>

Mcl

‘

Example 6
(2+3)x10°2 =0.05
[(12[+]130)1Ix]I1[EXP][(5)]2[=]

Example 7
2+3x(5+4)=29
2[+]13[x][(15[+]14[=]

2+3x%(5+4 *

N
©

Example 8
2x{7+6x(5+4)} =122
2[xI[(170+16[x]1[(15[+]14[=]

DEG

257+ 6x+4 "
122.

Example 9
120 x 30 % =36
120[x]30[2nd ][ %]

120 * 30 4

w
>

Example 10
88 +55% = 160

88[+]155[2nd ][ %] oec
88155 *
160.
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6 +7 = 0.857142857

61:17(=1

DEG
*

17
0.857142857

[ MODE ] [ MODE ] [ MODE ] 1

FIX 0~97
2 DEG FIX
6/7 *
0.86
[ MODE ] [ MODE ] [ MODE ] 2
SCl 0~97?
4 DEG sci
617 4
8.571 10 "
[ MODE ] [ MODE ] [ MODE ] [ MODE |
ENG RESET
1 2
1 DEG ENG
6/7 *

857.1428571 4,

150 m = 150000 cm= 0.15 km

150 [=][ENG] [ENG]

DEG

150 *
150000 ,,

[2nd]1[ EnG 1120d [ Eng ]

DEG

150 *
0.15 x40 ®

RND (1+6)x6 = 1.002

11461=]

DEG
1/6 *
0.166666666

[ MODE ] [ MODE ] [ MODE ] 1

FIX 0~97
3 e T
6/7 *
0.167
[2nd ] [RND] oEc  FX
6/7 *
0.167
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[x160=] DEG P

Example 14

3x3x3x3 =81

3[x]3[=] ore
3%3 *
9.
[x]3[=] oee
Ans * 3 *
27.
(=] DEG
Ans * 3 *
81.

To calculate 6 after 3 x 4 = 12

Para calcular +6 después de 3 x4 =12
Para calcular +6 depois de 3 x4 =12
Berechnen Sie + 6 nach 3 x4 =12
Pour calculer + 6 aprés 3 x4 =12

Per calcolare + 6 dopo 3 x 4 = 12

Voer + 6 uit, na de bewerking 3 x 4 = 12
For at beregne + 6 efter 3x 4 = 12
Y106kl BLIMMCTINTL 6 Nocne 3 x 4 = 12
Aby obilczyr + 6 po 3 x4 =12

3[x]4[=] o=

[+161=]

2.
Example 16

123 + 456 = 579 > 789 - 579 = 210

123[+]456 [=] oec
123 + 456 *

789[-][Ans][=] 789 A PEG
—Ans

Example 17

In7 +1og100 =3.945910149

[IN]7[+][log]100[=] bEe >
In7 +1og100 *
3.945910149

>
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Example 18
102=100
[2nd][10°]2[=]
102 "~
100

Example 19
e ~°=0.006737947

[2nd][e”][(-)15[=]

DEG

e-5 *
6.737946999 ,

Example 20

N‘

5

72414222
3

7

8
21

7[a’]2
[a®]171]

[a®]13[+]14[a",]5
=]

DEG

723+1457 *
228 21

v

4la’]2[a"%]4[=]

4.2 4 *
4.1 2
[at'/] DEG
¢ 42 4 *
4.5
[2nd] [“]
4.2 4 *
9 2
[2nd] [“]
4.2 4 *
41 2

Bg+3.75 =12.55

8[a”, 14[a" 15[+13.75[=]

DEG

84 5+375 *
12.55

2 mrad. =360 deg.
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[ MODE ] [ MODE |

DEG RAD GRAD

0.
2[2nd][n] PES
2n *
0.
[2nd ] [DRG »]
R G
1 2 3
2 [ = ] DEG
2nr *
360.
Example 24
sin30 Deg. = 0.5
[ MODE ] [ MODE ]
DEG RAD GRAD
1 2 3
1[sin]30[=] DEG
sin 30 *
0.5

2
cos ( 3 rad)=0.5
[ MODE ] [ MODE ]
DEG RAD GRAD
1 2 3
2[cos][(]2[2nd][n][+]3[=] e
cos(2n/ 3 *
-05
Example 26
sin 0.5= 30 Deg.
[ MODE ] [ MODE |

DEG RAD GRAD
1 2 3

1[2nd][sin"]0.5[=]

DEG
sin™' 0.5 *
30.

Example 27



cosh1.5 +2 =4.352409615

[2nd ] [HYP][cos]15[+]2[=]

DEG

cosh 1.5 +2 *

4.352409615

Example 28
sinh ' 7= 2.644120761

[2nd ] [HYP][2nd][sin"]7[=]

DEG

sinh ™ 7 *

2.644120761

Example 29
12,755 = 12745718 "7

12.755[=1[2nd ][ 373 ]

DEG

12.755 *

127945°18°

Example 30

29457105 =2.752916667

2[0]45[ 0 ]105[ 09 ][=]

DEG

2°45°105° *

29451057

[O0]

DEG

2°45°105° *

2.752916667

If x =5,y =30, whatarer,6 ? Ans : r =
Six=5y=230,loqueesr,&?Resp:
Se x=5,y=30,0 que sdo r, & ? Resp:

6=80.53767779 °

en 0=80.53767779°

Ecnmn x=

=30,4emy paeHbl ,?0TB:r =

6=80.53767779 °

30.41381265 ¢ = 80.53767779°
0.41381265 ¢/ =80.53767779°
P! 0.41381265 6/ =80.53767779°
Falls x=5,y=30, was sind r, & ? Antw:r=30.41381265 ¢ =80.53767779°
Si x = 5,y=30,cobien vaut r, & ? Rép:r =30.41381265 & = 80.53767779°
Sex=5ey=230,Chesonor,?Risp :r=230.41381265

Indien x= 5 en y=30, hoeveel is dan r en & ? Antwoord :r=30.41381265

Hvis x=5,y=30,hvad er sa r, 0 ? Svar:r=30.41381265 6 =80.53767779°

0.41381265 0 = 80.53767779°

Jewlix =5,y =30, to jakie sg wartobcir, 67 Odp : r = 30.41381265

[ALPHA][Pol (15[ #130[=]

Pol (5, 30

DEG
L

30.41381265

[2nd][RCL][ [F]]

DEG
Ll

80.53767779

W Ifr=2560=56° whatare x,y ?Ans : x =13.97982259
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y =20.72593931

y =20.72593931

y = 20.72593931

Sir=25,0=56° loqueesx,y?Resp:x=13.97982259

Ser=25,0=56°0 que sdo X,y ? Resp : x =13.97982259

W Fallsr=25, 6 =56° was sind x, y ? Antw : x =13.97982259

y =20.72593931

y =20.72593931

Sir=25, 6 =56° cobienvautx,y? Rép: x =13.97982259

B Ser=25e6 =56° Che sono xey ? Risp : x =13.97982259

y=20.72593931

® [ndienr=25en 6 =56° Hoeveel is dan x en y ? Antwoord :

x =13.97982259 en'y =20.72593931

W Hvisr=25, 6 =56° hvad ersé x,y ? Svar : x = 13.97982259

y =20.72593931

B Ecrmr=25, 0 =56° 4emy paBHbl X, y ? OTB :x = 13.97982259

y=20.72593931

® Jevlir=25, 6 =56° to jakie sg wartobcix,y ? Odp :
x =13.97982259 y = 20.72593931

[ALPHA][Rec (]125[ 3 156[=]

DEG

Rec ( 25, 56 *
13.97982259

[2nd][RCLI[ [F] ]

DEG
*

20.72593931

7!

e

7[2nd][nPr]4[=]

7IP4

840.

Example 34
1

a7 >

7[2nd][nCr]4[=]

71C4

35.

51=120

S5[2nd][x!][=]

5!

120.

Example 36

Generates a random number between 0.000 ~ 0.999

-ex10-

Generar un nUmero aleatorio entre 0.000 ~ 0.999
Gera um numero randomico entre 0.000 ~ 0.999
Erzeugt eine zufalligen Zahl zwischen 0.000 ~0.999



Produisez un chiffre au hasard entre 0.000 ~0.999

Genera un numero casuale tra 0.000 ed 0.999

Genereert een willekeurig getal tussen 0.000 en 0.999
Genererer et tilfeeldigt tal mellem 0.000 og 0.999
CreHepupyiite cnyyaiiHoe Yncno mexay 0.000 ~ 0.999
Generuje losowa liczbe catkowita zawarta miedzy 0.000 ~ 0.999

[2nd ] [RANDOM ][ =] bEG
Ran # *
0.388

Example 37

1

——=08
1.25

1.25[x " "[=] oee
1257 *

o
@

Example 38

5%422+/4+21+3/125 =139
5[2nd][x°1[+]2[x*1[+][4 ] oee >
[(140+121[)][+]1[2nd ][y ]1125[=] 5427+ (4+21"
139.
Example 39
{625-5
4[2nd][{ ]1625[=] pee
44 625 *
Example 40
74 =2401
7[X'14[=]
7><Y ~
2401

Example 41

Enterdata: X ;=3,X, =2,X;=5,X,=9, then find out Yx°= 119,
2x=19,n=4,x=4.75, x 680951324, Xon1= 3.095695937

Entre datos : X,=3,X, ,X,=5,X,=9, entonces encuentra
Yx*=119, ¥x=19, n=4,x = 4.75 Xon= 2.680951324,X011=3.095695937
Entre dados : X, =3,X, =2,X,;=5,X,=9, depois encontre >x°
=119, ¥x=19, n =4, x = 4.75, xon= 2.680951324, Xon1= 3.095695937
Geben Sieein: X, =3,X, =2,X3=5,X,=9, Sie sehen dann >x*= 119,
2x=19,n=4,x=4.75, xon= 2.680951324, Xon1= 3.095695937

Entrez les données : X 1=3,X2 =2,X3=5,X4 =9, puis trouvez x’=
119, ¥x=19, n = 4, x = 4.75, xon= 2.680951324, Xon1= 3.095695937
Entrare dato : X 1=3,X2 =2,X3=5,X4 =9, poi trova >x°= 119, Ix=
19, n =4, x =4.75, xon= 2.680951324, Xon1= 3.095695937

Voer de gegevens: X 1=3,X2 =2,X3=5,X4=9, en vind de oplossing
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¥x*= 119, ¥x= 19, n = 4, x = 4.75, xon= 2.680951324, Xon1= 3.095695937
Indtast data: X 1=3,X2 =2,X3=5,X4 =9, find sa Ix’= 119, ¥x= 19,
n=4,x=4.75, xon= 2.680951324, Xon1= 3.095695937

Beegute gaHHble 1 X ; =3, X, =2, X3=5,X,=9, nocne atoro
BbluMCTuTe YX°= 119, Yx= 19, n = 4, X = 4.75, x0+= 2.680951324, Xon1=
3.095695937

Woprowadz dane : X, =3, X, =2,X;=5,X,=9, aw wyniku otrzymasz
Ix*= 119, ¥x= 19, n = 4, x = 4.75, x0n= 2.680951324, Xon-1

=3.095695937

[MODE]2[2nd][Scl]1[=] S0 DEG
Scl *
0.
3[DT]2[DT]5[DT]9[DT] S0 0EG
[2nd ] [RCLI[[A]] SR = » »
SD DEG
[2nd][RCL][[B]] _ .
19.
[2nd ] [RCLI[[C]] n= D DEG )
4.
[2nd ][]l =] D DEG
" *
4.75
[2nd][xc,][= ] SD DEG
XG, *
2.680951324
[2nd ] [xc,][= ] SO DEG
XOp-1 *
3.095695937

Example 42

Find A, B, and r for the following data using linear refression and
estimate x ' =? fory =573 and y’ = ? for x = 19.

Encuentra A, B, y r para el siguiente dato usando refraccion lineal y
calcula x’ =? paray =573y y' = ? parax = 19.

Encontre A, B, e r para o seguinte dado usando reflagéo linear e
calcule x ' =? paray =573 e y' = ? para x = 19.

Finden Sie A, B und r fiir die folgende lineare Regression und
kalkulieren Sie x '=? fir y =573 und y'= ? fir x = 19.

Cherchez A, B, et r pour les informations en utilisant la régression
linéaire et estimez x’=? poury =573 ety = ? pour x = 19.

Trovare A, B e r per il seguente dato usando regrssione lineare ed
stimare x'=? pery =573 e y'=? per x=19.

Zoek A, B, en r voor de volgende gegevens aan de hand van de
lineaire regressie en voor spel x'=? voor y=573 en y'=? voor

x=19.

Find A, B, og r for de folgende data ved hjalp af lineaire regressie, en
voorspei X' =? voor y =573 en y' =? voor x=19.

Hangute A, B v r ans cnegyiowmx UCXOAHbIX AaHHbLIX UCMOMNb3ys
TNIVHENHYI0 perpeccuio 1 oueHnBaemoe X'=? ana y=573 n y'=? ans
x=19.

Znajdz A, B i r za pomoca regres;ji liniowej dla nastepujacych danych
iwyznacz x’'=?dlay =573 orazy =?dlax=19.
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n 1 2 3 4

x| 15 17 21 28
y | 451 475 525 678

[MODE 3 >
Lin Log Exp
1 2 3
1[2nd][Scl][=] REG DEG
Scl *
0.
15[9]1451[DT]117[*]475[DT] REG DEG
21[2]525[DT]28[2]678[DT] A *
[2nd][A][=] 176.1063291
[2nd][B][=] e
° 17.58734177
[2nd][r](=]
r *
0.989845164
573[2nd ][ % | REG DEG

X »

22.56700734

REG DEG

19[2nd][y] - ’
510.2658228

Example 43

Find A, B, and C for the following data using quadratic refression
and estimate y’ = ? for x = 58 and x ' =? for y =143

Encuentra A, B, y C para el siguiente dato usando refraccion
quadrética y calculay’ = ? parax =58 y x ' =? paray =143

Encontre A, B, e C para o seguinte dado usando reflagdo quadratica
ecalculey’'=? parax =58 ex’=? paray =143

Finden Sie A, B und C fiir die folgenden Daten unter Verwendung
einer quadratischen Regression und kalkulieren Sie y’ = ? fiir x = 58,
x'=? fiiry =143

Cherchez A, B et C pour les informations en utilisant la régression
quadratique et estimez y’ = ? pour x = 58 et x ' =? poury =143
Trovare A, B e,C r per il seguente dato usando regrssione quad rato
ed stimare x'=? pery =573 e y'=? per x=19.

Zoek A, B, en C voor de volgende gegevens aan de hand van de
kwadratische regressie en voor spel y'=? voor x=58 and x'=? voor
y=143

Find A, B, C og r for de folgende data ved hjalp af quadratic
regression, og estimer x' =? for y' =573 og y =?for x=19.

Haiigute A, B v C ans cneayowmx UCXOAHbIX AaHHBIX UCMOMNb3yst
KBafpaTU4HYyIO PErpeccuio 1 oLeHnBaemoe y'=? anst x=58 n x'=?
ans y=143.

ZnajdzA,BiCza pomoca regresji kwadratowej dla nastepujacych
danych i wyznacz y'=?dla x =58 oraz x '=? dla y =143v.
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ni| 1 2 3

x | 57 61 67
y | 101 117 155

[MODE]3[»]

Pwr  Inv  Quad

1 2 3
3[2nd][Scl][=] REG DEG
Scl *
0.
57[ % 1101 [DT]61[ » ] 117 [DT] REG DEG
67[ » 1155[DT][2nd][A][=] A *
" 684.3
[2nd][B][=] e
B
M 2353333333
[2nd][C][=] e
c
" 0.233333333
58[2nd][§/ 1 . REG DEG
y *
" 104.3
143[2nd][ x ] REG DEG
65.36790453
[2nd][ x ] REG DEG
»

M 35.48923833
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C-Type (Scientific) 135x75m

If you want to dispose this product, do not mix with general household
waste. There is a separate collection systems for used electronics products
in accordance with legislation under the WEEE Directive (Directive
2002/96/EC) and is effective only within European Union.

Wenn Sie dieses Produkt entsorgen wollen, dann tun Sie dies bitte nicht
zusammen mit dem Haushaltsmiill. Es gibt im Rahmen der WEEE-
Direktive innerhalb der Europaischen Union (Direktive 2002/96/EC)
gesetzliche Bestimmungen fiir separate Sammelsysteme fiir gebrauchte
elektronische Gerate und Produkte.

Si vous souhaitez vous débarrasser de cet appareil, ne le mettez pas a la
poubelle avec vos ordures ménagéres. |l existe un systéeme de
récupération distinct pour les vieux appareils électroniques conformé-
ment a la législation WEEE sur le recyclage des déchets des
équipements électriques et électroniques (Directive 2002/96/EC) qui est
uniquement valable dans les pays de I'Union européenne.

Les appareils et les machines électriques et électroniques contiennent
souvent des matiéres dangereuses pour 'homme et I'environnement si vous
les utilisez et vous vous en débarrassez de fagon inappropriée.

Si desea deshacerse de este producto, no lo mezcle con residuos
domésticos de caracter general. Existe un sistema de recogida selectiva
de aparatos electronicos usados, segun establece la legislacion prevista
por la Directiva 2002/96/CE sobre residuos de aparatos eléctricos y
electronicos (RAEE), vigente inicamente en la Union Europea.

Se desiderate gettare via questo prodotto, non mescolatelo ai rifiuti
generici di casa. Esiste un sistema di raccolta separato per i prodotti
elettronici usati in conformita alla legislazione RAEE (Direttiva
2002/96/CE), valida solo all'interno dell'Unione Europea.

@ Deponeer dit product niet bij het gewone huishoudelijk afval wanneer u het

wilt verwijderen. Erbestaat ingevolge de WEEE-richtlijn (Richtlijn
2002/ 96/EG) een speciaal wettelijk voorgeschreven verzamelsysteem
voor gebruikte elektronische producten, welk alleen geldt binnen de
Europese Unie.

Hvis du vil skille dig af med dette produkt, ma du ikke smide det ud sammen
med dit almindelige husholdningsaffald. Der findes et separat indsamlingssys-
tem for udtiente elektroniske produkter i overensstemmelse med
lovgivningen under WEEE-direktivet (direktiv 2002/96/EC), som kun er
geeldende i den Europaeiske Union.

Se quiser deitar fora este produto, ndo o misture com o lixo comum. De acordo
com a legislagéo que decorre da Directiva REEE — Residuos de Equipamen-
tos Eléctricos e Electronicos (2002/96/CE), existe um sistema de recolha
separado para os equipamentos electrénicos fora de uso, em vigor apenas
na Unido Europeia.

Jezeli zamierzasz pozby¢ sig tego produktu, nie wyrzucaj go
razem ze zwyklymi domowymi odpadkami. Wedtug
dyrektywy WEEE (Dyrektywa 2002/96/EC) obowig
zujacej w Unii Europejskiej dla uzywanych produktow
elektronicznych nalezy stosowa¢ oddzielne sposoby
utylizaciji.
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Information for Users on Collection and Disposal of used Batteries.

The symbol in this information sheet means that used batteries
should not be mixed with general household waste.

For proper treatment, recovery and recycling of used batteries,
please take them to applicable collection points.

For more information about collection and recycling of batteries,
please contact your local municipality,your waste disposal service
or the point of sale where you purchased the items.

Information on Disposal in other Countries outside the European Union.

This symbol is only valid in the European Union.
If you wish to discard used batteries, please contact your local authorities
or dealer and ask for the correct method of disposal.

vision : 2008/10/21 SIZE140X74 mm






